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Instructions:-

(i)  Attempt all the questions.
(i)  Read the questions carefully and do accordingly.

(iii) Marks allotted to each question are indicated against it.

UNIT - |

Q.1 Read the extract carefully and answer the questions given below it:
At the end of ten years they had paid everything, everything with the rates of usury and the
accumulations of the compound interest. Madame Loisel looked old now. She had become
the woman of impoverished households — strong and hard and rough. With frowsy hair,
skirts askew and red hands. She talked loud while washing the floor with great swishes of
water. But sometimes, when her husband was at the office, she sat down near the window
and thought of that gay evening of long ago, of that ball where she had looked so beautiful

and been so much admired.
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Q.2

[002]

Questions:

(4)

Read the following extract carefully and answer the questions given below it:

What did she do when her husband was at the office?

Find the word similar in meaning to ‘Praised’.

The troublesome life for the couple lasted for ........................ years.
(@) Ten

(b) Five

(c) Twelve

Find the word opposite in meaning to ‘young’

But not because of its magnificence

Dear is the casuarinas to my soul,

beneath it we have played, though years may roll,

O sweet companions, loved with love intense.

For your sakes, shall the tree be ever dear,

Blent with your images, it shall arise.

In memory, till the hot tears blind mine eyes !

Who does ‘its’ refer to?

Find a word similar in meaning to ‘Friends’.

Why is the casuarina dear to the poetess?

] till the hot tears blind mine eyes! (fill in the blank with

corret word from above lines)
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Q.3 Answer any six of the following questions in about 30 words each. (6x2=12)

(@) How did Madame Forestier react when Mathilde returned the necklace?
(b)  What are the similarities between Alice, the mother and Alice, the daughter?
(c) What threat do rising sea level pose to human population?
(d)  Why was skvortsov angry with the beggar?
(e) How do people who pick things belonging to others satisfy their conscience?
(f)  What does Albert mean by civilised human beings?
() What was Netaji’'s proposal during the annual session of the Indian National
congress?
Q.4 Answer any two of the following questions in about 75 — 100 words. (2x4=8)
(@) What does the author mean by patriotism?
(b)  Explain the symbol ‘Horn of plenty’?
() How can Autumn be seen as a harvester?

UNIT - 1I
Q.5 Do as directed: (any five) (5x1=5)
(i)  The man asked me, “Do you know the railway station”, (Change the narration)
(i)  Heis my friend. He is wearing a yellow shirt. (combine the sentence using a clause)
(i) ThecatJumped .........cccevininnennn. the well. (Insert suitable preposition)
(iv) ltissure. It .....ccoooeiiiiiinnnnnn. rain tonight. (could, should, might)
(v)  The door was closed. | found this. (combine the sentences into one without changing
its meaning)

(vi)  The teacher said to students, “Do your work”. (Change the voice)
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Q.6

Q.7

Q.8

[002]

Do as directed: (5)
(a) Wool (vc, cv, cve)
(b) How many syllable are there in the word ‘Bulk’.

(@) One syllable
(b) Two syllable
(c) Three syllable
(c)  Write down the one five syllable word.

(d) Thestoryhasno ........cccoveiiiiiiiiinannn. (moral/ morale)
(e) Lead - (add suitable prefix to make opposite)

UNIT — Il (Fiction)

Answer any one of the following questions in about 120 — 150 words. (5)
How did Mani and Rajam instead of Fighting, become friends?
OR
What incidents did Swaminathan narrate to his grand mother? Why was she not interested
in them that day?
Answer any five of the following questions in 30 words. (5%x2=10)
(a) How did swaminathan solve the question paper?
(b)  What did Head master ask the students to do during the vacation?
() What changes did swaminathan find in his friends behaviour before the
examination?
(d)  What impressive things did Rajam tell them about friendship?
(e) Describe swaminathan’s state of mind when sankar, somu and others stopped
talking to him?
()  How did swaminathan react when mani told him about his intention?
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Q.9

UNIT — IV (Drama)

Answer any one of the following in 120 words. (5)
The play is an attack on the hypocrisy of the British higher class”. Discuss.

OR

“Drinking affects the high and the low alike,” illustrate the proposition on the basis of your

study of the play.

Q.10 Attempt any five of the following questions. (5x2=10)

Q.11

[002]

(@) What makes the Unknown Lady meet young Jack so early in the morning?
(b) Describe in your words the room in which the Jones lived?
() How does the case against Jones proceed in the court of law?
(d) Give an account of the way “The silver box” was recovered from the residence of
Jones.
(e)  Write in your own words the proceeding of the case of the two little girls in the court?
(f)  What does Jones want to do with the money he has got?
UNIT -V
Read the following passage carefully and answer the questions that follows:
Discipline means obedience to the established rules of conduct. Certain rules have been
laid down in every society to control and regulate the life and activities of its members. So
that the society as a whole may progress in harmony and peace. If any of these rules is

broken, there is trouble and society suffers. In fact, the discipline is very basis of progress
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in every sphere, public or private. A man without discipline is like an engine without a
brake. A society that has no rules or whose members do not confirm to its rules soon fall
into pieces. In games, too, discipline is necessary. Every player has to obey his captain
and carry out his commands whether he likes them or not. In army, discipline is more
necessary. An army without discipline is no better than a lawless mob. In the same way a
school or a college cannot run if the boys do not observe the rules and regulations of the
institutions “Teaching is impossible if the boys do not keep discipline. Discipline cultivates
a spirit of respect for elders and superiors, teaches gentlemanly behaviour in society and
meek submission to any punishment that may be inflicted due to indiscipline. It is the duty

of every student to observe them if they want to build their character and prosper in life.

Questions:

(@)  Why are certain rules of conduct laid down by the society? (2)
(b)  What will be the result if boys do not keep discipline? (2)
(c) What does decipline cultivates? (2)
(d)  The opposite of harmony is ............cccoeivieiininn. . (1)
(e) Adjective form of obeyis .........cccoeiiiiiiiiiin. . (1)
(f)  Verb form of teaching is ........c.cocvviiiiiiiiin. . 1)
(g) Discipline is necessary in games to: (1)

(i) Fee happy
(i)  Throw balls

(iii)  Carry out commands
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Q.12 Read the following poem carefully and answer the questions that follows:

[002]

How sleep the brave, who sink to rest

By all their country’s wishes blest !

When spring, with dewy fingers cold,

Returns to deck their hallow’d mould.

She there shall dress a sweeter sod.

Than Fancy’s Feet have ever trod.

By Fairy hands their knell is rung;

By forms unseen their dirge is sung;

There honour comes, a pilgrim grey,

To bless the turf that wraps their clay;

And freedom shall a while repair

To dwell, a weeping hermit there!

Questions:

(a)

In what sense does the poet use the phrase “Fancy’s feet’ in the poem? (1)
(i)  thinking deeply

(i)  imagination

(iii)  fresh ideas

What types of poem is this? (1)
(i)  anature poem

(i)  aromantic poem

(iii)  patriotic poem

How are the brave who die for the nation blessed? (2)
A season of colours, flowers and joy. (Find the word for the following expression

from the poem) (1)
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Q.13 Write an essay on any one of the following topics: (7)

(i)  Value of games and sports.
(i)  Pollution: A problem

(iii)  India as a democratic country
(iv) A visit to a historical place.

(v) my ambition in life.

Q.14 Ankit Gandhi of class Xl has lost his watch somewhere in the school premises. Besides

being valuable, the watch has an emotional value for him. He puts up a notice on the

school notice — board, promising a good reward to one who finds it. Write the notice and

put it in a box. (4)
OR

You are Rohit Baratha a student of Monalisa H. S. S. Guna. Write an article on

“Importance of time management in studies”.

Q.15 You are Abhishek verma at 43 Jayanti colony, Dhar. You are Xl class student in Oxford H.

[002]

S. S. Satna. There was an annual sports meet in your school and you had participated in
it. Write a letter to your friend Nishant Makraya describing the Annual sports held in your

school. (4)

OR
You are Suresh Mandloi living at 16, Vasant kunj, khandwa. Write a letter to Municipal
commissioner, municipal corporation of Bhopal, about a monkey which has created panic

among the residents of your locality.
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Q.1

[052]

(i)  All questions are compulsory
(ii)  Read the questions carefully and answer them.
(iii) Marks for each question are indicated against it.

(iv) Internal choices are given as per the blue — print.

SECTION-A

Read the following passage carefully and answers the questions given below:

Nationalism, of course is a curious phenomenon which at a certain stage in a country’s
history gives life, growth, strength and unity, but at the same time, it has tendency, to limit
one, because one thinks of one’s country as something different from the rest of the world.
The perspective changes and one is continuously thinking of one’s own struggles and
virtues and failings to the exclusion of other thoughts. The result is that the same
nationalism, which is the symbol of growth for people becomes a symbol of the cessation
of that growth in the mind. Nationalism, when it becomes successful, sometimes goes on
spreading in an aggressive way and becomes a danger internationally. Whatever line of
thought you follow, you arrive at the conclusion that some kind of balance must be found,
otherwise something that was good can turn into civil. Culture, which is essentially good,
becomes not only static but aggressive and something that breeds conflict and hatred
when looked at from a wrong point of view. How you are to find a balance. | do not know.
Apart from political and economic problems of the age, perhaps that is the greatest
problem, today because behind it there is a tremendous conflict in the spirit of man and a
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[052]

tremendous search for something it cannot find. We turn to economic theories because
they have an undoubted importance.
It is folly to talk of culture or even of god when human being starve and die. Before

one can talk about anything else one must provide the normal essentials of life to human
beings. That is where economics comes in. Human being today are not in the mood to
tolerate this suffering and starvation and in equality when they see that the burden is not

equally shared. Others profit while they only bear the burden.

Questions:
(a) Nationalism is a symbol of: (1)
(i)  Pride
(i)  Humbleness
(iii)  Growth
(iv) Culture
(b)  Culture is essentially good but becomes: (1)
(i)  Dynamic
(i)  Static
(iii)  Worse
(iv) Rotten
() We can find balance when we turn to: (1)

(i)  Economics

(i)  History
(iii)  Culture
(iv) Geography
(d) The word ‘Starve’ in the passage means (1)
(i)  Hunger
(i)  Poverty

(iii)  Lack of strength
(iv) Diseases

(e) According to Nehru nationalism is a......... phenomenon. (1)
(i)  Natural
(i)  Cultural
(iii)  Curious
(iv) Ethical
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Q.2 Read the following passage carefully and answers the questions given below:

[052]

(f)

What is the verb form of ‘Conclusion’?

(i)

(ii)
(i)
(iv)

Include
Conclude
Conclusive

Concludable

It is folly to talk of culture when:

(iv)

Human beings starve and die
The burden is not equally shared
Culture becomes aggressive

Nationalism becomes successful

(h) The noun form of ‘Tolerate’ is:

(i)
),

(iv)

Tolerance
Tolerable
Tolerably

Toleration

When does a society become static?

According to Nehru when is it folly to talk about culture or god?

(1)

(1)

1)

(2)
(2)

Trees give shade for the benefit of others and while they themselves stand in the sun and

endure scorching heat, they produce the fruit by which others profit. The character of good

men is like that of trees. What is the use of this perishable body if no use is made of it for

the benefit of mankind? Sandal wood, the more it is rubbed, the more scent does it yield.

Sugarcane, the more it is peeled and cut into pieces, the more juice does it produce. The

men who are noble at heart do not lose their qualities even in losing their life. What matters

is whether man praise them or not. What difference does it make whether they die at this
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Q.3

Q.4

Q.5

[052]

moment or whether their lives are prolonged? Happen what may, those who tread in the
right path will not set foot in any other. Life itself is unprofitable to a man who does not live
for others. To live for the mere sake of living one’s life is to live the life of dogs and crows.
Those who lay down their lives for the sake of others will assuredly dwell forever in a world
of bliss.

Questions:
(i)  Make notes in points from the given passage, using abbreviations, where necessary
with title. ()
(i)  Write a summary of the above passage in about 60 words. (3)
SECTION-B

You are Prakash, the secretary of your school. You plan to organise an educational tour to

manali during the winter vacation. Mentioning the schedule of the tour and expenses to be

incurred, wrote a notice inviting the name of the members who are interested in joining the

tour. (5)
OR

Invite your class-fellow and friend on the wedding of your elder brother. You are akash.

Put the followings information in the form of a report: (6)

N.S.S. camp at Barkhedi village / 100 volunteers / planting tree / cleaning of drains / adult-
literacy classes

OR

Last Sunday you went to the hospital to see a relative who was admitted there. Using the
following inputs, describe in about 100 words, your visit:

Registration counter / people in front of doctor’'s room / surgical ward / nurses attending /
medical ward; patients lying on their beds.

Write a letter to your father requesting him to send you Rs 500 to buy some books. You

are Salim Ali residing at Indore. (6)
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OR

You are Varsha Singh, studying in XllI class in Govt. Girls Higher Secondary school,
Indore. Write an application to your principal for four days leave as you are sick.

Q.6 Write a letter to your friend inviting him to attend your birthday party. You are Anil Gupta
residing 198, Vasu Nagar, Guna. (6)

OR

Write an application to the collector of your District for imposing restriction on the use of
loudspeakers. You are Satish Rathore residing at Bhopal.

Q.7 Write an article on “Importance of Reading Habit” with the help of following inputs: (7)

(i)  Field of knowledge expanding fast.

(i)  Reading at school limited to subjects offered.

(i)  Extra reading necessary for rounded personality.
(iv) Continuous reading necessary to keep up-dated.
(v) Reading makes a full man.

OR

Write an essay on any one of the following topics:

(i)  Population Problem
(i) Importance of Games and Sports
(i)  Wonder of science

(iv) A person whom | respect most.
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SECTION-C

Q.8 Fill in the blanks with the correct words and rewrite the sentence: (5)
(@) SWIMIMING 1S ettt ettt aaenas great fun.
i A
(i)  An
(iii) The
() I o T0 7= T g ] (= PPN a pencil.
(i) In
(i) With
(i) By
(€)  TWAS e taking a cup of milk every morning.
(i)  Should
(i)  Usedto
(iii)  Must
o ) I = 1= [ 1= the money he had.
(i)  Each
(i)  Every
(i) Al
(€)  He e teaching here since 1998.
(i)  Has been
(i) Is
(i) Has
Q.9 Do as directed: (any five) (5)
(@) He knows me well. (Change into passive voice)
(b) He always played well. (Change into negative)
() We will leave as soon as the taxi arrives. (Rewrite using ‘No sooner........ than’)
(d) This mango is too sure to eat. (Rewrite the sentence using ‘so-that’ instead ‘of
too-to’)
(e) I'have no any friends. (Correct the sentence)
()  He/hardly / any / money / has. (Arrange the words to make meaningful sentence)
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SECTION-D

Q.10 Read the following extract and answer the questions given below:

(A) Ah, you are so great, and | am so small,
| tremble to think of you, world at all,
And yet, when | said my prayers today,
A whisper inside me seemed to say,
“You are more than the earth, though
You are such a dot.
You can love and think, and the earth cannot
Question:
(i)  Find out the word from the lines given below which:
(a) s the opposite of ‘outside’? (1)
(b) Has the same meaning as ‘Shake’? (1)
(i)  What does the poet mean by:
“Ah, you are so great, and | am so small” (1)
(B) This life is sweetest, in the wood
I hear no children cry for food,
| see no women, white with care
No man, with muscles wasting here.
Questions:

(@) Find out a word from the lines given above which:

(i)  Gives the same meaning of the word ‘shout’. (1)
(i) s the opposite of the word ‘black’? (1)
(b)  The name of the poet who wrote this poem is...................... (1)
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Q.11 Answer any two of the following questions. (2x2=4)

(a)
(b)
(c)
(d)

What are two meanings of the word ’cricket’?

What is selfishness according to the poet?

Why does the river consider its journey meaningless?
What does the poet see when he reached the temple?

Q.12 Answer any seven of the following questions in about 30 words each. (7x2=14)

Why did neighbourhood children not become friendly with Mini?

(b)  What happens if we prejudge people and future events?
(¢) How can we free up time?
(d)  What was Ghasi’'s complaint to the panchayat?
(e) Who was Swami Arvasu?
(f)  What are Comfort zones?
() How does the brain react in emergency situations?
(h)  What were the consequences of poisoning the rats in and around the house?
(i)  What happens when Birju went to called firewood?
Q.13 Answer any one out of two. (4)

How does school life prepare a child to face the outside world?

OR

What does Dr. Kalam mean by having an indomitable spirit? What are civic duties?

Q.14 Answer any four of the following questions. (4x2=8)

What do people do for their harvest?

(b)  Why is Gita beyond the mere intellect?
() What according to the poet is the ‘Nature of life’?
(d)  What risk do we face when we laugh?
(e) Which is the world’s highest waterfall and where is it?
(f)  What are the distilled books like?
Q.15 On what does the improvement of your English depend? (4)

OR

What has the United State Army discovered?

[052]

Page 8 of 8 (8030)



Gl Tl DI H=AT : 22 HA JOT I G : 8
Total No. of Questions: 22 Total No. of Pages: 8

BRR Ahvsy TR, feawR — 2017

053
ﬁ-q-q- : . C \ ( ” I)
Subject: SANSKRIT (General)
| : 03 HUCTHIH quriET : 100

Time: 03 Hours Maximum Marks: 100

e ()  wd FEEE SRt aiwa )
(i)  FETTT TG HFTHGT T/

g1 Sfed fadeed forer foraa — (s1=5)
() ‘TYHT TARI SaTEXVH AR—
(e1) =RTIH (@) <R

(#) TR (@) ey
(@) rHE: giaRA uq |/ SRk —
(&) fecirar aogew: (@) T gy

(W) T TG (3) =T A
(M) IR SARET ISR FATaUE: vafd —

@) oA @) wrar — far =

(@) = wrar-fudr @) wrar = fodr =
@) ‘O 9l FHER: 3R FHRT: Hald: —

(@) ugger @) g

@) wEdh (]) UTdS FHER:
(8) ‘#ea:’ Uq A iR —

@n foxaet afr @) o A

(|) o1 wR Al @) glg wR |t

U2 SfHd fdemed far foraa — (5X1=5)

@) SFIfIRady T SR —

@) o9

@) wem

@) fom

(@) rar

[053] Page 1 of 8 (190)



73 S
()

[053]

o

hod foraar forad —

T U Uy J1Rk—

9l

DIERC) 237
aE

g
i

i
*EEE

a4292
s}
@

G .

1]
:
:
i

1311

Page 2 of 8

(5%1=5)

(190)



I ygy: Iifa —

AT

(=)

(5%1=5)
(190)

-
° 2 |
= £ o : W
21111 I P m
ﬁmmwmww%?w% mwmwmm EEEE WWWW
@@@@W@@@@Ww>uuuwu<uu u<<<m<<<< SEEE
D 5 5 £



U5 Sfad faded foran fored — (5x1=5)
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Instructions:
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(i)
(ii)
(iii)

(iv)
(v)

(vi)
(vii)

(viii)

& goT fart &/

¥ 97 H [T 77 ]9 WIFETAqads BT F @ I [y /

geT &1 @ 5 a@ qeglae gvq & foe saia Rad wrEl @t gt
TeT/ 3, Wel oiie] I UF T IT Vb qIgg H GOV for@qT 8 aer

WEl [3BcT BT TI7 BN & FAF F97 5 3T BT & 1X5 =FA 5X5 = 25
3w/

go7 . 6 W 26 ¥ 3MaR® Rwey &y 77 &/

FoT F 6 F 10 TF FIP F97 & o7 2 3F & 0T Jd Fo9 BT IV
T 30 It H forar 8/

ToT & 11 & 14 TF A% J97 & o7 3 3% & U9 gAH 97 &7 IV
AT 75 F) § foregem &/

goT & 15 & 21 TF B J97 & [0 4 3/F & VT gdd 97 &7 IV
ST 120 FIsqt & forer &8/

Jo7 . 22 @ 26 TF FAB F97 @ [0 5 3% & VT gAH 97 HT IOV
ST 150 FIqt & foregr &8/

All questions are compulsory.

Read the instruction carefully and write answers to the questions.

Question Nos. 1 to 5 are objective types which contain fill in the blanks,
True/False, Match the columns, one words or one sentence answers and
choose the correct answers. Each question is allotted 5 marks. 1x5 =5x5 =25
marks.

Internal options are given in question Nos.6 to 26.

Questions Nos. 6 to 10 carry 2 marks each and answer should be written in
about 30 words each.

Questions Nos. 11 to 14 carry 3 marks each and answer should be written in
about 75 words each

Questions Nos. 15 to 21 carry 4 marks each and answer should be written in
about 120 words each.

Questions Nos. 22 to 26 carry 5 marks each and answer should be written in

about 150 words each
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ORI Ea B C= A 15 ) 1 OO ofr |
(i) TET RTEDB D TTID oooooeoeoeooeeoesoessoesoesoesoessoessesosesssessoesssesssessseseoeseseseoeseoeseoes g |
DRSS R 2 B e 152 S s OO H B3I o |
) IR U L LIRS KSR B4 S5 I A o |
(V) IR @ & D TTG oo 47Tt BT a9 97|
Fill in the blanks-

(i)  Gautam Buddha’s childhood Name Was,,,.......oveieeriniiiiie e aeaes

(i)  The author of the ‘Mudra Rakshas’...........coooiiiiiii e

(i)  India was partitioned in.................... Sy e et e et e et e et e e e eaa e e e
(iv) Thelastrulerwas .............ccevvieininnn.n. Jyye et e in Lodi Dynasty.

(v)  After the battle of Plassey ..................... fee e became the ruler of Bengal.
fr=forRad et § 90 /3 forfRau— (5)

() HHIC DivIsh HUTIT G2 BT o |

(i) BYGET 7 GABRA 1l BT uRIIoTd fobam o |

(i) TRTEl & URg ARl &1 FHE0T dad TSl §RT BT T o |
(v) TRrarsit & |91 &1 FAIfd ARAET Berdr o |

(v) RO ISR R & GRATISH el o |

Write true & False in the following sentence-

i)  Emperor Kanishka was of the Kushan Dynasty.

(

(i)  Harshavardhana defeated Pulkeshin Seconds.

(i)  Famous temples of Khajuraho were built Chandel by ruler’s.
(

iv) The commander of Shivaji is army was called Sarnobatta.

(v)  Gandhiji was the founder of the Indian National Congress.
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T
() T AR
(i) BgISKaT VgD
(i) arepT f$ T

(iv) STITERATd 8%

(v) §Td TER foerd

e q

TRA T

ENE IS

AR AT BT ARG

Hgd HIHR

Make the correct pair for column ’A’ choosing from column ‘B;

Column ‘A’
i)  Chandragupta Maurya
i)  Qutubuddin Aibak

(

(

(i)  Vasco de gama
(iv) Jawahar lal Nehru
(

v) Bal Gangadhar Tilak

Column ‘B’

Garam Dal

National Herald

Founder of the Maurya Dynasty
Qutub Minar

Portuguese navigator

fer=rforfRad UeHl &1 SR Udh e 1dT Ueh drag # forflgu—

(i) TR TG BT @ISl e gg A7

(i) JARTS Il AHS T & AT B AP
(i) 3THER gRT UfauIfed & &1 A9 §adrsy?

(iv) STSTET IR R a1l It aeig eI i o1?

(v) faferad Eif=a &9 JTal Ad & Bl H AR IMRAT A7

Write the answers of the following questions in words or sentences each-

i)  When was the Discovery of Indus civilization done?

i)  Who was the author of a book named ‘Prithviraj Raso’?

iv)  Which Tughlaq dynasty ruler was responsible for change is capital?

(
(
(i)  Describe the name of religion that is proposed by Akbar?
(
(

v)  William Hawkins had visited India during the time of which Mughal ruler?
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@)

=)

(i) oMfeH T (iy Ha
(i) gfgwr Aa (iv) Sfgr™ Jrg
IRT ¥ e o RNT <o 7 amaRe Jloemg ura &1 off?
(i) TTAIUS iy wid
(i) gaTTe (iv) <9
(|) &Il BT fA9TST e g3 AT?
(i) = 1906 (i) = 1905
(i) = 1907 (iv) 9 1910
T BT YoH Jg B9 AT oAT?
() 991525 5. H (i) 9 1526 . H

(i) &9 1527 . H (v) 9 1528 . #

1857 & TOY H TLIT BN TN UAH AfFT HI oAT?
() T ey (i)  HTT UTS
(i) =TT ATEd (iv) ¥8IgR T8 STHR

Choose and write the correct answer for the following questions-

(i)

(i)

What does Homosapiens mean?

(i)  Primordial (i) Human

(iii)  Intelligent Man (iv)  History Human

The first European Country which has received business facilities?
(i)  ENGLAND (i)  FRANCE

(i) PORTUGAL (iv) DUTCH

When was the partition of Bengal?

(i) 1906 (i) 1905

(i) 1907 (iv) 1910

When did the first war of Panipat occur?

(i) 1525 (i) 1526

(i) 1527 (iv) 1528

Who was the first Person to be martyred in the struggle of 18577
(i)  Tatya Tope (i)  Mangal Pandey

(i)  Nana Saheb (iv) Bahadur shah Jafar
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ufgd & SIfaepR | AT Silad | MU Big g yRadd 1Ry |

Write any two changes in human life through the Invention of the wheel.

311d1 / OR
Bfiesd & IR # oy T A &7
What do you mean by Tripitak?
Ree] vgar &1 &1 faerany faRag |

Write any two characteristics of Indus civilization.

31277 / OR

SR AfH FHlel= auf AT R GBI STfery |

Throw light on the Varn System of later Vedic period.

WIS @ g g BT a1 IR garm Fery H forReg?

Write briefly what was the consequence of second war of Tarain?
31741/ OR

RISTYd BIel # Rl @ <= &1 v HRY |

Describe the condition of women during Rajput Period.

PR gRT IaTs AT T gARdl & A ol |

Write name of the major building built by Akbar..
31d1 / OR

IR BT R (IS & BIg &l IR IRy |

Write two results of Babar’s victory in India.

YTl & U & blg &l HRUT forfey |

Write two reasons for the fall of the Portuguese?
31e0d1 / OR
IS §RT vRA H WU {2l a1 dRE™l & 1 garsy |

Name of the two factories established by the British in India.

JHER BT ST I & brg A gRomA ey |

Write any three results of Akbar’s Rajput Policy.
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U.16

[110]

31U4qr/ OR
YREATE QW & A9 IR BN BT o HINY |
Describe the three reforming works of Shershah Suri.
RO & g STel & |g¥ &7 9o BRY | (3)
Describe the struggle of Jat against Aurangzeb.
311491/ OR

Tl FHEST & Ud= & Plg oI BRUT qa1sg?

Write any three reasons for the fall of the Mughal Empire?

YRA BIGI A<l & M T HRYT qelsq? ®3)

Write any three main causes of Quit India Movement?
312141 / OR

IR o @ PIg I HRT garse?

Write any three reasons for Partition of India?

HRA H BIFIHNI NG & Iqd B HIg AF HIRVN B qUH HIRT? 3)

Describe any of the three reasons for the rise of the revolutionary movement in India?
31741/ OR

AN AT & I T PHROT FA5Y?

Tell us three main reasons for non cooperation movement?

TIUTSTOTRTS BT I BT T T HEd 372 Dls IR fd=g forlay | (4)
Why the Neolithic age is called the Age of revolution, write any four points?

31eraT / OR
Y RGO sfoerd S99 # fageh w3l & fAaxer &1 |7 78 g 99 HRu?

Describe the importance of the detail of foreign traveller of know ancient Indian history?

Ifed BTl 3MSH FaRAT BT quiF HRY | (@)

Describe the Vedic period ashram system.
312141 / OR

dig g9 & TIR b BRI gdIgu?

Describe the spread of Buddhism?
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Al ARIDI B AT WA & IR fRvan falay |

Write four characteristics of local self Government of Chola ruler’s?
31741/ OR

Joold Pt Afex AT @ fafe= dferal &1 avfe &Re?

Describe the different styles of temple building in Pallava Period?
Rrarsll ® IR YgE U™l BT quid HRY |
Describe the four major achievements of Shivaji.

31277 / OR

Rrarsll &1 M & THRI qRIE R®aT A7
What were the major means of Income of Shivaji?
SATEMEIE Bl A & JqE I (IR |
Write the salient condition of the treaty of Allahabad.
31U4dr/OR
MY IR S8 S & IR Y@ lfefcad Sl b1 9o Hivy |

Describe the four major literary sources of modern Indian history.

1857 P TWaAdT AU P folU ScaveR IR RO BT quiF BN |

Describe the four reason responsible for the Independence struggle of 1857.

31d1 / OR

AT Uae B ygE gRI IRy |

Write the main sections of the Regulating Act.

TR IqA=IdT WU H IF ASAaTs & INTEIT BT 9o HRY |

Describe the contribution of Rani Laxmibai in the first freedom struggle.
312141 / OR

HEIYSS H U el Ryadl uR gebrer Sifery |

Light up the Gupt vanshi coins found in Madhya Pradesh.

[WhTA AR SIE BT W Bl AT, W HiRY |

Explain that the Gupta Period was the heaven period of Indian history..
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[110]

31qd1 / OR

FqYTS 319D DT HEH Fl hal Sfrdl a7

Why is Emperor Ashoka called great?

qfad TSI & S & Urd BRI 9dTsy |
Give five reasons for the rise of the Bhakti Movement.
34T/ OR

JATSGa Raefoll HI IR =01 AT &1 auie HRY |

Describe Alouddin Khilji's price control policy.
HRIST g 0T & w9 # At &1 eaies sRy |
Evaluate Shivaji as a builder of Maratha Nation.
31U4dr/ OR
RS @& o e &1 9uiF HRY |

Describe Shivaji's governance management.

U Mg B Ura e garai &1 gof9 HRU |

Describe the five economic effects of the British rule.

312raT / OR

JSTRRYT T 87 ARARI YAGINIRYT & $lg IR BRI 15y |

What are the Renaissance? Give four reasons of Indian Renaissance.

qegUeel | YT hls Urd UTAE SRS BT o B |

Describe any of the five ancient Monuments present in Madhya Pradesh.

312591 / OR
qeqUSYl | UT ls Urd el BT g HRU |

Describe any of the five records obtained in Madhya Pradesh.
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Total No. of Questions: 20 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017
120

fawa : apmer
Subject: GEOGRAPHY
(Hindi & English Version)

|AA 1 03 HOC quifd : 075
Time: 03 Hours Maximum Marks: 075
fader —

() T 7oT At &

(i) T BHE 1 & 4 TP TG0 F97 & FAF FI7 & [o77 5 & TR &/

(iii) 7% FHH 5 F 20 dF F =il [Abeq &7 T3 &/

(iv) 597 FHIE &5 @ 97 HHIH 8 % FAF J97 & o 2 3& fwEiRa &1 vz
T 30 w15 &/

(v) H¥7 FHTF 9 @ 12 TF FAF F97 & [o7 3 3w [iRa & ass wfiar 75
I &/

(vi) F¥T FHIE 13 F 17 TF HAS F97 & o7 4 & [FERa &/ &g fiar 120
I &/

(vii) T FHHIE 18 & 20 TF HAF 597 @ [0 5 3 [FRa &1 wrss &hr 150
I &/

(viii) T FHE 19 1397 & ArfaT 1 g & qaeT &/

INSTRUCTIONS: -

[120]

(i)  All questions are compulsory.

(ii)  Questions No. 1 to 4 are objective type. Each question carries 5 marks.

(iii) Internal options are given in question No. 5 to question No. 20.

(iv) Question No. 5 to 8 are assigned 2 marks each and answer should be given in
30 words each.

(v) Question No. 9 to 12 carry 3 marks each and answer should be given in 75
words.

(vi) Question No. 13 to 17 carry 4 marks each and answer should be given in 120
words.

(vii) Question No. 18 to 20 carry 5 marks each and answer should be given in 150
words.

(viii) Question No. 19 is related to fill in the map of world.
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iv)  STOTHT 9Tl d<l

I AxT URags diF ¥

iv) STel gRdsd
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Choose the correct option —
(@) Industrial town is —

(i)  Bhilai

(i) Ujjain

(i)  Bhopal

(iv) Mahu

(b)  Who is called the father of Human Geography?
(i)  Blache
(i)  Dawis

(iii)  Retzel
(iv)  Huntington
(¢) Kumari E. C. Sampule is-
(i)  French Geographer
(i)  German Geographer
(iii)  American Geographer
(iv) Japanese Geographer
(d)  Which is the cheapest transport —
(i)  Air transport
(i)  Road transport
(i)  Rail transport
(iv)  Water transport

(e)  Which of the following is first communication satellite of India?

(i)  Cosmos
(i)  Arya Bhatta
(i) S.L.V-3
(iv)  Apple
g2 Rad = a1 gid s

@) FEAR DI TG AT B AT oo

[120] Page 3 of 8
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[120]

Fill in the Blanks:

(@) Manalito ....cooveiiiiiiii road is the highest road in the world.
(b) Indian forest research institute is situated in ... .

(€)  DINI IS ettt city of India.
o ) T I 1= T in diversity in India.
(B) e is the best soil for the Cotton agriculture.

@) T=R P9 YR & TR BT ITE 27

@) T A AR BT MR ST B RAFIART BT R BET 27
(@) g e Far 2?

(@) YRA & 4w I5g H STHET 99T HH 87

() SATTE! & I B A AT I 82

Answer in one sentence:

a) Indore is an example of which kind of city?
b) Migration of population towords rural area to urban areas is called?

(

(

() What is composite settlements?

(d) In which state of India density of population is low?
(

e)  Which soil is made from ash of volcano?

el eI I4T8:

(a1) @)
@) < @ YT () el B
@) PEA STS SMaATSS (i) IR
(9) ¥Nd BT HT=CN (iiy IR
@) 9w &1 HA By (iv) I 8 w9d
() dferTrg (v) OTEHEETS

Match the following:
(A) (B)

(@) Transmission of Communication (i)  Gandhi Farm

(b) Carbon — di — oxide (i)  Trade

() Manchester of India (i)  Communication

(d) Sale and Purchase of Goods (iv)  Green house effect
(e) Tamil Nadu (v) Ahmadabad
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[120]

AT Tl B Sugerd g forRag —

Define Human Geography
31erd1 / OR

AMG A & 31 BT FASEY —

Explain the Human Geography.

JrT & B <y T R |

Write two main important problems faced by the rural people.

3721dT / OR
SENfires AT UITAe TR BT ISTEXT Th] FHSIEY |

Explain industrial or administrative town with examples.

T I 1 aed 27

What do you mean by settlement?

31ed1 / OR
T IR @ ufaedl & M forRay |
Give various forms of Human settlement.
TITIROT GGHOT HT 31ef T 82 AHSSY |
What do you mean by environmental pollution? Explain
312791/ OR

IR YWl & &I S qargd?

Give two sources of Air pollution.

<P GBI b Bed 87 g9a! Big o9 fagwarg ferar?

What is Truck Farming? Write any three characteristics of it.
31791/ OR

ST GBI & fABrd & DI B A T BRD o7
Give the main three Features of Dairy Farming?

RA H AT B arell fbel 9 avgall & aw o ford |
Write the name of three items which imports India.
31ed1 / OR

U 3T dexITE BT o faeeany forfRae?

Describe any three characteristics of a good sea — port.
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U.13

U.14

U.15

.16

[120]

AR Al BT Agd falay | I8 3 (3)
Write any three importance of modes of communication.
312141/ OR
ST BT AT AT 87
What is the importance of Internet?
R il AT 3?7 Y IR 3D Bls &l R fora? (3)
What is Green Revolution? Write its two impact on Agriculture.
31ed1 / OR
Jul STl A | 3MY FIT FASKT &2 quid BHIToTg |

What do you mean by rain water harvesting? Explain

ST gTcd Dl GHTAT B dTel 0 IR BRI aIRay | (4)
Write main four causes which affect the population density.

3ferdT / OR
T BRU & b ARSI R A &Fha § 2V2 YA g1 © oAfb SRl
3UETTH AT FHH B°

What is the reason that Australia has two and a half times more area than India but the
population is too less than India.

YRA H SET gfg @l A Y@ & S fafg | (4)
Write the measures to control population growth in India.

31edr / OR
IRA § 7T BT 7 =1 H SEET o9 S1fdd 27 Fil?
Why “mid valley of Ganga is densely populated in India.
qTSY ofTsd URds @ &I 0T 3R a1 qIY oIl | (4)
Write the two merits and two demerits of pipeline transportation.

312rd1 / OR

Y URTET BT Hecd qdgd |
Describe the importance of Air transportation.
IRA & T AR &1 7 forga? f5l wa a1 faewamt forReg | (4)
Name the main soils of India and write the characteristics of any one.
31ed1 / OR
TRT § a9t Ia1e+ & forg dimifere gemen &1 forRay |

Write the geographical conditions required for rice production in India.
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[120]

IRA ¥ g @Hol & 316 Ud fAaRor &7 9o Bk |
Describe the production and distribution of Iron — ore in India.

31erdT / OR

Foll P RANTTT Ud TIRARTTT AT hIF i F & |
Define Non — conventional and conventional sources of energy?
RIFTRI $Y a1 87 9D Big IR faemang fofkeay |

What is Shifting Agriculture? Write any four characteristics of it.

31erdT / OR

YRA IENT BT Bls U FIRIN fIRag?
Write any five problems of Indian industry.

o v ¥R & WHeR aEtE #§ e forlRad goiy —

(1) = ARARYT X AN
(2) H=S W o= S a1

B) ID T=[MME
(4) TSI QT
(5) Y HENNR

State the following in the out line map of world.
(1)  Trans Siberiyan Rail Route

(2)  Mumbai to London water Route

(3) Newyork Port

(4) Amazon River

(5) Atlantic Ocean.
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3feraT / OR
I v IR & IR g § e folRag a1 sy |

(1) DY PTG XeTHAN

(2) ied W AP STTANT
3) U WIRRDI TR

(@) TA™T TN

(5) 3Wd HEMNR
Show the following in outline map of world
1)  Cap — cairo Rail Route

(

(2) London to Now York water Route
(3) San Francisco city

(4) Panama Canal

(5) Arabian Sea.

U420 HSh URTET B I FARIN FT &7 A |

Explain the Main problems of road transportation.
31ed1 / OR

MR ISR UE RIS ISR 6l fadR 3 dHssy |

Describe the National highways and state highways.

[120] Page 8 of 8

(520)

(5)



HA U DI AT : 26 HA TSI BT F=AT © 08

Total No. of Questions: 26 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017
130
a9y : IS IR

Subject: Political Science
(Hindi & English Version)

|AA 1 03 HOC quifeh : 100
Time : 03 Hours Maximum Marks : 100
fader —

() T goT At &

(i) HeT FHF 1 @ 5 T avg [T J97 & §IF 597 5 3F FT &/

(i) F . 6 & 26 & JAH Fo7 § ala [Rbcy o3 T3 8/

(ivi ¥ % 6 F 10 TF FIF F97 2 3F &1 & TV [oregT Pl 97 AT FTTHT

30 717 &/

(v) H 11 F 14 TF FAF J97 3 3F &7 &/ O foreg &1 Is7 HHT TTHT
75 &g &/

(Vi) T & 15 & 21 TF JAF 97 4 3F T 8 TV ler@™ &1 917 HET TT+T
120 7155 &/

(vii) H % 22 & 26 TF JAF J¥7 5 3F B & GV foregd &1 I HAT FTTHT
150 915 &/

INSTRUCTIONS: -

[130]

(i)  All questions are compulsory.

(i) Q. No. 1 to 5 are objective type each question is allotted 5 marks.

(iii)  Internal options are given is Q. No. 6 to 26 each.

(iv) Q. No. 6 to 10 carry 2 marks each and answer should be given in about 30
words.

(v) Q. No. 11 to 14 carry 3 marks each and answer should be given in about 75
words.

(vi) Q. No. 15 to 21 carry 4 marks each and answer should be given in about 120
words.

(vii) Q. No. 22 to 26 carry 5 marks each and answer should be given in about 150
words.
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91 Hel fddew gi— (5)

[130]

(i)

(i)

frifd 4 9 59 gEF e 4 $R & IR ¥ R ¥ fdavor ferar
B—

(i) 31 I (i)  NToTaRfTofy

(i) g Mg (iv) hdrSTel!

Afder Ao § wdt fha |9 g om—

() 2 9% 11 7199 18 faq (i) 2 9% 11 7199 20 fe=
(i) 2 99 11 7197 8 oA (v) 2 9% 11 7199 10 fa=
Qe # FEEg I UOTTell &1 Sd 8i—

() faea (i) STAR®T

(i) HATST (iv) SRS

IR A &7 rfese 17 a7 Hudl 8—

() YT W b (i) R 9T R A

(i) T8O AT W AdH (iv) Tl 8T WR U

=1 foosr ot & fore [anetl # fhaw uferd e JRferd 28—
(i) 23 wfcrera (iy 25 wfcrera

(i) 27 wfcrera (iv) 29 wfcrera

Choose the correct answer:-

(i)

(ii)

In which of the following book do we find detailed information about Kashmir:-
(i)  Arthashastra (i) Raj Tarangini

(i) Geet Govind (iv) Geetanjali

The constitution was prepared in: -

(i) 2years 11 Months and 18 days (i) 2 years 11 Months and 20 days
(i) 2 years 11 Months and 8 days (iv) 2 years 11 Months and 10 days
The source of Parliamentary form of Government is: -

(i)  Britain (i) America
(i)  Canada (iv)  Ireland

What does article 17 of the constitution of India states: -

(i)  Ban on untouchability (i) Ban on bonded labour
(i)  Ban on Dowry (iv)  Ban on child labour

What percentage of reservation in services is given to other backward classes: -
(i) 23% (i) 25%
(i) 27% (iv) 29%

Page 2 of 8 (1400)



U2

U3

[130]

Rea i @ g HITg— (5)

(i) TRTAATET oo <o # favany = 2|

() TT e Afgerr AHIRTT 9§ & w7 § 79T TAT|

(i)  TIOT HHE H TRT T oo BT FHA b |

(iv) IRIYTT FG DI AT HGT BT A o =

(v) AgId T D ol Bl IS Y Ul

Fill in the blanks: -

(i)  Naxalites believe in ................c.ooain. philosophy.

(i)  Year ....o.ocovveiiennnn. was celebrated as women empowerment year.

(iii)  India supported .............eeuenenn. during Suez canal crisis.

(IV) is the name of common currency of European union.

(v)  The background of the flag of the United Nationsis of ...................... colour.
U I H IR faalRed: — (5)

() IR BT T AT HT 87

(i) TI9a TIeg TS He WIIUd gaiT?

(i) TFIATE QT BT AHDBRYN [ TTd & IR TR gaTT?
(iv) dere # efRue I BT THAT IR & & T |

(v) ¥R 30 3TACAR 1945 Dl oo BT SR 7 |

Write answers in one sentence: -

i)  What is the full form of UNESCO?

(

(i) When was the world health organisation established?

(iii)  On the basis of which village, naxalite agitation has been named.
(

iv) Belgrade has hosted the summit conference of Non-aligned countries .......... times.

(v) India became the member of .............cocoiinn. on October 30, 1945.
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U4 I /IHT DI USH DHIOIY: — (5)
(i) oMid ISRIHRUT HT A 2 Ufadel B FAT BT |
(i) YATSHIIHROT H X fdeq g€ ST © |
(i) ANAdT & B Fard dig emfaadT 2|
(iv) BTG Y IR & AT 7 2 |
(v) 14 d RRIR A7 § 25 gl 7 AT foram |

Identify True/False statement: -
i)  Economic Liberalisation means removal of Restrictions.

i) By the globalization the whole world disintegrates.

(
(
(iii)  Majority of srilankans are the followers of Buddhism.
(iv) Kacchativu Island is in possession of India.

(

v) Twenty five countries participated in the 14"™ summit conference of non-aligned

Nations.
U5 gl Sl 9183 — (5)
() BN RER aw e () 5 oo
(i) HRAd YR T 3ThHOT (i)  BITATAYR
(i) ATdWIAEHr (i) 1986
(iv) HIRrr (iv) TR &1 s
(v) faaciexor (v) 1962
Match the correct pairs: -
(i)  Harare Summit Conference (i)  Division of labour
(i)  Chinese attack on India (i) Kuala lumpur
(iii)  Universalism (iii) 1986
(iv) Malaysia (iv)  Rule of law
(v) Differentiation (v) 1962
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[130]

3ITSITE HIHR HT &7
What is “Azad Kashmir’?

3141/ OR
TRER Joot¥ T8 Ucal I IRd &1 fa1d &= H8T I 87
Why Sardar Vallabh Bhai Patel is called as the Bismarck of India?
gACHT 3% YR T AqT?
What was instrument of Accession?

3141/ OR

uifg SRS B 27
Who was Potti Sriramulu?

ITHAM FHT H IR |fde™ # fhae aees iR et &7

How many Articles and schedules are there in the present Indian constitution?

a1/ OR

TR {6 HEd &7

What is republic?

TS @ A A M FI7 A 22

What do you understand by the policy of racial discrimination?
3141/ OR

RIS &l BIY & &I Iel Bl fofRe?

Write two objectives of International Monetary fund?

TR fasra @ or?

What was Operation Vijay?

3191 / OR
e F9sia & =g uTae a1 97

What were the main provisions of Shimla pact?

TR AT BT IDHIAl BT W =1 BHal STl © 2

Why is the constitution Assembly called as paradise for lawyers?
3141 / OR

YR Afde <gruford &1 Wazar f&9 ave giHred sar 2?

How does Indian constitution ensures the freedom of Judiciary?
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U412 YR GfeaE # Furds AT S hH—dhiF | dod [JeEE 87 3)

Which elements of federal form of government are present in Indian constitution?

34T / OR
TR AT § HoRdT 3R =HIddT & oo & favg § foRay?

Write about the features of rigidity and flexibility in the constitution of India?
¥.13 fIvq WRey G169 & Pls AR B qd8d? (3)
Write four functions of the World Health Organisation?
3141/ OR
rerEiRer & AN B IR TR 9 qarsd’?
Write four obstacles in Disarmament?
U4 HYId T Y DI GReT URYG & b alRa? (3)
What are the functions of the security council of the United Nations Organisation?

31fdr / OR

HEAHT & UYE B qa1sQ?
What is the main function of the General Assembly?

915 HeIUSel fUSST aFf MR- & 9’ HIAT BT quid D | (4)
Explain the main functions of Madhya Pradesh Backward class commission?

3gdr / OR
YT A SR SI(Id SISl @& Hedone did—did Al AT =y S
RE R

Which schemes are being implemented for the welfare of Scheduled Caste and Tribe?

U.16 &FAAI& BT b D SUTY qATgA? (4)

Write measures to curb regionalism?

31erd1 / OR
TRA H 37 ITAAT & HROT IATSY?

Explain the reasons of Economic inequality in India?
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ABBINGT ST Bl ITBId] b Dlg IR BRI foIlRay?

Write any four reasons for the failure of Co-operative movement.
3141/ OR

fRIIpT S<lold BT TSV |

Explain Chipko Movement.
RIS Hdell TR T1d AT & g91al &1 fadar STy |

Discuss the effects of ‘Détente’on International relations.

371d1 / OR
TR fager AT & [ § 9imfas d@ & 9919 &7 IS8T |

Explain the effect of Geographical elements in determining of India’s foreign policy.

TR BT WIIAT & T eI 27

What are the objectives of establishing “ASEAN"?
3191 / OR

1 cfeRUeT JTaTe § YRA & NS W & GJIQ?

Explain role of India in Non — Alignment movement?

qreThe FHSII & G UTae a1 o

What were the main provisions of Tashkant Agreement?
3141/ OR

YRA — 3] AAHE & bls aR HRUT fofRag?

State any four reasons for dispute between India and Srilanka.

JeIIHROT & FHT AT TR Tl DITTg?

Discuss challenges before globalization?
311491 / OR

SERIBRY B Py IR faRmany forRay?

Write any four features of Liberalization?

ST RAAd & AR fder & IR R Fawimll & fawg # ford?

@

(4)

@

(4)

(5)

Write about difficulties which came during the merger of Junagarh Princely state into India.
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3gdr / OR
YRA H IR & GG Bl ATaIDHAT DI ARAT BIFTY |

Explain the need of re-organisation of states in India?

Gequly ArGel @ Ui UgRg Seed forfey?
Write five aims of five year plans?

34T / OR
I OwST v RN BT AfdTAT BT Sooig B2

Mention about the powers of National commission for backward classes.

AT AT b Fbdd qarsd?

Explain indicators of Regional Imbalance?

3114t / OR
“foReRdT Afdd BT Tad=IaT &I 1S BRal 2 Rig P |

How does illiteracy, constrains the freedom of an individual?

IRA # ST JARTHR el Fa1 graen 272
What are the provisions in relation to Consumer Rights in India?

3ferar / OR
RIS Afgell BIY & @1 Hri 87

What are the functions of National Women Fund?
fa-gg & uRemmT BT RIRer?
Discuss the impact of Cold War on International Relations.

a1/ OR

e fRUe srfeTe™ &1 SUaferlf @ g7

What are the achievements of Non Aligned movement?
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Total No. of Questions: 26 Total No. of Pages: 08

9T : 03 TS

Time : 03 Hours

ERIR AhUsy ReT, fagwR — 2017
140
fawg : areiems

Subject: ECONOMICS
quries : 100

Maximum Marks : 100

faser —
(1)
2
3
(4)
(5)
(6)
(7)
(8)

Tt g7 Fer sfard &

5 77 qeglae 7o 7 &/

g% 5 F97 & =T 5 §o7 &/ 3V g9 g7 & [iRa 3iF 01 &/
97 THIB 6 @ Fo7T BHIE 11 TF [TEIT 3F 02 T AT 20 T
7 THIB 12 W 16 TP [FEHINT 3% 03 T HAT 30 T

7 BHIB 17 & 20 TP [FEHINT 3F 04 T HAT 40 T

7 THIG 21 & 24 TP [FERT 3F 05 7 HAT 70 TZT

T¥7 THIG 25 VT 26 TF [FEIRT 3d 06 5 HHT 100 I

INSTRUCTIONS: -

(i)
(ii)
(iii)

(iv)
(v)

(vi)
(vii)

(viii)

[140]

All questions are compulsory.

5 Question are objective types.

Per 5 Question are. In sub Questions are 5. Each question is allotted 5 marks.
(5 x 5=25)

Question No.6 to 11. Marks 02 and 20 words

Question No.12 to 16. Marks 03 and 30 words

Question No.17 to 20. Marks 04 and 40 words

Question No.21 to 24. 05 Marks and 70 words

Question No.25 or 26. 06 Marks 100 words.
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Objective Question:-

U1

U2

[140]

e / e feran— (5X1=5)

Write True / False:-

(1) oraegHant H gfg T8l Bl |
Wants do not grow.
(2) A IMATIHATY T B & |
Human wants are unlimited.
(3) 31fdrs ITe 3IfSd STHIT B ST <l & |
More production leads to more consumption.
(4) Wl 3R IR BT IYART AR eIl A H FED © |
Consumption of services & goods helps is satisfaction of human wants.
(5) T&G SR WARN @ IUAEAl IUGH YRl B SUSE W ARE
33 2 |
Availability of goods and services depends on the availability of produced good.
A /38y foran— (5%1=5)
Write True / False:-
(1) SreREn gfg @ Ar-wrer agalt iR Harel @ AT # o gnl 2 |
With the Increase in population, the demand for goods and services decreases.
(2) SUEH THIAT B 4= wU I & 9T § dfel T 7 |
Production units are broadly classified in two categories.
(3) T WMI Bl ATHIfAD T B WRIGER & UHh AT AT ¢ |
Current Income is the only means of Income for people.
(4) g Td HER IEMT & YIAET ¥ AfD SR 81 ¥7efd |
Promoting cottage and small Industries does not help in providing more employment.
(5) S U IATIGAT @ A & ol WRR wxd € S= URIR’ o #

[T ST 2 |

Those who buy for satisfying their wants are categorized as households.
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U4

9.5

[140]

el I ¥RT—
Fill in the blanks:-

(1) T RN Fo

(5%1=5)

I DI BIEdl T = S drell d&T W

gfeawr oI 2 |

In Controlled markets, the............. puts restriction on price and quantities to be sold.
(2) ST T BT BT ISR BT Udh SETENT 2 |

Fair price shops are an Example of ..., markets.
(3) I DI UH THIS BT a1 H A [BAT TAT AT SHD oo HEATAT T |

The value of a unit of goods expressed in money is called itS...............coceeeenen.
(4) YoTaTEl SffaRT H TR-T BT TATAT Bl B T |

The freedom of choice is called...............coooiiiiiiiin. in Capitalist Economy.
(5) AHTSTATGT STAGTTRRT ..o JdeRR % |

The Socialist eCoONOMICS Are........civiiiiiiiiiiiie e economies.
REESISECEIC I (5x1=5)
Match the following:-

A B
(1) SUwTeRIT GRef (1) i

Protection to consumer Goods
(2) oxgd IR Ja & & 2) IR

Goods & service Government
(3) 1857—1947 @) <F T @1 AroERN @

1857-1947 3 year plan
(4) daadta Ao @ ey ot (4)  fafewr s

Period of five years plan British rule
(5) 1966— 69 DI A (5) 1951

Period of 1966-69 1951

(6) df@ ay @1 rafer
5 year plan

el SR Pl BlIeh— (5x1=5)
Right the correct answer
(1) SAEH @ 311 T8d fafd | dqread—

Labour Intensive method of production means-

(A) STEA H YSil BT GANT e

No capital used in production
(B) TG H 19 BT HH YANT
Less labour used in production
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[140]

(C) T H 3NeH YSil BT TANT

More capital used in Production

(D) SUTed H UfT SH1s 31 5 3R HH Yol & GANT |

More labour and less capital per unit of output used in production.

ST B9 HAIT 87?

Who earns profits?

NEEIEED
Labour

(B) STHI
Entrepreneur

(C) o
Capital

(D) Tl
Buyer

el R fahar &1 Tw® Hal Bl 28—
Buyers and sellers interact in-
(A) dINIR
Market
(B) HTAT
Office
(C) YISl
School
(D) el T8l
None
dhdel Uh CETSIRCARCISIE hedldl %\'—

The market with only one seller is called-
(A) TRty
Competition
(B) ThIEIHNI
Monopoly
(ORI BEIN]
Imperfect

(D) PIS el
None
Page 4 of 8
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Uz

9.8

[140]

(5) faoa R T 9§ I DT BAAT § TG -
If Sales-Tax is imposed, the price of goods-
A 9
Increases
(B) el
Decreases
(C) Ig URacH &l
Do not change
(D) 7H & PIE Tl
None of these
G B & YHR for | (2)
Write the two types of Resources.
3141/ OR
JAMITIGARN & T GHR fora |
Write the two types of wants.
3ffgaRe H1 ITE &AAT H gl fhd UHR Bl Fabell &7 )
How can the production Capacity of Economy be raised?
3141/ OR
< H oY SR RN & I H T TR forar?

What is the scope of development of small-scale and large-scale industry in

the country? (any two)
GRTIATAT & MR WR GI9TR BT I IhROT BT | 2)

Write the classification of markets on the basis of the extent of competition.
317d1 / OR

=it &1 31T W HRI—
(1) HH D

2) dldd HHFd

Explain the meaning of-
(1)  Support price
(2) Token price
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9.10

g1

U112

U.13

U.14

[140]

e ™ & MuRe da gdren?

What are the main determinants of Economic Development?
31041 / OR

anfdfes TRl at e Bl 87
Why do Economic Problems Arise?
UIgfad FARA & THR qarsil| (B8 ]
Write types of Natural Resources. (any two)
31qq1 / OR

TRl & faff= gy STIRT /= 27

Write are the various sustainable use of Environment?
TR Ud At BT aTehRoT for |
Write the classification of Goods and Services.

31041/ OR

aefeaRelT H Rl Ud Harsll &I A Id1gd |

What are the Roles & Significance of Goods and Services in an economy?

e 3 FHEsY |
Explain the GATT.
31q1 / OR

Ueve 3 T AT 27

What is Patent?
STHERT H ST IToT R dId—dhi AT 27

What are the deposit schemes in post offices?
31e0d1 / OR

T B AT I3 |

Explain the benefits of Insurance.
Sl & a1 faevdr fora |
Write the characteristics of Private Sector.
31041/ OR

RISTHRT & UhRI Bl foral |
Write the type of Unemployment.
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U.15

.16

.17

U.18

9.19

.20

[140]

IAEd & YT P fora | (3)
Write the scales of Production.
31e0dT / OR

I WR & JH 8 & A= BRI B W I |
Explain the various reasons for low level of Productivity.
Scared fafer &1 T By | (3)

Explain the methods of Production.

a1/ OR

g8 ™ & SN &1 Agd ford |
Write the importance of Large-Scale-Industries.
JAITIBRNN & GIIBRUT BT AT HRA dTel HRS Id18d | (Sexd, Gfaers=d gd
farenRregel) (@)
Explain the factors influencing classification of wants into necessaries, comfort & luxuries.
31q1 / OR
JMATTHATSN ®I fIATARS I AT HHSTS |
Explain the characteristics of wants.
Y AN & Ao Bl W B | (4)
Explain the importance of small scale Industries.
31041/ OR

anfeier famra &1 ufshar # AmITe aRad=l & BRI BT I B |

Explain the relation between Economic Growth, Economic Development and Social

Welfare.

fashamell @ I3l B T I | (4)

Explain the objectives of the sellers.

31dr / OR

RGN R0 @ MR W d9IRI & dHROT BT W B |

Explain classification of markets on the basis of government control.

TQATAROT B IRUT &HAT BT A B | (4)
Explain the ‘Carrying-Capacity’ of the environment.

317q1 / OR
amfdies Hafg &1 ARl & WK B |
Explain the limits of Economic Growth.
Page 7 of 8 (1510)



U.21

U.22

U.23

U.24

.25

.26

[140]

TRIESRI BT AT fIRR | BT |

Explain the classification of Buyers.

31I4q1 / OR
ERIGERI & ARl BT W B |
Explain the means of Buying.
31l eraelT Bt faRryar forr |
Write the features of an Economy.
3e0dr / OR

JrfTIRRAT & UHR G |
Write the types of Economy.
IATEH, SUHNT 3R faer & 3fa:<deer qare |

Explain the interrelationship between Production, Consumption and Investment.

a1/ OR

MMATTHARN & BV TR HRD! B YA BT T B |
Explain the different factors which influence the classification of wants.

I @ U9 & BRI B T |

Explain the sources of Land Pollution.

317q1 / OR
I UG & BHROIN DI WL IR |
Explain the sources of air pollution.
SATG SHIS & dcdl dI FHY |
Explain the elements of Production Unit.
31041 / OR

CRICIRENERIDRRTCI
Write the Characteristics of Land.

fapTa B gaIfdd BT ITel BRBT Bl THSR |

Explain the elements affecting Development.
31rdr/ OR

difg® amer IfPeR forar |
Write the Intellectual Property Rights (IPRS)
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HA U DI AT : 26 B TSI BT T=AT © 12

Total No. of Questions: 26 Total No. of Pages: 12

BRR Ahvsy R, feawR — 2017
150

fawg : S I

Subject: HIGHER MATHEMATICS
(Hindi & English Version)

|HY : 03 TS quries : 100
Time : 03 Hours Maximum Marks : 100
fader —

(i) & geT s &

(i) 757 97 3 @vs 4 13 & @vs ‘" 3jiv @vs 7/

(i) @S " H fF TF §OT HHH 1 W 5 TF oGO §o7 & TAD
¥ 5 3F BT 8/

(iv) @V “§° % g7 HHH 6 & 26 dF <INF AHcy 77 74 &/

(v) T HHE 6 & 10 TF TAPB 2 b BT &/

(vi) T BH[E 11 & 14 TF GAF 3 3B BT 8/

(vii) I FHHE 15 T 21 TF JAF 4 3F BT &/

(viii) FI7 HH[E 22 T 26 TF JAF 5 3E BT &/

INSTRUCTIONS: -

[150]

(i) All questions are compulsory.

(ii)  Question paper has two section- section ‘A’ and section ‘B’.

(iii)  In the section ‘A’ Question Nos. 1 to 5 are objective type Each question carries
5 marks.

(iv) In the section ‘B’ Question Nos. 6 to 26 has internal option.

(v) Q. Nos. 6 to 10 carry 2 marks each.

(vi) Q. Nos. 11 to 14 carry 3 marks each.

(vii) Q. Nos. 15 to 21 carry 4 marks each.

(viii) Q. Nos. 22 to 26 carry 5 marks each.
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U1

U2

[150]

g 3’
SECTION - ‘A’

Rea Al @ gfd Sy — (5)
() i AT Taeell RIFTT 99 @ STTAR T oo 2
(i) orifren AR Tl A agyoid M & TTAR FF o 2 |
R RS LI RS 1 N 1 oo g |
(iv) e — Xhad fafdr & %?ﬁ e AHIBROT X — X - 5 BT A oo 2 |
(v) T — NHEd A | {5 @1 ‘2’ BT T A1 DA BT G 2 |

Fill in the blanks:
(i)  Related to the Numerical method, the formula by Simpson’sruleis ........................
(i) Related to the Numerical method, the formula by the trapezoidal rule is

(iii)  Method of false POSIHION IS ... ..ueiee e

(iv) The root of the equation x* — x — 5 near % by Newton Raphson’s method is

(v) By using Newton Raphson’s rule for finding the square root of a number ‘a’ the

fOrmMUIA IS .o,
NEECISIECEIET I (5)
TR 3y T T
(a) jb £ (x)dx = (i j: f(a+b-x)
(b) j: f(x)dx = (i) f(x) o B B
b a
(c) j f (x)dx = (iii) jo f (a—x) dx
@ [°fx=0af v [ f(x)dx+j:f (x)dx TTEfa<c<b

(€) jz f(x)dx=2j:f(x)dx,€r% (v) f(2a-x)="f(x)
(Vi) f(x)TH Bl B

. /2
(vii) IO cos x dx

Page 2 of 12 (2100)



Match the correct pair:

Column ‘A’ Column ‘B’
@ [ feodx= () [ fa+b-x
(6) [ fdx= (i)  f(x)is an odd function
(©) jb £ (x)dx = (i) [* f@-xdx
(d) jz f(x) =0, if (iv) j: f (x) dx +J' x)dx wherea<c<b
(€) r; f(x)dx =2 j x) dx, if (v) f(2a-x)="f(x)

(vi) f(x)is an even function

. n/2
(vii) IO cos x dx

43 Ud & /Iad H IR QIfoe — (5)
() IR TN x Ty & 99 99 WR BT TAHS I8 — T © dl r BT q4
BT |

(i) IfE ST TRI & 7 g —Aw=T BT MG 81 d, THASRIT &R 81 |

(iii) Iex (sin X + cos x) dx BT HIF T HTT?

(iv) ®Ig Bt f(x) o5 x, W IS g aI ' (x;) BT A9 BRI |
(v) x @ ST log (sin x) T Tadel BT |
Give answer in one word/sentence:

(i)  If there is a middle level correlation between x and y, then value of r will be.
(i)  If there is no correlation between two variables, the regression lines will be.

(i) What is the value of j e* (sin x +cos x) dx ?

(iv) A function f (x) has maximum at the point x;; then the value of f'' (x;) will be.

(v) Differential coefficient of log (sin x) w. r. t x will be.
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g4 fEfaRad duEl # 9 /3N gAY — (5)

i) @1 x B At ergwa ex(xz_l)%l
X X
(il Hﬁ:ﬁaﬁaﬁmﬁavﬁwéaﬂhﬁz;ﬂﬁ‘.

iy afeer e § IR o1 wu fafrg o A T8 g 2
(iv) X-31&T B faem # wrikg Afeer @ g — droard 1, 0, 0 B T |

v) g Py, 2) BIXY —FAd F T /x> +y> +2% EFMT|

Write True / False in the following statements.

(i)  Differentiation of €"/x. w. r. t. X is ¢ (X2_ D .
X
(iiy If a and b arenon coplanar then ‘5+B >|a +‘l§‘

(iii)  Vector addition does not obey commutative law.
(iv) Direction cosines of X axisis 1, 0, 0.

(v) Distance of the point P (x, y, z) from the plane — XY is yx* +y” +z° .

us5 8 fabey gaer forRay — ()
) g (3 25 @ X— 37 94 A T —
(@) 28 b) 29
(©) /30 (d) 3
(i) I PR Q & Freed (1, 2, 3) @AT (—1, 2, 1) € @ PQ & dH U
SH
(@ -2,0,2 (b) -2,0,-2
c) 2,02 d) 2,0, -2
(i) ¥t fI7g & AATA 6x -3y + 22 + 14 =0 DI I BAIT —
(@ -2 (b) 3
(c) 2 (d) 4
(v) I tan'a—tan'b=tan' x B, A x BT A9 & —
1-—ab 1+ab
@ a+b (o) a—b
a+b a—-b
© 1-ab @ 1+ab
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~ U & 3ife et ey —

X(x+2)
1 1 1|1 1
(@ —- () |-
X x+2 21x  x+2
1 1 1 1
c - d —+
(©) X+2 X @) X x+2
Choose the correct Options -
(i)  Distance of point (3, 2, 5) from X — axis is -
(@ /28 (b) /29
(c) 30 d) 3
(i)  If the co- ordinate of the point P and Q are (1, 2, 3) and (-1, 2,1) then direction ratios
of PQ will be:
(@ -2,0,2 (b) -2,0,-2
(c) 2,0,2 (d 2,0,-2
(i)  The distance of a plane 6x — 3y + 2z + 14 = 0 from origin will be -
(@) -2 (b) 3
() 2 (d) 4
(iv) lftan"a—tan"b =tan"x, then value of x is -
1-ab 1+ab
a b
@) a+b ®) a—b
a+b a—b
c d
(©) 1—ab @) 1+ab
(v) Partial fraction of ! is:
x (x +2)
1 1 1|1 1
(@ —- () |-
X x+2 21x  x+2
1 1 1 1
c -— d —+
(©) X+2 X @) X x+2
s — ¢
SECTION - ‘B’
U6 MR 3i-2j+4k AT i-j+5kD 9 BT BT AT DI | 2)

Find the angle between the vectors 3 - 2} +4kand i- 3 +5k.
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uvz

9.8

.9

v.10

[150]

31fdr / OR

-

afe a=i-2j+3k, b=2{+j-k R c=j+k T9 [a.b.c] BT T T BN |

If a=1-2j+3k, b=2i+]-k and ¢=]+k then find the value of [a.b.c].

I FHAA BT FHIBRYT A DI ST HAfd=g I 9 §HIS Bl g W & JoIl |faem
((+7+ k) o 7| (2)
Find equation of the plane which is at a distance of 9 unit from the origin and perpendicular

to the vector ({++ K ).
3qdqr/ OR

S el BT AfCY FHIHIOT UG B FHIBROT S HivTe gdT s (2,—3,4)
qer 3rear 5 2

Find the vector and Cartesian equation of the sphere whose center (2, - 3, 4) and
radius is 5.

Rrg HIRTT &1 AT 2i-3j+5kTAT —2i +2j+ 2 k TRER T &7 (2)

Prove that vectors 2i - 3} +5k and —2i + 2} +2k are mutually perpendicular.

3Aq1/ OR
afe ‘5‘=6 oI ‘B‘:s 3R a doT b 1 BIoT 30° B, I ‘Exﬁ‘ ST BT |
If ‘5‘:6 and ‘5‘:5 and angle between aand b is 30°, then find ‘EXB‘ .

Ixzsec x*dx T A T BHIFT | @)

Evaluate: .[x sec? x3dx

a1/ OR

dx ®T 919 Td DI |

cos/x
IR

COS\/_
Jx

Evaluate: I

j—dx BT 7T ST HINTY | )

1+ cos2x

Evaluate: I 1 2
Ccos 2x
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.12

9.13

[150]

3qdar/ OR

jl_smxdx BT 7 S DI |

Evaluate: Il—slinxdx

S el BT FHIHRUT S0 difvig e @ @& (R @ Acena (23, 4) iR
(5, 6, —7) T | (3)

Find equation of the sphere, coordinates of extremities of whose diameter are (2, -3, 4)
and (-5, 6, -7).
3qdqr/ OR

el 2x%+ 2y + 222-2x + 4y + 2z + 3 =0 B ®v5 Y4 AT ST HIRTT |

Find center and radius of the sphere  2x*+ 2y?+ 27°-2x + 4y + 22 +3 =0

Th NGT 3l & ST BV a, B, y IO 91! = | Rig S f — (3)
sin“aL + sin®p + siny =2
A line makes angle a, B, y with the coordinates axes, then prove that:
sin“aL + sin®B + siny = 2

3gdr/ OR
g PINY &1 fag AB,C R e ®wae (3, -2, 4), (1, 1, 1) TT (-1, 4,2) B,
FIEH 2 |
Prove that the points A, B, C whose coordinate are respectively (3, -2, 4), (1, 1, 1) and
(-1, 4,-2) are collinear.

gfe a T b g A T B @ Rufy wfkyr € a9 g ¢ &1 Rufa wfeer sma
I, A (3)
AC=3AB

If aand B,are the position vector of A and B respectively then find the position vector of a

point C on AB produced such that —
AC=3AB
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U.14

U.15

U.16

[150]

3qar/ OR
RIS ABC ¥ Yo BC &7 #ed fag D2 | g #Ifog &

AB+AC =2AD
In AABC, D is the midpoint of BD, Prove that
AB+AC =2AD

afe AfRT 23R b RER ofFad & a1 Rig HIu— (3)

DL .2 -2
a+b‘=a +‘b‘

If vectors a and b are mutually perpendicular then prove that:

O N S
a+b‘=a +‘b‘

3qdr/ OR
g SIS b SFeIgd BT BIOT FHBIOT BT ¢ |

Prove that the angle in a Semicircle is a right angle.

(I_X)zaﬁmﬁﬁﬁﬁr—vﬁﬁﬁﬂmaﬁm| (4)

Resolve

1—x) in to partial fractions.
—X

3qdar/ OR

Lﬂﬁmﬁmﬁ?ﬁﬁﬁﬂmaﬁﬁm
(3x+4)

Resolve SX—+12 into partial fractions.
(3x +4)

g ISy &1 — (@)

tan'x —tan”y = tan™
Prove that —

tan'x —tan”y = tan™
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[150]

a1/ OR
g T @1 —

43 . a8 T
SIn —+SsIm —=S81In —
5 17 85

Prove that —

43 . a8 T
SIn —+SsSIm —=S8S1In —
5 85

IfT y = x + tanx & I g HIT @7 — (4)

2
cos? xd—Z+2x =2y

dx

If y = x + tanx, then prove that

2
cos? xd—Z+2x =2y

dx
AAdT / OR
Ife BT,y = xsinx &I, a Rig SIRT & —

2
d )
—y=2cosx—xsmx

d x>
If y = x sinx, then prove that
2

d )
—y=2cosx—xsmx

dx?

g y:\/logx+\/logx+\/logx ................ oo ﬁ ar (4)

S dy _ 1
R @ dx_x(2y—1)

I y:\/logx+\/logx+\/logx ................ o, then prove that j—i:ﬁ'

AAdr / OR
JfE y = a cos (logx) + b sin (logx) &I, a1 Rig BT @7 —

242
cdy by
dx? dx

+y=0

If y = a cos (logx) + b sin (logx), then prove that

242
X d2y+xﬂ+y20
dx dx
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U.20

U.21

[150]

Rig ®INTY 6 x & 0 791 & 1T () = x + sinx JEH Bl © | (@)

Prove that the functions f (x) = x + sinx is increasing functions for all values of x.

a1/ OR
T MATDHR AR DI AT 10 T/ Abs I T F9H <X I 9 &l o | Tl &
IS ehdl § gy fod o) A Brft Safed swa 2ear 15 |41 81 |

The radius of a spherical balloon is increasing at the constant rate of 10 cm/sec. At what

rate is the surface area increasing when the radius is15 cm.

Fr=feTRad sifrel | ®Tel [UTHT BT Fe—T= Od S HIfoT | @)
X 1 Ja [3 [4 5
Y |2 |5 |7 s 10

Find Karl Pearson coefficient of correlation from the following data:

X 1 2 3 4 5
Y 2 5 7 8 10
a1/ OR

g BITY & Aedw=g Uil BT A9 —1 F 1 & &4 Bl 2 |
Prove that the value of coefficient of correlation lies between -1 and 1.

i RO gRT aTferR 9 70 ¥ Hed & AId 9T H Aqiedh Sfod Jed 91

BHITY — (4)
TqIfeTIR | YTl
3iAa 7 ) | 65 67
A9 faae= | 2.5 35

QI RN H 9% @ Gl el H AsARE + 0.8 % |

Find the maximum proper price at Bhopal corresponding to the price of ¥ 70 in Gwalior
from the following data:

Gwalior Bhopal
Average Price ) | 65 67
St. dev 2.5 3.5

Coefficient of correlation between the Price in two towns is + 0.8
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U.23

[150]

3qdar/ OR

FfeTRad aridrel | Y &1 A9 S HINIY, T x = 70, TAT T8 AH 0H 0.8
3

HIEY 18 100
CIECCCIE 14 20

Find the value of Y from the following data when x = 70 and coefficient of correlation is 0.8.

X y
Mean 18 100
S.D 14 20

R1g ®INTT & &7 TR IAdal 2x -2y +2+3 =0T dx -4y + 22+ 5=0D &I
B A 162 | ()

Prove that the distance between two parallel planes 2x — 2y + z + 3 = 0 and
4x -4y + 22+ 5=01is 1/6.

3T/ OR
IH FHA BT AHIBROT S DIFOTY ST fawgall (1,—2, 4) T (3, —4, 5) ¥ BIAN
ST © 9 9Add x+y—2z=6 UR oI &I |

Find the equation of the plane that passes through the points (1, -2, 4) and (3, -4, 5) and
perpendicular to the plane x + y — 2z = 6.

g PINY & 77 B x = 3 a5 W aRdad 3— (5)
3x, x<3

f(x)={3, x=3
x2, x>3

Prove that the following function is discontinuous at point x = 3.

3x, x<3
f(x)=43, x=3
x2, x>3
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32dr/ OR
lim —Smsx_'smk BT A ST PO |

x—0 sin X

. sin 5x - sin 3x
Evaluate: lim ——
x—0 Sin X

%@_ ?R v"75/2 dx _

T
0 J+tan’x 4

(5)

/2
Prove that: J-n d—X:

T
l+tan’x 4
31dT / OR

forg R [

0 1+sinx

Prove that: [ d),( =2
0 1+sinx

TP FHIDHRT (5)
d—y=Z+ta‘tnlEﬁS{ gl Py |

dx x X

Solve the differential equation:

dy y+tany
dx x X

=2

3erar/ OR
JTh T THDRT (1+x) +2xy 4x>=0 DI B DIV |

Solve the differential equation: (1+ x2)d— +2xy—4x*=0
X

I YATPR U Th AT Bb OId & | Ugel I U I GAT AT ST BT ANTH 9
MM BT UIRIBar ST ST | (5)

Two Cubical dice are thrown simultaneously. Find the probability of getting an odd number
on first dice or getting the sum 9 on two dice.

3dar/ OR
TE Jel H 5 ATl TAT 7 Plell WS 2| TR H 4 el T7 3 & IS F | IS Al
A 1 A M@l IRl 71 wiiedr sa Sk & -
(1) TH g oA g U g el &1
2) TP Iig & T UP g Blell o |

A bag contains 5 red and 7 black balls. Second bag contains 4 blue and 3 green balls. 1
ball is drawn from each bag. Find the Probability for -

(1) 1redand 1 blue ball

(2) 1 greenand 1 black ball
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151
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Subject: INFORMATICS PRACTICES
(Hindi & English Version)

quiies : 075

Maximum Marks : 075

e —

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

Instructions:

[151]

(i)
(ii)

(iii)
(iv)
(v)

(vi)

(vii)

wft goT sfaard &

geT BHIF 1 W 4 dF qeGT B/ §9% Jald Wel GV &1 g, R
w1 gid. @/, el el Aagy /7 7Y & gdlE 59T & 5
3F &/

g7 FHE 5 & 20 F RF [QAHeq 7 717 &/

g7 HHF 5 @ 8 TF FdF J97 & o 2 3/ [FEiRa &1 gav &ar e
30 5 8/

goT FHIE 9 G 12 TF FAF FIT & o0 3 3 [FERT &/ vav dar
T 75 T &/

g7 HHE 13 & 17 % JAF 97 & o0 4 & [ERa & sov &ar
TTHT 120 9% &/

go7 HHlE 18 W 20 TF B Fo7 & o0 5 3 [FERa & gav dar
TTHT 150 9T &/

All questions are compulsory.

Question Nos. 1 to 4 are objective type questions which contain choose the
correct answer, fill in the blanks, True/False and Match the correct pair. Each
question is allotted 5 marks.

Internal options are given in question Nos.5 to 20.

Question Nos. 5 to 8 carry 2 marks each. The word limit for answer is 30 words.
Question Nos. 9 to 12 carry 3 marks each. The word limit for answer is
75 words.

Question Nos. 13 to 17 carries 4 marks each. The word limit for answer is
120 words.

Question Nos. 18 to 20 carries 5 marks each. The word limit for answer is
150 words.
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ﬁw%@aﬁ@ﬁww%@?— ()

(i)

FATSC /IR TRAIDHIE H UHTH & FAlsc 9N Bl Hed o—

(en) g @) WS
() Scre™ (8) dH—vvs
ReT I W 8eM &1 BT HRaAT B—

@) Input @) Instr

(@) Trim () Str
<SS Alsgd &l fawRe 4 &

(@) «Bas @) «Frm

(|) -Cls (@) -frx

STl & AT IR & GUE P Had o—
@ T @) @
(@) <ud &) <9«
PL/SQL &7 STfart = 2rar 8—

(@) feeiver @) iR
(@) v (7) <@

Choose the correct alternative and write-

(i)

(i)

(iv)

In client/server application the client part of the program is called as-

(@) Module (b)  Front-End
(c) Database (d) Back-End
In a string the space can be suppressed by-

(@) Input (b) Instr

() Trim (d) str

The extension of standard module is-

(a) e+Bas (b) <Frm

(c) <Cls (d) efrx
Collection of logical structure of data is called as-
(@) Query (b) Schema
() Tuple (d) Table
The compulsory section of PL/SQL is-

(a) Declaration (b) Execution
(c) Exception (d) Block
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O S S IESTS O STl died BT 2 |
(i) TRTTT BT oo FIEIS gRT TR B 2 |
D RS A ATZSNIST BT © |
) N STl T8Y H PIs IRMied =&l B B |
(V) MOVE NEXE eoeeeeereeeeeeeeesseseeeessesseeesssssseessessseseeesssssseesessesssseeesssessesesse s BT HITS T |

Fill in the blanks-

() ERMOAEIIS @ «ueneeieieie e data model.

(i)  Avariable is declared by ...........ooiiiiiiii keyboard.

(iii)  ReferenCe are ... ... libraries.

(iv)  There are N0 parameters iN ........co.ouiuiiiiiiii e data type.

(V) Move Nextisamethod Of.........oiiii e

T / 3 ddTgu— (5)

() SYBASE U& 9% UUS T 2 |

(i) I I B TRE B B & UR=g d dog Resd o 3 |
(i) ATSS WM SDI & 9NT B & |

(iv) YAIDHIE g HIH<eM Uh G Ufhar B |

(v) f&=dT +ft fg"R &1 DROP TRIGGER %Hi€ ¥ Beld & |

State True/False

(i)  SYBASE is a back-end tool.

(i) Function are like subroutines but they return value.
(iii)  Child form is a part of SDI.

(iv)  Replication and Fragmentation are similar process.

(v)  Any trigger can be removed using DROP TRIGGER command.
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o o

el vilsl d4qIgU—

)

()

@)
() TFR STIM (a) ST Bglel
(i) INT (b) SQL
(i) S<T fofd eRR (c) WIeIdia
(v) F d TR
(v) ADODC (e) P STIUTH I BH H gl
(f) I STAU™
Match the correct pair-
A B
(i)  Structure diagram (a) Data control
(i) INT (b) SQL
(i)  Data Link Layer (c) Protocol
(iv)  Query (d)  Numeric
(v) ADODC (e) Convert IP diagram to frame
()  Class diagram

By Ref T By val H 3=} feTRRay | 2)
Write the difference between By Ref and By val.

31U4d1 /OR
P UEIGe TAT FSS0S UEIRE Bl IaTeR0T Aled FHeEy |
Explain Key attribute and derived attribute with example.
VB & ®Ig W & RST vaRM &l Rivcad Afkd aw=msy | 2)
Explain any two string function in VB with syntax..

31U4q1 /OR
MDI TIT SDI # 3faR forfRey |
Write the difference between MDI and SDI
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sqL &1 fagyand forRav |

Write the features of SQL

341/ OR

PL/SQL & divhice JMUNSI BT STANT fol @Q |

Write the use of concatenate operator of PL/SQL.

WIS TR & o forfau |

Write the advantages of Stored Procedure.

3Idr/OR

% ROWTYPE &I 3Tex0l Ifed 9SSV |

Explain % ROWTYPE with example.

PL/SQL ¥ ST SOae &1 87 3! faeyany forlkey |

What is database transaction in PL/SQL? Write its features.

3I4dr/OR

PL/SQL ¥ SHAMGRIC B TG THRIfIRIC HRaR H 3iax forfRay |
Write the difference between implicit cursor and explicit cursor in PL/SQL.

VB ¥ IF - THEN 3 &1 Rieag g Serexor gy forfau |

Write IF-THEN statement with syntax and example in VB.

341/ OR

VB ¥ gdv URIIGIR G2l UTuc! URToN &l oSSV |

Explain Event procedure and property procedure in VB.
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VB # ADO THiS Meide &l Ricadd Afd IHsisy |
Explain ADO command object with syntax in VB.

341/ OR

VB ¥ Udh Ple foIRgu &1 100 ¥ 0 T &I GAT BT fiic oY |

Write a code in VB to print numbers from 100 to O.
PL/SQL % JOIN & faff=T yepR HHSISY |
Explain various types of JOIN in PL/SQL.
31041/ OR
CREATE TABLE ®HIS &I ficad defl IaTevvl §RT HASIEY |
Explain CREATE TABLE command with syntax and example.
wfere fewoft ferRay—
() DDL &cHH
(i) eI feF
Write short notes on-
(i)  DDL statements
(i)  Data Dictionary

31qdr1/OR

TIRd TR b Reiw=Rg &1 f$ral o1 goia Fifsi |

Describe all types of Degree of Relationship.

VB ¥ I8 STl dold HIueil &l sy |

Explain all properties of Data control in VB.
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31qdr/OR

VB & Bls IR YR & T B U BT |

Describe any four types of errors in VB.

% TYPE I SN0 gRT THSSV |

Explain % TYPE with example.

31qdr1/OR

PL/ SQL =i 9979 & =9 forfRau |

Write the rules to make PL / SQL block.

PL/SQL & CHAR d2IT VARCHARZ <cT TIsU 9H3SU |

Explain CHAR and VARCHARZ data type in PL / SQL
31e0d1/ OR

LOOP-END LOOP YccHe &l Riead Il SeIexv gRT WHesU |

Explain LOOP-END LOOP statement with syntax and example.

U417 Tre UROR 9 Baerg § 3y foTfRav |

U.18

[151]

Write the difference between stored procedure and functions.
31e0d1 /OR
COMMIT T@T ROLLBACK &T SUIRT HASSY |

Explain the use of COMMIT and ROLLBACK.

DDLC & faff= =R |4y |

Explain various steps of DDLC.

Page 7 of 8
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341/ OR
RereaT dfed & fagvan vd Rt folRau |
Write the features and limitations of Relational model.

U419 VB H TR 3fTeolde Pl A4l UTORSIST dl FHSIST | (5)

Explain all the properties of Error object in VB

31qdr/OR

VB # HewcIF T Bl 87 SaTexvl Afed dHesy |

What are subroutines in VB? Explain with example.

720 |ET F g AT ()
() Ree A i
Gy serfirs
Describe in brief-
()  Record SetObject
(i) Data Grid
312ra1 / OR

VB & SELECT- CASE ¥cciic &l Riead dT Serexv gRT WHssy |

Explain SELECT- CASE statement with syntax and example of VB.
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Subject: Drawing and Designing
(Hindi & English Version)

quTies : 100

Maximum Marks : 100

e —

(i)

(ii)

(iif)
(iv)
(v)

(vi)

BT VR BV & GEer & TS 11°X15” JTHIN B FIFT e & qhfeT Huv
PI7 G¥ ST Xl TR B VT TG A QYT TAT GHET BT BT AT WIS
W W fofay

3 T FIET W P IHIN B ST H a7 B TG o/ vIc a7 &1
FH HF [T/

fRffa ¥ar fam &) o,/ giee ¥ g gof diford/

=TT &7 39T &Y 1T vEr ord/

TGUS 3’ §oT BV HfAard 8 @IS I F @ BT VB YT BV 8/
YIVAT BT SIAETT 91T § g1 3/l & g9 & GV oI THT 30 Il H gl
3B & gel B GV 120 I F Aot/

INSTRUCTIONS: -

[162]

(i)

(ii)
(iii)
(iv)
(v)
(vi)

Before starting your work write clearly in ink your Roll Number in figures and
words, subject and Name of examination centre at the top right hand corner of
the given drawing sheet of 11"x15".

Make your drawing according to the given drawing sheet.

Complete your drawing with water/ poster colours.

Be careful about cleanliness:

Section ‘A’ is compulsory. Attempt any one part from section ‘B’.

In the section History of Indian Arts answer the questions carrying two marks
in about 30 words, 5 marks questions in about 120 words.
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¥gug—3] / Section — A

A= / Composition
f=ferfad fawal & @ f&dl v fovy R Suyad gy dfzd R g
TS /URER A ¥ o IR | o § @9 W BH A9 AFarGic’l B A
F_ (50)
(i)  THOT Sfed
(i) DI IRAT AR

(i) STSTR BT g2 |

Draw my one of the following subjects with proper background and finish it with
water/poster colours. Minimum three human figures are essential in the painting:

(i)  Village life

(i) Any Indian festival

(iii) A Market scene!

¥gus—9 / Section — B

3 hRIT / Design
frfoRaa fowal & & &=l 1o @ foru Aife srddaxy a8y, R UTaias
31eraT ST AT P SMHRI BT YANT fHaT S AHT 8 /MBI & U Al
HIT BT T / URER [0 A qof DI -
(i) URS BT IMMerad
(iy T ® GG BT 3MMelEd
(i) VA BT IMMelE+

Draw an original design of any one of the following subjects. Natural or Geometrical or

abstract shapes be used in it. Complete one fourth portion of it with water/ poster colours:
(i)  Design for curtain
(i)  Design for hand fan

(iii)  Design for Rangoli
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31fdr / OR

YRAI hell DT SfasT / History of Indian Art

U1 el SR BT II9 DI — (1X15=15)

Choose the correct answer —

OIS R I 2 B S | H IHIVT T |
@ TorARdl

@ el

() wfet

The sculpture of Khajuraho is carved in ..........coooiiiiiiiiii e .
(@) Royal Palaces

(b) Caves

(c) Temples

(@) o

@ &

@) I

The painting titled ‘Zameen’ is the painting of ...
(a) Raza

(b)  Husain

(c) Bendre

) R RS BRI T L s o 1 1 A = faar e

@) T HHR Belax

(d) ST SThY

The beginning of Bengal Schoolwas done by ...
(@) Nandlal Bose

(b)  Asit Kumar Haldar

(c) Abanindra Nath Thakur
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(iv)

(Vi)

E IR AR ere - S ¥ dfolddell AhTd & eel 9+ |
@) T
geraT

@

~—"

(®) &R

Shri N. S. Bendre became head of the Deptt of Fine Artsat ...
(@)  Mumbai

(b) Baroda

(c) Dhar

..................................................................................... & fUar Ry qm AT &R @ o |

The father of ..., was Sikh and mother was Hungerian.
(@)  Yamini Roy

(b) N.S. Bendre

(c)  Amrita Shergill

ATHAT T BT T oo ¥ gaTT o |
(o) HeRTS

@ e

(9) ToTer

Yamini Rai was DOrn in ..o
(@) Maharashtra

(b) Bengal

() Rajasthan

GORTET BT ARTBAT H e fawg avg v 2|
(1) Fftem
@ <98
@) '

In sculpture of Khajuraho ..o subject matter is the main.
(@) Muslim

(b)  Christian

(¢) Hindu
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(ix)

(@) Nandlal Bose
(b) N.S. Bendre

(|) exrst

The south Indian Bronze sculpture of ...........coooiiiiii is famous.
(a) Kartikeya

(b) Ganesha

(c) Natraj

........................................................................... @ foral # R ywrg gfieTter g 2 |

@) e

@) U T 9

The European impression is seen in the painting of ..., .
(a) Raja Ravi Varma

(b)  Yamini Roy

() N.S.Bendre

SIEGIR e CAS TG IE; (G e B ST | o B = S o |

(1) T
(@) #As5TE
(@) @ma
.............................................. was the chief centre of Renaissance of Indian Art.
(@) Mumbai
(b) Madras
(c) Bengal
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(xii)

(xiii)

(xiv)

(| Ho™

Nand Lal Bose worked as ateacherin ...........ooooiiiiiiiiiiii e, .
(@)  Mumbai

(b) Shanti Niketan

(¢) Madras

Yamini ROY WaS ...t .
(a) Artist

(b)  Archaeologist

(c)  Sculpture

I R | 11 g 3 2

@) ®. B TR

@) eara 99

(4) SraeilTg T STpR

‘Shir — parvati’ is the famous painting of ... .
(a) K. K. Hebber

(o) Nand Lal Bose
(c) Abanindra Nath Thakur

............................................................... DI ST SI&OT HAART & HICIRT Tfq H 3T off |
@) e R

@) B B. TR

@) TA T I

................................................... was born in village Kattigeri of South Kanara.
(@) Yamini Roy

(b) K. K. Hebbar

(¢) N.S.Bendre
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AT oY SRy (TP 2 3BT D)

(Very Short Answer Types Questions) (2 marks each)

GoRTal dal Rerd 57 g&T FAT B HRarr?
Where is Khajuraho situated? Who built it?
31e0d1 / OR

JIReI™ HId & Uqd [IFeRI & M a8 |
Give the name of Artists of Renaissance Period.
T, Q9. I DI ST g AR Bl gAT AT?
When and where N. S. Bendre was born?

31fdr / OR

decTd 9 B URTE BATHIAl Td YD HIT—bI Al o7

Which were the Famous paintings and books of Nand lal Bose?

Fexmo qfel fba arg @ Fffia gg 2° g8 qfd gaqr H del Rerd 87

@

(2)

(2)

From which metal Natraj Sculpture is made? Where is this image Found in recent days?

31Iq1 / OR
AT 9 BT OTH B AR Bal Il oar?
When and where Nandlal Bose was born?
T, U, I BT IS b4 9 4 9w wu 9 o7

In which area of art N. S. Bendre contributed?
3141 / OR
GoRTE! H 3ifhd 9 el & 7 g |
Write the name of three sects of Khajuraho.
TH. U, O DI ST Bal gAT AT? D! UG bl Piadl & M o |
Where was M. F. Husain born? Write the name of his Famous paintings.
3191 / OR

YARTST WA’ BT ST B AR PHal gl AT?

When and where was Dhan Raj born?

Page 7 of 8
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Y ITG g (TAH U 5 Abl D)
(Short Answer Questions) (5 marks each)
97 TORIE &I Bl BT Alea ol BIf | (5)
Write in short about the art of Khajuraho
31e1d1 / OR

GoRTE! O AV 9% & ARAT DI |
Describe about the subject — matter of Khajuraho.
g8 TS T Whel & IN ¥ Aferad aReg <R | (5)
Describe in short about Bengal Art school.
31e0d1 / OR
S Thol & [hol &l REFABRI & dal & IR H ol |
Write about the art of any two painters of Bengal school.
U9 THE IAC Whel & dR H IR DI | (5)
Describe about the Mumbai Art School.
31e0dr / OR
3AT IRATA @1 e e a9 |
Write in brief about Amrita shergill.
.10 IS XA a9 & Siiad Ud daArRlell & dae § Afer faa=eqr Sy | (5)
Write in brief the life sketch and art style of Raja Ravi Verma.
317d1 / OR
ATAAT R & IR H e o forfer |
Write a short note on Yamini Roy.
U1 TH. U, g4 &1 Gfera Siae aRke i | (5)
Discuss in brief the life sketch of M. F. Husain.
31e7d1 / OR

L 0L I AR B IR H e org falRed |
Write a short note on D.P. Roy Choudhury.

3191 / OR
axg—f=r=01 / still life
3MYS AAY W §I 9] e Bl BRI g YR GErT gy I I A & A1
SIel / UIRER 1 ¥ gof BIfTg | (5)

Draw the objects put before you showing light and shade and paint it with water/poster
colours with proper background.
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owg : 9 I

Subject : SOCIOLOGY
(Hindi & English Version)

| : 03 HUC quries : 100
Time : 03 Hours Maximum Marks : 100
faser —

() & g7 ST &

(i) HeT FBHF 1 & &5 T TG0 F97 & B J97 & 5 & [T 8/
(iii)  Fo7 PHIFE 6 & 10 TH FoAF J97 & [0 2 37 [FERa &/

(iv) o7 FHHIHE 11 & 14 TF JdF J97 & [0 3 37 [T &/

(v) o FHHIE 15 & 21 TF JdB J97 & [0 4 37 [FERd &/

(vi) FIT HHIE 22 G 260F FAE [IT & [0 5 b [T &/

(vii) FIT HHIE 6 W 260% IAH FIT H e [Adey &Y 77 &/

(viii) JRF F¥T & [oI7 AT IH FTAD GHG Jidbd &/

INSTRUCTIONS: -
(i) All questions are compulsory.
(i)  Question Nos. 1 to 5 are objective type Questions. Each question is allotted 5
marks each.
(iii) Questing Nos. 6 to 10 are allotted 2 marks each.
(iv) Questing Nos. 11 to 14 are allotted 3 marks each.
(v) Questing Nos. 15 to 21 are allotted 4 marks each.
(vi) Questing Nos. 22 to 26 are allotted 5 marks each.
(vii) Internal options are given in question Nos. 6 to 26.
(viii) Marks allotted to each question are mentioned against the question.
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g1 Raa e 31 gfd sifm— (1X5=5)

() R od & RTIAT o Sical

(i) HRT BT AT T oo DI AT B3|

(i) g gRaR H GREAT BT o HE T |

(iv) WRT H T A’ W& BT GANT A G ... = foar |

(v) Sf 3RSHR - WAFdl ¥ Uge BA ST BT oo ol e
Harer febar |

Fill in the blanks: -
i)  The ‘Sikhism’ was established by ...........................

(
(i) The Indian constitution applied inyear ................ccooeene.
(i)  The Head of the Joint family iscalled ...........................
(

IV) e used the word “Scheduled Caste” first in India.

(v)  What name was given by Dr. Ambedkar to untouchables before Independence?

g2 = H ¥ 92l fadbed g foriey — (1X5=5)

[166]

Choose and write the correct option for the following -

() oY F=¥d 9 4§ Fifdhd H | $IF 9Rd & Ugel gufd Haifed gy —

(@) =T oa Rig @) WEBEI 3fell AT
(@) Sf. SR gaq (@) I T UL 9l 3rgd HAM
Who elected the first president of India among the following from minorities?
(@) Gyani Jail Singh. (b) Fakharuddin Ali Ahmed
(c)  Dr. Zakir Hussain (d) Dr. A. P. J. Abdul Kalam
(i) “IRG H ST qAT T GRS D —D BT A & —
(@ < T T @) @. TH. PHuafsar

(@) Sf. 9raE a9 @) <UL e
The Author of the book “Caste and class” in India is -
(@) G.S. Ghurye (b) K. M. Kapadiya
(c) Dr.Bhagwan das (d) D.P. Mukherjee
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(i) e AT SANATSOeA” YId & ohd BT A © —

@) fa7g AR WHR @ W TE Uy

() e et el @ A v e
The Author of the book “Hindu social organization” is -

(@) Binoy Kumar Sarkar (o) P.H.Prabhu

(c) Radha Kamal Mukerjee (d) M. N. Shriniwas
(v) TR ¥ qaiaRoT & Gefed aam aRema g —

(@1) SR &1 @) TRIDBROT BT
(W) e ey @ (%) T @
The problem related with environment is the result of -
(@)  Industrialization (b)  Urbanization
(c) population growth (d)  pollution

(v) YRd H f&d Ta=Ea 5 SERI BROT Bl UihAT Y TR fhar?
@) RR¥=T @ @) ot TR
(@) sfe=T e @) #9 HAreq Rig
Which prime minister started the process of ‘Liberalization’ in India?
(a) Narsimha Rao (b) Rajeev Gandhi
(¢) Indira Gandhi (d)  Man Mohan Singh.

U3 | /3a ey — (1X5=5)

() oI U A e e e &1 ufear 2 |

(i) U ST BT SFALIROM T HAA GOl 1 UK D |

(i) RT H TISTT SMRNT BT AT I 1950 H BT TS |

(iv) WRT H TSR o7 T B RITET 99 2002 H B |

(v) O A RERR 8IHR Wl B dTel HYDBI Bl Heild 93 & $HYb PHal Sl & |

Write True/False -

(i)  Basically Industrialization is the process of economic development.
(i)  Radha Kamal Mukherjee present the concept of “Dominant caste”.
(i)  The “planning commission” established in the year 1950 in India.
(iv) The National seed corporation established in year 2002 in India.

(

v)  The people who do farming after retiring from army are called gentle farmer class.
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el Srel g918d: —

@)

qRer fare ()
A §g & 99U BT A (ii)
T T ¥Ifed Bl =T (il
o9 g9 (iv)

AR # oM ods & o (v)

Match the right pairs -

a)

(

(b)
()
(d)
(e)

e

(A)

Muslim marriage

The child hood name of Gaulam Buddha
Creator of Guru Grantha Sahib

Jainism

The shanti Niketan Established in India

Udh e H IR feIlgy —

(i)

(ii)
(i)
(iv)
(v)

(i)

(if)
(i)
(iv)
(

v)

(1X5=5)
@)
NEESEIDISRIIN
HEER T
fRrgref
Td ARG AT

o T <d

(B)

i)  Ravindra nath Tagore
i)  Mahaveer Swami

iy Siddhartha

iv) A Social Compromise

v)  Guru Arjun Dev

(1X5=5)

HRA H SHIGRI oIl B I Bd AR BaNl?

TRA ¥ Afer IRTA &1 v aar forlRgu?
IRIR TSN 3R ATIGR! RT &1 ST aTell R7eT & o1 $8d 87

TRT F JTHOT &3 H TEUR BT BIAT AR AR 87
IR H IHFHT AR H 70T = a1?

Write the Answer in one word -

In which year the zamindari abolition was applied in India.

Write a problem of “unclean slums” in India.

The education given by family, Neighbours and kinship is called?

Which is the most popular means of mass media in rural area in India?

Who established the ‘RAMA KRISHNA’ mission in India?
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[166]

R H 790 M 9Tl IR AIERi & = forRau |

Write the name of four festivals celebrated in India.

3dr/ OR

IRT ¥ fewgatl & fh-gl aR el Il & 9™ ferfay |

Write any four pilgrimage of Hindu in India.
YRA H ST ael & &l ] feIlay |

Write two demerits of caste system in India.

3Iar/ OR
IRA H SIoMfd &1 &1 faerdany forRag |
Write two features of tribe in India.
UfergTRYe SURTH @1 & A=Ay oy |

Write two Assumptions of Historical approaches.

312041/ OR
YRA H e & &l SUNTH & A oy |
Write two name of approaches for studies in India.
IRA # e &1 a1 Fa o |

Write two problems of education in India.

312041/ OR
ST GAR Dbl aRETT fARaY | (P18 UF) |
Write the definition of mass media. (Any one)
IIRTY BT HIg a1 faRvarg fafay |

Write any two features of Crime.

3Idr/OR
81 & a1 BRYT faRag |
Write two causes of Violence.
IRd H fewg faare &1 a9 faRivan forfey |

Write three features of Hindu marriage in India.
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3Idr/ OR
qRer fare & G Rgrwany e |
Write three features of Muslim marriage.
912 AYFd YRR BT 31 Td U gk foriey | 3)
Write the meaning and a definition of Joint family in India.
312041/ OR
AIERT @1 9 AR Bl 8?
Which are three categories of kinship?
913 ‘gRT wifd’ &1 31l xSy | 3)
Explain the meaning of Green Revolution.
91/ OR
TRA HIT & T FHRIHG TRomd faRay |
Write three positive Results of Green Revolution.
914 dedieRor &) A faRwany fiRav | (3)
Write three features of globalization.
3Iar/ OR
99 g 9 R U Gferd A faRau |
Write a short note on ‘New middle class’.
U.15 MEMH WRA H Thar & ddl Bl aR fgeil gRT awengd | (4)
Explain the Elements of unity in modern India according to four points.
312041/ OR
Aiiifersn fafdear @ MR W YRa &1 {6 IR 9ri fwfsa fear Siar 2

In which four division (parts) we can deivide India on the Basis of Geographical Diversity.

U6 TV WHETT &) IR LA oy | (4)
Write four features of Rural community.
3Aq1 /OR

TR T & IR faRvarg fafey |

Write four features of Urban community.
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[166]

STTfer a2m o¥f ¥ s TR 3idx forfau |

Write four differences between caste and class.

SIqr/OR
IRA H 7 fIoM & SR |AsTg |
Explain the Basis of class-division in India.
1S fdare &1 =R faeryard forfy |

Write four features of Christian marriage.

3141/ OR
qRd H R1Er 31 aR |HR oy |
Write four problems of Education In India.

IRA H I & AR FAIfOAl IR Udh G okg forfay |

Write a short note on the challenges before the state in India.

31dr/OR
YRR AU # ARTRGT BT &1 S dTell IR W=l bl &7
Which are the four types freedoms given by the constitution of India to the citizens?

TRAI AT R SENDHRT & IR g91g fIRau |

Write four effects of Industrialization on Indian society.

3Aq1 /OR
GXPHIT BT BT YIedTs o dlell Dls IR Gy oy |
Write any four conditions encouraging sanskritization.

TRT T O GIR & Dlg IR AT BT A |

Explain any four means of mass media in India.

3Ydar/OR
Rd # e & Sewy flay | &g =R |
Write the objectives of education in India. Any four
IRA ¥ Sael 9fG @ Bl urd BRUT forfey |

Write any five causes of population growth in India.
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[166]

AU /OR
TRT § SHI{bdT & q8cd Dl A9SSY |

Explain the Importance of Demography in India.
A URaR & ufg faRivany forfey |
Write five features of Joint family.
3Aq1 /OR
R FEhd B By Urg RARETG faRyarng faRay |

Write any five Traditional features of Indian culture.

YT SISl o T AR ey | S8 U |

Write the main problems of scheduled tribes. Any five.

AT/ OR
R d AR B AT S TIITT HIdl 8°

Which are the social problems of women in India?
IRA & Af9E H ANRES & Aifeld TABRI BT i BT |

Explain the fundamental Rights of citizen in Indian constitution.

AU /OR
TRA § ANRDI & Hifeld bl bl THSSY |

Explain the fundamental duties of citizen in India.
M Ao Bl faRIvdd faaRag | wig uf= |

Write the features of social movement. Any five.

31erdr / OR
291 @ T gRYTYT Ud ghR foIfRau |

Write a definition, and types of violence.
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Total No. of Questions: 20 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017
168
fowg : gv—wgd
e, RS Tos s (@er W)

Subject: HOME SCIENCE

Anatomy, Physiology and Hygiene (Art Group)
(Hindi & English Version)

|HY : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
faser —
() & g7 AT &/

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

Instructions:

[168]

(i)

(ii)
(iii)
(iv)
(v)
(vi)

(vii)

T HHIH 1§ 4 TF g0 97 & FAP P [or7 5 3 [FERa &/
g7 FHIE 5 @ 20 TH TH FFI F 3R F [Adey T 17 &

T FHIE 5 @ 8 TF JAB FIT & [7¢ 2 3 Jraed & g & g
TTHT 30 FT5) F Aforv )

T FHHIF 9 @ 12 TF IAF F97 & [o/7 3 3 Jyraied &/ ge & gV
TTHT 75 TG F Hforg )

T HHF 13 & 17 T FAF J97 & [0 4 3F Jyaied &/ g9+ & gav
TTHT 120 FT=) & Hforv )

T HHB 18 & 20 TF FAF F97 & o7 5 & Jyaied &/ go4 & g%
TTHT 150 FT&) & Aforv )

All questions are compulsory.

Question Nos. 1 to 4 are objective type. Each question carry 5 marks.
Internal options are given in question Nos.5 to 20.

Question Nos. 5 to 8 carry 2 marks each. Word limit 30 words.
Question Nos. 9 to 12 carry 3 marks each. Word limit 75 words.
Question Nos. 13 to 17 carry 4 marks each. Word limit 120 words.

Question Nos. 18 to 20 carry 5 marks each. Word limit 150 words.
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IS I

(Objective Type Questions)

91 el fdbeu gaay forRay— (5)
@n) arRer woom # AT BT B
) Tl Ya<d BivTD] (iy ¥Id IFA BIOTDI
(i) lcelcd (iv) <RIDT
@) A9 IRR FH G TR b1 R BRe arelt ufRr 8-
() e (iy ATIHA
(i) UARRITS (v) fogw ufer
(@) I At @ oIy Maedd 5
() fder= — v (iy fderd= — 4t
i) faerfis — < (v) faerfe — @

@) focrmady wioe &1 aref § —
(i) AT uerRf B el HFd TR 999
iy T qaferdl S BRd WR g9

(
(ii)y IS H T IO @ A1 DI e
!

(9]

(i) NTM (i) AT
(i) dffereex (iv) S|
Choose the correct option-
(A) Produces in bone marrow-

(i)  Red blood corpuscle (i)  White blood corpuscle
(i)  Platelets (iv) Lymph
(B) Which gland control all other glands of the human body-
(i)  Pineal body (i)  Thymus
(iii)  Thyroid (iv) Pituitary gland
(C) e, is necessary for health gums-
(i)  Vitamin - A (i)  Vitamin - B
(iii)  Vitamin - C (iv) Vitamin — K
(D) Food adulteration is selling-
(i)  Food items at high cost (ii)  Inferior quality at high cost

(i)  Food mixed with inferior quality of food (iv) Less quantity of food

(E) The strongest fiber is-
(iy Silk (i) Nylon

(i)  Polyester (iv) Dacron
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[168]

(& IS 151 B S B ST K S RIS 11 i AT 2 |
OIS 2 ESEd S AT P & A BT B |
() TASTOIDBRIT oot goM & RIgra R meiRa T |
YRR I R IS =R T3 =
) dIfE vd fadr &1 uvIfdd &R arel &7 T B I
Fill in the blanks-

(@) e is formed by combination of oxygen and haemoglobin
(b) Diabetes is caused by the deficiency of............ccooiiiiiii, hormones.
(c) Dehydration is based on the principle of removal of ..o
() e is the famous embroidery of Kashmir
(e) The two main factors that influence growth and development are ......................

........................... AN o
T arer A SR EIY— ()

(8) SuHIET fHd Hed 87

() HPm oY fodt Fed &7

Give the answer in one sentence-

(A)  Write the equation of respiration.
(B)  Write the main function of Kidney.
(C) Whatis Canning?

(D) Who is Consumer?

(E) What is artificial fibre?
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()  STUIET MM

iy o9 S B dHRN

(i) <Ml — D9y
(iv) HAMdRd O]

v) X+Y

Match the columns-

A
(i) Indirect Income
(i)  Three ‘D’ disease
(i)  Tomato ketchup
(iv) Man made fibre

(v) X+Y

U5 goidel BIeanmd b ded 87

What is Electro cardiogram?

341/ OR

B

Acetic acid
Rayon

Silk

Boy

Free Transport
Girl

Pellagra

RIT fh¥ Bed ©° IRIeT BT &I BRI a7 87

What is Lymph? Write the main function of lymph.

[168]
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[168]

el Xad BIOThT &l IS A Ud Hrd forRay |
Write the scientific name and functions of Red blood corpuscles.

341/ OR

YFd b BIs al BRI fIlRgu |

Write any two functions of blood.

3RO BT TSI Ud &Tell & UINeh dedl IR A1 G91d ISdl 57
How does germination affect the nutritive value of grains and pulses?

31eraT / OR

HUIYT & By IR HRYT fIRAY |
Write any four causes of Malnutrition.
W & B <1 Hifds o7 forfay |

Write any two physical properties of Rayon.

31qdr/OR

BT B Ty anawd: Iy B AT &7

What things are required for embroidery?

TR I B AT falRay | (@1 ©)
Write the symptoms of Marasmus. (any six)

341/ OR

IO, JffY T 3R fI9IY HHT BT AHSST |

Explain under nutrition, over nutrition and specific deficiency.
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910 T &I AER H I AT 27
What is the importance of milk in food?

3e0d1 / OR
AT YT B BRI TG 70T foIlRgu |

Write the cause and symptoms of Night blindness.

.11 fidmae e & S foRau |

Write the preventive measures of Adulteration.
31e0d1/OR

F.P.O. &I WUAT &9 g5 a7 59 HRI folRag?

When was F. P. O. established? What are the function of F. P. O.

Y12 SUYIHT & BIs IR SIRGAT ATV |

Explain any four responsibilities of consumer.

3Idr/OR

fAelige &1 WY W T Y9Td Usdl 27

How does adulteration affect health?

U413 Sqoi dF Bl 9T THSSU |

Explain the structure of excretory system.

31e0d1/OR
URTLATEISS B & IRR H T A8 57
What is the importance of Parathyroid Hormone?
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U.15

U.16
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[168]

THICR &1 U 99 @1 fafdr faRay |
Write the method of preparing Tomato Soup.

341/ OR

IR BT TUHE ofd GHg {91l &1 e @ anRy?
What precautions should be kept in mind while taking temperature of a patient?

®eTg Ud Relg & $Is IR g G911y |

Explain any four principles of cutting and sewing.

31eraT / OR

T RIS rad 999 b= 91al &1 &a= Y& arfeu?

What things should be kept in mind while sewing?

deghH & Plg &l FHl DI AHSY |
Explain any two laws of heridity.

3I4dr/ OR
qIATERYT b1 TRUTNT Td YehR FHESY |
Explain the definition and types of Environment.
fereiRraRen #1 faRivand fafay | (@ @r)

Write the characteristics of adolescence. (any four)

341/ OR

YR B AT fb= 91al BT €19 IQ=T AR T?

What things should be kept in mind while doing exercise?
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.19

.20

[168]

Explain the internal structure of Heart.

31eraT / OR

R YfGDHROT B UfhdT HHASST |
Explain the mechanism of blood purification.
&Y P &I 7S Hi Al 87 FHSY |
Explain the items (head) of expenditure.

3Idr/OR

(5)

(5)

golc fhd ded 87 goic fhdd UBR & BId 8¢ I AT goic Jaraq & AR Fi?

What is budget? How many types of budget are there? Which budget is the best and why?

AT Yqref WRE B @& 9@l HRUT FH8Y |
Explain the external causes which spoil the food.

3I4dr/ OR

T ERETUT & Fe3T AHSSU |

Explain the aims of food preservation.
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Subject: PHYSICS
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faeer —

INSTRUCTIONS: -

(1)
2

3
(4)

(5)

(6)

(7)

(8)

9)

[210]

(1)
(2

(3)
(4)

(5)
(6)
(7)
(8
)

Tt goT sfarf &

7e7 97 3 @US # [@Wiford &1 @ve 6 H qegii §eT 74 79 & 09
GUS §* H Jfd TYFTNT, TG FANT T ° FAIT 797 foF T &/

goT BHIE 5 @ 20 TP AP g9 8 il Reey 73 13 &/

go7 HHIH 1 G 4 TP FAP J97 GV 5 3P Jraied 8 foragd gid IugeT
gv 1 3 3ared &/

go7 HHH 5 @ 8 dF Fddb §¥T GV 2 3F Iraied &/ I HF T 30
T

go7 HHIE 9 @ 12 TF TAH J97 GV 3 3 Jraied 8/ I HEr T 75
g

go7 HHIE 13 @ 17 TP JAB F97 UV 4 3F IJraied &/ I HF TTHT
120 G

To7 FHIF 18 & 20 TF TAH F97 UV 5 3iF Jraicd &/ I HEr T
150 G

HTHIHATR o ¥ TS T a7 T /

All questions are compulsory.

Question paper is divided into two parts. Part “A” contains objective type
questions. Where as in Part “B” there are very short answer, short answer and
long answer type questions.

Internal options are given in each question from qu.no.5 to qu.no.20.

Each question from question no. 1 to 4 carry 5 marks and each sub question
carries 1 mark.

Each question from question no. 5 to 8 carry 2 marks. Word limits approx-30
words.

Each question from question no. 9 to 12 carry 3 marks. Word limits approx-75
words.

Each question from question no. 13 to 17 carry 4 marks. Word limits approx-120
words.

Each question from question no. 18 to 20 carry 5 marks. Word limits approx-150

words.
Draw neat and labelled diagram wherever necessatry.
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Yvs "3A”°/PART “A”
U1 IS U W A W el § ¥ 98l [dwen gaex foaRkay— (1x5=5)

(31) TP dell¥ MM H gelagi=i &I HeaT el 8-
(i) 546 X 10” (i) 625 X 10"
(i) 16 X 10 " (iv) 9.0 X 10"
@) fazga enRar &1 S 95d 2
(i) B (i) ¥ e
(i) ®eE (iv) ¥ el

([) I U g areld DI Grfcdd TR gRT Yedl J SIel Sl 2, d—

() dTerd F WM gedl R A 7 |

(i) TTeId F Sagd el R I 7 |

(i) T & FoIGS ATeTd WR M 2 |
(iv) T ¥ Ui Areid OR A ¥ |

(@) 3NEHT iR &
IESIERSIRIS] (i) TP ISP STATS
(i) TirRex (iv) dId &7 TR

(3) <iael A H fAgd Jvecy -

()  H.SO, (i)  MnO,

(i) NH4CI (iv) CuSO4

[210] Page 2 of 8 (5320)
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[210]

Select the correct alternative in each of the following:-
(@) The number of electrons in 1C charge is-

(i)  5.46 x 10% (i) 6.25x10"
(i) 1.6x10™ (iv) 9.0x 10"

(b) The S.lunit of electrical capacity is-
(i)  Farad (i)  Stat farad
(i)  Coulomb (iv)  Stat coulomb

(c) When a positively charged conductor is earthed by a metallic wire, then-
(i)  Protons move from the conductor to earth.
(i)  Electrons move from the conductor to earth.
(iii)  Electrons move from earth to the conductor.
(iv)  Protons move from earth to the conductor.
(d)  Ohmic resistance is-

(i)  Junction diode (i)  Light emitting diode
(iii)  Transistor (iv) Copper wire

(e) The electrolyte in Leclanche cell is-

(i)  H2SO,4 (i) MnO,

(iii)  NH,CI (iv) CuSO,
X Rl BT gfT BIfTe— (1X5=5)
@) T I ACTHITR BT TR oo sees e seee e BT B |
@) FIBR FAT TR THT BIT BT A .o BT T |
RS IS L 1 O o & Sgdd 2 |
CIRS IS D I BRI 2 1 A BT B |
(3) 9T UBTI H Udell fhed & T fCEE T BT BRI, =
Fill in the blanks:-
(@) The resistance of an ideal voltmeter mustbe............ccooiiiiiii e
(b) At magnetic poles, the angle of dip. iS....c.oviiiiiii
() Lenz'slaw is in accordance withthe law of.............cooiiiii i,
(d) The time period of geostationary (Communication) satellite is..............cccoeeveinnnn..
(e) The cause of a thin film to be seen coloured in white light is.................coooiianl.
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U4

[210]

(1X5=5)
qh. | W9 9 qh. | T 9
3 oIF BT &THaT (i) 2f
C| CERIRERZING) (ii) Nl
A | RS geAgell dl e ewar | (i) | Srsifex
Ed ol BT ATHD vy |,,D
f
3 BICH BT [k Gq (v) | geleciH—dlee
Make the correct pair:-
S.No. | Column “A” S.No. | Column “B”
a) Power of lens (i) 2f
b) Radius of curvature (R) (ii) Zero
C) Magnification power of simple | (iii) Diopter
microscope
d) Unit of energy (iv) . D
+_
e) Rest mass of photon (v) Electron-volt
T® U9 BT SR TP a1 H SIRT0— (1X5=5)

)
@)

2|

(
(
)

a4

(@)
(b)
()
(d)
(e)

NPN T2 PNP SifSTer & ®I9 aiftie Suanf 8| aom «n?

VR SIS BT Pis U IUANT foRay |

AND € &7 Udie 99153 |
RIS d fha g ) &1 a=ar 82
LASER &1 31T foifRad |

Give answer of each question in one sentence:-
Which of the NPN and PNP transistor is more useful? why?

Write any one use of Zener diode.

Draw the symbol of AND gate.

What is the principle of optical fibre?
What is meant by LASER?
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.6

Uz

9.8

9.9

[210]

gvs "9° /PART “B”
fag[d e guihd § He9 BIS g WA g9l o’ o'l @b fAfHRol b AW
o | (2)

Name the radiations of minimum and maximum wave lengths in the electromagnetic
spectrum.

3Aq1 /OR
U & e H $iF B & WF W UleRgS Wgad fBar simar g 17 aar?
Why do we use Polaroid’s in sun glasses, instead of coloured glasses?

WRracH fFd ded 87 wRaad & A forlRay | 2)

What is reflection? State the laws of reflection.

3Aq1 /OR
favermue fafr & <91 U9 & 9/ @& S d, o9 & BIHd U f D IR T A
31feres <t STl € | i?
In displacement method, the separation d between the two pins must be more than four
times of the focal length f of the lens. Why?

gehTel fagd g H— (2)
(i) <l SATYRT T (i) PRI HeT DI AHASA |

Explain the meaning of-

(i) Threshold frequency and (ii) Work function in photoelectric effect

Idq1/OR
SI-ATell TR R 87 SI—FFell BT a7 FHIHR0T fIRad |
What are de-Broglie waves? Write down the de-Broglie relation.
Ut 9 feftea Rvde # @18 a1 oraR foafRad | 2)
Write any two differences between analog signal and digital signal.
3e0dr/OR
=1 alecst ®RI & foTg 19 sfapl aTel Tt @rs ot |
i 2 (i) 5
Write down the binary code of three digits for the following voltage level.
(1) 2 (i) 5
3 &1 g foaRad | o & e a1 @ e &2 (3)

State Ohm’s Law. What are the limitations of Ohm’s law?

3d1/ OR

frar & g folRa |
Write Kirchhoff’s law.
Page 5 of 8 (5320)
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.11

U112

U.13

[210]

faqeaTd & TR @1 daTs 280 . W Udh Iaiel el Hdfeld sIdl & | Sid oldefiell el
D WM W SIS Hl ST ST & T Gl 200 WHI. IR WIS BIAT & | 41 el &
faeId aTE® I B JoIAT BINTY | ©®)
A Leclanche cell is balanced on length 280 cm of the potentiometer wire. When Leclanche

cell is replaced by Daniel cell the balance point is obtained at 200 cm. Compare the emf’s
of two cell.

a1/ OR

Y A B AT &F 718 |

Draw labelled diagram of Dry-Cell.
IS IR A I B gd 9 BIHE & drd Q@I 8 Al UlAfdd baEr g HEl GTe

fpRoT BmRg i | (3)

An object is placed between the focus and pole of a concave mirror. Draw ray diagram to

show the position and nature of the image.

312041/ OR
fefl W & forg arg & AeT Hifdd BT 45° B | S ARIH BT ICHIG AT
HIRTY |

The critical angle of a medium with respect to air is 45°. Calculate the refractive index of
the medium.

IRATID Td MR quishd & B o4 faR forRady | (3)
Write any three differences between real and virtual spectrum.
3141/ OR
ﬁl@iﬁﬁml auw x wug xgua =1
Prove that: auw x wug x gua = 1
3ve fHd PEd 2?7 SHGT Rigr aHesy | (4)

What is shunt? Explain its principle.

AYqT /OR
q gaerg dear 1, b A0S gcd H, Jdler °cd V Td AT D17 0 § Hay
S aTel 3 e DI |

Derive expression showing the relationship, between the intensity of earth’s magnetic field

I, it's horizontal compound H, vertical component V and angle of dip 6.
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U.15
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[210]

Fer gRIY @7 27 39 97 B 8l 87 397 DIs & SuAN forlkay | @)

What are eddy current? What are their disadvantages? State any two applications of them.

31e0dr/ OR
SR Ud ARl SRR § BIs IR el IFdx forRay |
State any four correct differences between step up and step down transformer.

& Sl UfieT &1 $Hals h ek 7| g SR 6 s gt @ 9d8 ™
d=+2hR & RIS TR faT ST AHaT &, e R YAl &1 F3ar 7 | (a)

A T.V. antenna is of height h meter, Show that it can be used to transmit the signal up to a
distance d =+/2hR on the earth’s surface.

3141/ OR
TR BT 99 w1 57 g SINY 6 U uReell da IR gFex $Iv W srufd
gahTeT fawor & forg uRraftda qerm suafiia el ve gaR W dgaq 8Kkt €|

What is Brewster’s law? Prove that for the light incident on a transparent surface at

Brewster’s angle the reflected and refracted rays are normal to each other.

U AYdd geHasll H AWGID ol DI AMaET WHAT — 40 B 9AT TF o bl
BIHE GO 5 WHI & | geAaelt @ Ifiead saed el fha+l Brf? (W gfte 9
AT 0 D =25 |HI) @)

In a compound microscope, the magnifying power of objective lens is -40 and focal length

of eye lens is 5 cm. What will be the maximum magnifying power of microscope? (Least
distance of distinct vision D = 25 cm)

312041/ OR
urfefe greell @1 quie 7= fdgall & smaR WR BIfoy |
() =AHIfRa XErteE, o9 siftm gfafds s gfte @ =gaq 8 ) 9|
(i) SR el @ ddgAl v g g gfafda—
(a) 3= WX &4
(b) W e B FATH I R a4

Describe terrestrial telescope on the basis of the following points.
(i)  Labelled ray diagram, when final image is formed at “D”
(i) Expression for the Length of telescope tube when the image is formed at-

(@) Infinity
(b) Least distance of distnct vision
3ITATH AIGeIR (AM) TIT 3T Aigeled (FM) § dig IR 3faR el | (4)

Write any four differences between amplitude modulation (AM) and frequency modulation
(FM).
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AU /OR
femofy ferRer—
(i) Do (iy HrH
Write short note on:-
() Fax (i)  MODEM
T T T3 fIRey 9am g9@ §RT Bel| &1 gobd aFf a4 g g | (5)

‘State Gauss’ theorem and use it to derive the coulomb’s inverse square law.

AT/ OR
JE—S! TTH SIF &1 aui9 =fiRad ofivel & sidiid difcTe—
(@) =mHifea o
@ fug@a
(@) SuanT

Describe Van-de Graaff generator under the following points.
(a) Labelled diagram

(b)  Principle

() Use

Uh FHAA JATPR ISl & WD & (oY Asid RIMUT BT | $FHT A
fhd—fh ®ReT IR AR H=ar 27 (5)

Establish expression for the self inductance of a plane circular coil. On what factors does it
depend?
31791/ OR
gITad! gRT aRuy & fog = @iee wenfua sifg—

Pav = Vrms X Irms X COS 9
Obtain expression. for the A.C. Circuit-
Pav = Vrms X Irms X COS 9

fasCTRoT @RI 27 P-N G ST &1 3fg R4 AR & ®U H IUIRT BT gl
o ofifat & AT ()
(@) uRuer &1 AMifhd =

@) e der foefa fava &1 999 @ 9 gRade /e

What is rectification? Describe use of P.N junction diode as a half wave rectifier under the
following heads.

(a) Labelled circuit diagram

(b) Graphs showing the variation of input potential and output potential with time.

3°1ar / OR
TIfers fhd ded 87 TivRex &1 Qe &1 9ifd SUINT gRuY NG Tiads
TS |

What is an Oscillator? Explain the use of a transistor for as an Oscillator with circuit
diagram.
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220

fayg : ~aH I
Subject: CHEMISTRY

|AA 1 03 HOC quifd : 075
Time : 03 Hours Maximum Marks : 075
fader —

(i) & geT S &/

(i) FET FHEH 1 @ 4 TF TGTO Fo7 & FoT 3F 20 &/

(iii) F¥T FHE 5 @ 8 TP, JAF F97 2 b @71 &/ (157 AT 30 T5)
(iv) F97 FHIE 9 & 12 TP, JAF F97 3 b BT &8/ (7 AT 75 T5)
(v) FT FHIE 13 & 17 TB, B 97 4 3F BT 8/ (7 S 120 <)
(vi) T FHIE 18 & 20 TH, FAF F97 5 & BT 8/ (7 AT 150 )
(vii) F¥T FHIF 5 @ 20 TP, I<ARF @By 77 TF &/

INSTRUCTIONS: -
(i)  Attempt all questions.
(ii)  Question Nos. 1 to 4 are objectives types. Carries total 20 marks.
(iii) Question Nos. 5 to 8, each question carries 2 marks. (word limit 30 words)
(iv) Question Nos. 9 to 12, each question carries 3 marks. (word limit 75 words)
(v) Question Nos. 13 to 17, each question carries 4 marks. (word limit 120 words)
(vi) Question Nos. 18 to 20, each question carries 5 marks. (word limit 150 words)

(vii) Internal choice is given to question Nos. 5 to 20.
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el fadeen i — (1X5=5)

Choose the correct option:

(@) o Bfwd T+ g Al § URATIRN & Her —

i 1 (i) 2
(i) 3 (iv) 4
No. of atoms in body centerd cubic cell is -
i 1 (i) 2
(i) 3 (iv) 4
@) <@ H @IS B AEHG MR B S § —
() <Tod SIfadH® (i) Hfsae fae=
(i) SN ST (iv) &TRIT IMATS ST
Quantitative estimation of glucose in blood is done with the help of -
(i)  Tollen’s reagent (i) Benedict Solution
(i)  Bromine Water (iv) Alkaline lodine Water

@) O werd &1 e wRa g —
() T Brerferfors | (i) wrerfalma 9

(i) TPTI FIATT (v) S8 | IS a8l

Plants prepare starch in process of -

(i)  Flash photolysis (i)  Photolysis

(i)  Photosynthesis (iv)  None of these
(T) NaCr fohea BT G —

(i) TeqHeTe iy =™

(i) TaoHerHTeT (iv) THh-are

Structure of NaC/ | crystal -

(i)  Tetragonal (i) Cubic

(iii)  Orthorhombic (iv)  Monoclinic
(8) @l goor o wafa & -

) faem= 9 (iy <A

(i) TETRROT (v) @

Hardy Schultz law is related to -

(i)  Solution (i)  Co- agulation

(i)  Peptonisation (iv) By gases
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Raa w1 &1 gfd SIfory — (1x5=5)

DR ERNC S G R A 2 |
(iy T TSI UR LTdD TATADI DT TTADUT cooooeeeeeeeeeeeeeeeeeeeeeseeeessesessseeeeneeee B B |
(i) aroligd 37T Bl BTgsIolgd 3T A fhaT BRAT TR o T BIT © |
(iv)  TIBRIATBROT UIETT BT e R DI JHTad A8l HRal |
RO 57110 L A, b A9 BT SUANT Falfdd 8iar 2 |
Fill in the blanks —
() Diethyl ZINC S @ ouiueiiei e compound.
(i) Onincreasing temperature the conductivity of Metallic conductors.....................
(i)  When Benzoic acid is treated with Hydrazoic acid ...................c..ooeeee. is formed.
(iv) De naturing of proteins does not effects ................c..oooei structures of proteins.
(V) e inert gas is used in advertisement mostly.
SERSISICRIFCES (1X5=5)
Yus—3 Yus—d
(@) g uawed W 5
@) SRaddr (i) IR fafe
() ccrg.NO, (i) PreEde ARTH
@) frms sfyeds (iv) FAAT Seiagi
(3) oIR gare JIfTd (v) faerd = By,
Match the following:
Section — A Section — B
(a) Magnetic Material (i) IF;
(b)  Anaemia (i) Chloropicrin
(c) CCr3.NO, (i)  Organometallic Compound
(d)  Grignard Reagent (iv)  Unpaired electrons

(e) Inter Halogen compound (v)  Vitamin By,
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U Teg H IR QI —

() B RIeR &1 re 93 falRady |
(i) OIS H SURId g% &1 AW 918 |

(i) PR D SUAR H START Afpa T B9 AT 87

(iv) D I fod Had 57

(v) TR 3 @1 vefifeeiiaver Jat T8 Brar &7

Write answer in one word —

i)  Write chemical formula of Horn Silver.
i)  Name the bond present in proteins.

(
(
(
(

iv)  What is solid ice?

(v)  Why acetylation of tertiary amines are not possible?

g Y dEd 87 SR I |

What are emulsions? Give example.

31fdr / OR

ISR fhd dad %? SaleXU] _C(pff\lrl—al
What is Auto catalysis? Give example.
IR I T WA B B |
Why inert gases are monoatomic nature?

31491 / OR
HF &7 &Id @I didal § 1 T8l @1 SIar 87
Why HF is not stored in glass bottles?
fr=feRaa Il & IUPAC =M forlRed |

(i) Ha [CuCly]
(i) [Ni(CO)4]

Write the IUPAC names of the following compound.

(i) Ha [CuCly]
(i) [Ni(CO)4]

Page 4 of 8
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31491 / OR
feforad IUPAC M aTel dgdt & AT g foalr |
() ST ST BIW
(i) Fohe

(i) UeT PBIEI=TeT MR (0)

Write the chemical formulae of the following-
(i)  Tetra amine copper
(i)  Sulphate
(i)  Penta carbonyl Iron (0)
98 RNA IDNA. H Pig aI 3R forley | 2)
Write any two differences between D.N.A. and R.N.A.

3191 / OR
STl H goreiiel |1 fIeifie & M Td S M| | S I @ A foRead |

Write the names of any two water soluble vitamins and write the names of the disease

caused by their deficiency.
9 d@UFG H SIT TAT 3Mfad Gade H Hde iy | (3)

Derive the relationship between elevation in boiling point and molecular weight of the
solute.

31e0d1 / OR
qroe Bt G IR | A WErIdT ¥ STUMR S1d $R b1 G ol |
Write down Van't Hoff Formula. Give formula used for calculating molecular mass with its
help.
g.10 Fr=feRaa &I uR9Iivd Iy — 3)
() BT BT H
(i)  ATTIHST
(i)  ATHerar
Define the following terms -
(i)  Henry’s Law
(i)  Mole fraction
(iii)  Normality
[220] Page 5 of 8 (1950)
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31491 / OR
rfeRae o1 aR9TiNT SR —
(i) omesl faera
(iiy  fagRor
(i) 3FTES faer =
Define the following terms -
(i)  Ideal Solutions
(i)  Diffusion
(i) Non- ideal Solution
Cu*¥TTEIF & U= Cu ** M9 BIel & | ai?
Explain why Cu* is colourless while Cu 2+ is coloured.
3141/ OR
koCr,0, @ T ITART forfRed |
Write 3 uses of k,Cr,05.
AUTSS TR BT GUD PRAT FAT DS 27 AR |
Why is it difficult to separate lanthanide group? Explain.

AYdT / OR
TS E g UdeAss (d 3R f <) ddl H dlIg 3 =X ferfRay |

Write any 3 differences between Lanthanide & actinide (and f block) elements.

SRR AHIBROT T 2° SHD] SUARTAT FHRY |
What is Arrhenius equation? Explain its importance.

371d1 / OR
fhaor Hoil R Wi e foRkey |

What is activation energy? Explain.

f=feTRad arg @ Q1 3Pl & ARG & 9 9 G (R |
() TgHTH, iy TNi®

(i) e (iv) arar
Write names and formula of any two ores of following metals-
(i) Aluminium (i)  Zinc
(i) lron (iv) Copper
Page 6 of 8

(1950)

(3)

(3)

(4)

(4)



U.15

U.16

17

[220]

31erar / OR
fr=ferRad st argell @ dees, 9 SuanrT forRey |

OHEEESTRG Ea (i) et

(i)  TT (iv) o id
Write composition and uses of following alloys-

(i)  Duralumin (i)  Brass

(i)  Bronze (iv) Stainless steel
GREIERES

(i) PIfdeT UHE Uefor (i) AT UhH

Explain —

(i)  Carbylamines reaction (i)  Raschig process
3141/ OR

TS —

(i) ST gRIeqor (i) BASIBY fafer

Explain -

(i)  Wourtz’s reaction (i) Hunsdiecker reaction

IRYE Tehieel T 57 $H DY -7 ST 27?

What is absolute alcohol? Explain its preparation.
311491 / OR

fpve b Ped &7 A |
What is fermentation? Explain.

UIRTITT § Tiled 99 &1 fafr &1 goi| sifsu —
() HIfbT = (i)  FHIHROT

Describe the laboratory methods of preparation of Acetone.

(i)  Labelled diagram (i) Chemical reaction
3gdr / OR
TRIfe® aret a9 &1 e Rk fafdr &1 9uie siforR—
(i) AMifha = (i)  AHIBROT
Describe the quick vinegar method of preparation of acetic acid —
(i)  Labelled diagram (i)  Chemical reaction
Page 7 of 8
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What is corrosion? Write factors affecting it and methods to prevent it.
31e0d1 / OR

[ el BT Al d o B |

Describe dry cell with labelled diagram.

BRGRT & Ufg STl 37t foIRay |

Write formula and structure of any five oxy acids of Phosphorus.
31491 / OR

SO, TAT CO, B faRe fohar # sfax o |

Write the difference between the bleaching actions of SO, and CO..

=1 sitwela Wi & Ifhy gcal & 9™ don vy STarT forRay |

(v)  3TgarEr
Write the uses and active ingredients of the following medicinal plants —
(i)  Garlic
(i)  Haldi
(i)  Amla
(iv) Tulsi
(v)  Ashwagandha
31e0dr / OR
AT 3R ATHASID H U 5 3R T 57

What are the main 5 differences between soap and detergents?
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231
fowg : Shg fasm=

Subject: BIOLOGY
(Hindi & English Version)

|HI : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
fader —

(1) & ge7 T &/

(2) Ho7 D% 1 & 4 G% JegiT0 F97 & forgd aiid dglaset], Rad il
@ gict vp @ § Goav GiiY el SISt g9 &/ 76 §e F gia-uie
IUgeT &/ Fcddb SUFeT Gv TP TP 3 Jraied &8/

(3) TVGITT F¥I & Biv FaaRgRadT & T §F & [foreEgTT gred o/

(4) FIT HHF 5 @ 20 TF JAF 7 Iles [Qeeq &Y 717 8/

(5) o7 HHF 5 @ 8 TF JldTgocaeid F¥7 &/ FIF UV 2 3F Faed &/
Fcdes go7 T SV T 30 Isql d [y

(6) H¥7 HHIFE 9 W 12 GF Tgocaad F¥7 &/ FAF GV 3 & Fidled &/
Jcde g9 BT SV TTHT 75 IIsql d [y

(7) FIT HHE 13 @ 17 TF JEHGTIT F97 8/ FAF GV 4 3F Fialed &
JE 97 BT STV TTHT 120 TGl d ey

(8) HoT FHIF 18 & 20 TF EHITIT ¥97 & FAF Uv 5 3 aled &/
JE G99 BT STV TTHT 150 TGl d [erfgw )

(9) IITIIHAFEN G5 §q TFHlHT 37 757/
INSTRUCTIONS: -

(1)  All questions are compulsory.

(2) Question No.1 to 4 are objective type which contains multiple choice question,
fill in the blanks, answer in one sentence and match the correct pair. Each
question has five sub questions. Each sub question carry 1 mark.

(3) Start answering the objective type question from the first page of answer
booklet.

(4) Internal options are given in the question number 5 to 20.

(5) Question no. 5 to 8 are very short answer type question. Each carry 2 marks.
Write answer of these questions approximately in 30 words.

(6) Question no. 9 to 12 are short answer type question. Each carry 3 marks. Write
answer of these questions approximately in 75 words.

(7) Question no. 13 to 17 are long answer type question. Each carry 4 marks. Write
answer of these questions approximately in 120 words.

(8) Question no. 18 to 20 are very long answer type question. Each carry 5 marks.
Write answer of these questions approximately in 150 words.

(9) Draw neat and labelled diagram wherever necessatry.
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gug ‘31" Section “A”
ERTT&FS U3 [Objective Type Questions]

gdP dgdbedl SUUTH H W ¥El SaR BIehR AUl IcRyRddr  H
ferRag (1X5=5)
(1) ufcat @& MY (fFARY) 9 STt 81 & Bed -
(1) fdg =@ @) O
&) waae (@) arefieRor
(2) VAT B
@) faerffa g @) faerfea 4,
@) faerma= @ @) faeras 4,
@) = # 9 fad gIwgTaT @ 9T |affde gkt 8-
(o) T (@) ofaforar
@) TR™ (@) R
(4)  AIDS AT Berdl g—
@) SR | @) rcroleT |
@) a9 @) %™«
(5) uRRefds d3 # ool @& Ed 8—
@) @ @ ATP
@) drei H AT e (@) = odE
Select the correct option from the given multiple choice sub questions and write in
your answer booklet-
(1) Water loss from edges of leaves is known as-
(A) Guttation (B) Transpiration
(C) Respiration (D) Evaporation
(2) Riboflavin is-
(A) Vitamin A (B) Vitamin B,
(C) Vitamin C (D) Vitamin By,
(3)  Which of the following is having most capacity of Regeneration-
(A)  Amoeba (B) Obelia
(C) Ascaris (D) Planaria
(4) AIDS is due to-
(A) Bacteria (B) Protozoa
(C) Virus (D) Fungus
(5) Source of energy in Ecosystem is-
(A) Sun (B) ATP
(C) Sugar formed in plants (D) Green plants
Page 2 of 8 (830)



g2 Rad wmE @ gfid sifeg | (1x5=5)
(1) FARIMBA B THE HUCTD T.coreooooseoeeosoossoesoesoessoessoessoesssessoesoessoessoeseoesoes =
CYIS 2 B O ol i K 1 1 PHEA B |
(3)  TATT TATARTT TQGRT...oooeeeeeeeee et DI FARIT ST & |
(4) TR BT FIT TR e qME SIETY] & §RT Bl & |
(6)  FAG (FATE) S YA START H TG T BT Lo BHEA B |
Fill in the blanks.
(1) Main constituent element of Chlorophyllis...........c.oeiiiii s
(2) The ‘U’ tube like part of Nephronis called.............ooiiiiiiiii e,
(3) World Environment Day is celebrated ON............oiiiiin oo
(4) The disease Anthrax in cattle is caused by ..........cooiiiiiiiiiiiii bacteria.
(5) The sources (Resources) which can be used again are kKnown as.................cccvevee
U3 HEl Siel 918y | (1x5=5)
yus I ECRISIICH
(1) Dea dab ST g,
(2) wrEEeH HAEEE
3) <dT wTHer CO, TAT ST
@) < de e
(6) s=gfer s
Match the following-
Column ‘A’ Column ‘B’
(1) Kreb’s Cycle Upper arm
(2) Triceps Xerophytes
(3) Sunkan Stomata CO, and water
(4) Toti potency Diabetes
(5) Insulin Steward
[231] Page 3 of 8 (830)



U4

9.5

.6

[231]

UHh Irad § IR oy | (1X5=5)
(1) <<€ 9 @& f&F ST BT TN AT 52

(2) 3MSIF R ® &g B drell T 1 BT A4 foIfRav |

(3) IIESfITH Td oTeA {69 UBR & U & ISR & |

(4) = TSl W YR™ B dTel HHYT BT RIT HEA B |

(5) ffad sve A YuT &1 eI T FHEar &7

Write answer in one sentence.

(1)  Which water absorption of earth is done by roots?

(2) Give the name of gas which destroys the Ozone layer?

(3)  Which type of nutrition example are Rizobium and Lichen.
(4)  Name the succession started form Naked rocks.

(5) Name the development of an embryo from unfertilized egg.

9gusg 9" Section B

A TYITNI U
(Very Short Answer Type Questions)

AT IR B AR srad afrl & A faRau | @)

Write names of endocrine glands of human body.
3e0d1/OR
AHIHT H R S aTell IR®1R1 & A falRag?

Write name of bones (Ear ossicles) present in middle ear.
TRITOT &) GRATYT Td YR forRag | (2)
Define Pollination and write its types.

Page 4 of 8 (830)
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AT/ OR
AP ERAFT & Bls I HrI fIRau |

Write any two functions of Auxin Hormone.

Sgall # Sl o @ =T yeRi & 7 forlRag |

Name different types of Asexual reproduction in animals.
31dr/OR

TIAAT B AT FIT THA 87

What do you understand by Ageing.
I GREVT & |1 Surg forfay |

Give two efforts of forest conservation.

3Udr/OR
3Tt Ayl T 87?
What is Acid rain?
TSR U

(Short Answer Type Questions)

TATSHIIRT BT fohaT BT Bad NETRIF gRT W I |

Describe Glycolysis with only line diagram.

3Idr/ OR

JHTI YT b Hed 87 P Hecd UX YD SII?*N|

Define Photosynthesis? Describe its importance.
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QRS Iy & YRS Td Wl & YbR falRay?

Define mineral Nutrition and write its element types?
3iqdr/OR

e ¥ i D e wd o B @) Rl fery |

Describe mechanism of opening and closing of stomata in plant.

ST gfg & HRBI BT quie DHIfTY?

Write factors affecting Population Growth.

3dr/OR

fhoIRTEReT & GRM 8F a1l IRIR®G Ud ARG fadrg forRay |

Write physiological and mental development in Adolescent stage.

IR B DBIRUN BT O BITU?

Describe reasons causing cancer?
31dr/OR
TAHHRE @Te [ FHEd &7 $HD A8 Pl [aRay |

What is wormicompost? Write its importance.

e SR g

(Long Answer Type Questions)

AT W IHd & BT BT qui DI |

Describe function of liver in Human.

AT/ OR
A YT BT U HIfSTT |
Describe Human blood?
Page 6 of 8
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A1 &1 gad ATfeIdT BT ATifhd & 9187 | @)
Draw a labelled diagram of Renal tubuel or Nephron in a Human body.

3d1/ OR

A% & 8&d AT B AHIfbd &3 918y |

Draw a labelled diagram of Human heart structure.

Y[EhTY] ST AT 3USTY] S H 3R foriRey? (@)
Write difference between spermatogenesis and ogenesis?

3dr/OR

U UTHUd JW ] THIaq HIC BT AMifdhd & a9 Idd it [T &1
wferar gois @i |

Draw a labelled diagram of L.S of a typical flower and describe in short its different parts.
9 {5 ®ed 87 gHuE | M dTel IR P quid SR | (4)
Define addiction? Explain diseases caused by addiction.

3Idr/OR

STel UGHY & HRYT TG A0 & U & 9 DI |

Describe sources of water pollution and control measures.

T SIS y9Ta T 87 gUD! THSST | (4)
What is green house effect? Explain it.

AT/ OR
f=21 31 ST 399 IATGd Uiel BT oI Iy |

Describe any two Bio fuel producing plants?

Page 7 of 8 (830)



9.18 IRReIfe TF H TMEl ST T T ST Bl ITeR0T Afed FHASITEY? (5)

Explain food chain and food web with example in ecosystem.

3AAdT/OR
gRReIfdd T H§ Holl & Ydrg &1 gui HIfoTy |

Describe Energy flow in ecosystem.

Y19 AMd 99 B GRAAT BT g0 BTy | (5)

Describe structure of Human eye.

3dr/OR

Ad B HBROG), Bl IR BIC BT AHIfdd = 9918y Ud IHD DT B g

BIFSTY?

Draw a labelled diagram of T.S of spinal cord of Human body and describe its functions.
Y20 3N TaF TG Ta9d H 3fax ferRag? (5)

Write difference between Aerobic and Anaerobic respiration.

31dr/OR
fIRIRUT U RTERYT H SR W HIFTY?
Write difference between Diffusion and Osmosis?
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310
ICLR BRI CRIR R D

Subject: Business Studies
|HY ;03 HUC

Time: 03 Hours

Total No. of Pages: 08

quifeh : 100

Maximum Marks: 100

A —
() G geT dfFart &/

(i) F¥T 1 @ 5 TF TGITT J97 &/ HAF 797 5 3F &7 &/

(iii) o7 HIHE 6 & 10, (5 30) 3 02
(iv) 397 HHH 11 G 14, (7 60) 3% 03
(v) T¥7 BHHF 15 G 21, (TF 100) 3F 04

(vi) T HHH 22 & 26, (T 120) 3HF 05

(vii) FIT HIH 6 T 26 B TH FFI B HaRE by % 13 &/

INSTRUCTIONS: -

(i) All questions are compulsory.

(ii)  Question No. 1 to 5 are objective type, each question is allotted 5 marks.

(iii)  Question No. 6 to 10, (30 words), marks 02
(iv) Question No. 11 to 14, (60 words), marks 03
(v)  Question No. 15 to 21, (100 words), marks 04
(vi) Question No. 22 to 26, (120 words), marks 05

(vii) Question No. 6 to 26 have internal choices.

[310] Page 1 of 8

(1300)



U1

[310]

el fddbed i |

Select the correct Answer.

(i

(i)

o o9 @Y fagar 8-
() =

(b)  wreroy

(c) T

(d) SURIET I

Following are the characteristics of profession —

(a) Pre knowledge
(b)  Training

(c) Services

(d) All of these

e Y UIY B Rrgral @ fagydar 78l 2—

(a) ATIAITHERT
(o) Tfcreiier

(c) ATUetaT

d) Rer

Which is not a characteristic of management?
(@)  Universality
(b) Dynamic
(c) Relativity
(

d) Stable

e @1 Fre a0 e fa & & —
(@) SERIHRT

(b) dedTHROT

(c) foroirenxor

(d) SWRIad T4l

The following is related with new economic policy —

(a) Liberalisation

(b) Globalisation
(c) Privatisation
(d) All of these

Page 2 of 8
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(iv) TSRS =1 & MIT—
(a) <UI UG 3T U FHH
(o) <TIT BT 3T TR 3ffea
(c) oM & <l WR 3
(d) SR § BIS Tl
Fiscal Deficit means —
(a) Expenses and Income are equal
(b) Excess of expenditure over Income
(c) Excess of Income over expenditure
(d)  None of above
(v) = o1 Ao 9 9T A8 g —
(@) dqic
(b) HRIHH
(c) Prifaf
(d) IHURTT
Following is not related with plan—
(a) Budget
(b) Programme
(c) Procedure
(d)  Motivation
g2 Raa s @ gfd HI | (1x5=5)
Fill in the blanks.
O NS 2R 5 =1 AN B B |
The principles of the management are ..o
(i) TI B RAGTA D T TTRT DT oo H gig Bl %‘I
The ............... in management increases by using the principles of management.
D) N afasg &1 JAfRFadRll & IEAT BRA B IRY 991 3 |
................................................................ Enables to face future uncertainties
(iv) SRR BT AT Td SRITTIAT H FTCHT oo PHEeal 2 |
Division of candidates in to qualified and Unqualified is called ...........................
R R R R L 1= s oo P 3R Ferdl %‘|

[310]

Controlling moves from downward 10 ............oiiiiiiiiii .
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I /3 H SR ST | (1X5=5)

Answer the following in True/False

(i)

(iv)

I yder BT Ugel B © |

Planning is the first function of management.

SN A U ARAR ufdhar 2 |

Employee development is a continuous process.

farereril &1 fIveiyoT SR 3Mavge 8] Bidl § |

Analysis of Deviation is not necessary.
ST AT BT Mg R Uofl & 2 |
Capital structure means fixed capital.

UST 9TeTR &1 YR &I 81T & |

There are two types of capital market.

Y4 UP ¥& /Id0 H IR QIRTT | (1x5=5)

[310]

Answer the following in one word/ sentence.

(i)

(iv)

318701 TRl & e} A 9T Bl T HET ST 87

What is called the recruitment in academic Institutions?

o< faaron & fafier STl @1 TOMT HRAT FIT HEAT &7

Calculation of various ratio from financial statement is called.
IR Yol UTa &) BT A Agayul HAd HT 57

What is the main source to obtain fixed capital?

foig RS fhas 9R &1 8aT 2 |

How many types of financial planning are there?

fra 4o aoIR &1 v 93 foefest 9 gar 87

Which capital market is related with new issue?
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.6
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9.8

[310]

FE! SIS T8y |

() erprel gforfoat # =raEr
(i) fafeamT faoig

(i) I D qIRAT AR

(v) e Refa smw & forw
(v) U @ = H

Match the columns.

(i)  Selling and purchases of old securities
(i)  Investment decision

(iii)  Right had side of Letter

(iv)  To know financial position

(v)  Atthe end of Letter

qIEd qIaTaRol | R IR 87
What is meant by External Environment?
317d1 / OR

JERIBNUT A FT I 272
What is meant by liberalization?
I b b=l IIaTaNoT A FIT I 272

What is meant by Technical Environment of business?

3gdr / OR
TN AIfT & @ ey 2?
What is meant by fiscal policy?
fAofiaver & @@ amery 27
What is meant by privatisation?
3191 / OR

IR b < ST I8 |

Describe two objectives of Liberalization.

Page 5 of 8
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v.10

U.11

912

U.13

U.14

[310]

“ATHEHROT BT T SGT 77
What is purpose of Branding?

3141/ OR
fasmos @1 aRafa @i |
Define the advertising.
“IYATGT” BT AREIRT BT |
Define “Consumer”.
31491 / OR

IOHTGAT AREAT SRR &l R fhar e
Why was the consumer protection Act enforced?
“TI T UM T | T DI |

“Management is a profession”. Explain

3191 / OR
“TAYaTH” A FT e ¥ |
What is meant by “INNOVATION”.
USRI & A T B 9argy |
Explain any three main functions of management.
3141/ OR

“Tg Hl |l 7 AR A A1 39 BUF B FRAT DI |

“Management is an art as well as science.” Explain.

IS yave & oAeTo7 forRae (@18 <)

Write the characteristics of scientific management (any three)
31491 / OR

‘gg] & g AdHIAE 81 B | IR S |
“Principles of management are universal.” Explain.
T DAl @ Pig dF RIgrd 9agd |
Explain any three principles of Henri Fayol.

3141 / OR

CoR T4 Bald & IRl # &1 FHa 82 ($ig dF)

What are the similarities between Taylor and Fayol. (any three)
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U.15

.16

17

U.18

9.19

.20

[310]

JE[PX XU d[ Hacd ddigy |
Explain the importance of delegation of authority.
31491 / OR

JNIBR 3FRYT TG A= IHRoT H 3R g1y |

Write the difference between delegation of Authority and Decentralisation.

e ufhar &1 qarsd |
Explain the process of organisation.
31491 / OR

frarfr dred & o 9asy |
Explain the advantages of Departmental organisation.
JAFIURYT BT fIRIYary qargy |
State the characteristics of motivation
31491 / OR

dem @& d@l @1 |JHEsy |
Explain the elements of direction.
T e THRTS B 0T I |
Explain the qualities of a good supervisor.
3Jdr / OR
Hifad SIAURTMAT & Y@ WUl BT Feld H quie DIy |
Describe in brief the important forms of monetary motivation.
facfrr Freom & @ @1 wwemsd |
Describe the importance of financial planning.
3191 / OR
Prie G @ @ adE |
Explain the sources of working capital.
afelT @& Bt qarsd |
Explain the functions of Labelling.
3191 / OR
U 37 AHSRY (d108) BT faoan qarsy |

Explain the characteristics of good Brand.
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U.21

.22

.23

U.24

.25

.26

[310]

SUHIEIT ARETT BT T 8T 27

Explain the importance of consumer protection.
3141/ OR

ST & SMABRI BT GO HITT |

Describe the rights of consumers.

T yHTaqel IS & QMavd ST gy |

Describe the characteristics of effective planning.
3141/ OR

My iR ggfa # ok gay |

Differentiate between policy and method.

ol 9 999 ¥ 3R 91y |

Distinguish between recruitment and selection.
3141 / OR

gfRteror @1 Al & a9y |
Explain the methods of Training.
=T ufthar & faffe @R &7 oo IR |
Describe the various steps evolved in the process of control.
3141/ OR
FRI=T BT HE a8y |
Explain the importance of control.
it SR & Bl garEd |
Discuss the functions of capital market.
3141/ OR
e faufor o7 faeryad garsy |
Explain the characteristics of Stock Exchange.
T ATARS T BT YT <Y |
Give a specimen (Draft) of a Business letter.
3141 / OR
TP IS ARG I3 & T[0T qargd |

Write the qualities of a good business letter.
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Gl Tl DI G : 26 HA TBI B F&AT © 12
Total No. of Questions: 26 Total No. of Pages: 12

BRR Ahvsy R, feawR — 2017
320
v : 9ErETar U9 o ETdhH
Subject: BOOK KEEPING & ACCOUNTANCY
(Hindi & English Version)

|HY : 03 TS quries : 100
Time : 03 Hours Maximum Marks : 100
faser —

(1) & ge7 Ifart &/

G) FTTF 1 5 TP TegTT FI7 &/ FAB FIT P o7 1 3 [T &/

() 7o F 6 & 26 TF ARF fAHeT -7 TT &/

@) ¥ P 6 W 10 T TYITIT F97 &/ FAH & [o7 2 3 [T &/ I
T 25 Fs7 &

G) FET & 11 G 14 TF TGITINT FIT & FAF & [0 3 FF [HERT &/
FIs7 AT 60 W7 &)

6) 7 F 15 @ 21 TF FHGTIT F97 &/ FAF D o0 4 3w iR &/
s1s7 AT 100 1T 8/

(7) §o7 & 22 & 26 TF HGTINT F97 &/ FAF @ [oiw 5 F R &/
sIs7 AT 120 T 8/

INSTRUCTIONS: -

[320]

(i)  All questions are compulsory.

(i)  Q No 1 to 5 are objective type questions, each question carry 1 mark.

(iii) Internal choice is given in question No 6 to 26.

(iv) Q. No 6 to 10 are very short answer type questions, each carries 2 marks, word
limit 25 words.

(v) Q. No 11 to 14 are short answer type questions, each carries 3 marks, word
limit 60 words.

(vi) Q. No 15 to 21 are long answer type questions, each carries 4 marks, word limit
100 words.

(vii) Q. No 22 to 26 are long answer type questions, each carries 5 marks, word limit
120 words.
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g1 Raa e 31 gfid Sifsm— (1X5=5)

Fill in the blanks-

U2

[320]

OISR 1552 B3 s A HRN H Bl T |
Normal losses take place du€ t0 ......oviiiiiii e, reasons.

(i) U GG TIT BT oo H BiRd faar S 2 |
Goods sent on consignment account is transferred to the .............................
.................................... account .

D TSI AR 2 S 3 BT B
The partnership originates With ...

(iv) MR Dbl 1 HET=URTAT HIT = s
New ratio of partner — old ratio =...... ...

(v) AHRED ¥ TGl TR B AT & oo BT TS T ST 2 |
Expenses incurred on realisation of assets are chargedto ...................cooeit. Alc.

TP ec /qTqR | IR QIfT— (1x5=5)

Answer in a word/sentence-

Ufd ATl @1 BT fhdes §IRT a8+ @l STl 272
By whom the loss of consigned goods is borne?

AN H =ATH fha ga 8T Sff-ard 272

Minimum member required in partnership firm are?

@I & Hedidh BT MR 7 27

What is the basis of valuation of goodwill?

T FIIERT BT 3T AT & 8T & TR B THhdT 87

Can a partnership be dissolved without intervention of the Court?

0T U= TRAT BT T YT BT © |

What do debenture holders receive?
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Y /AT H SR SIfTu—

Answer the following in True or False -

(i

(ii)

(i)

(iv)

IS Uil BT HHIH el § a7 B |

Consigner pays commission to consignee in cash.

ATIERT BH &1 Goirgd 3ifard 781 2 |

Registration of partnership is not compulsory.
T e o ARt © |

Goodwill is a tangible asset.

ST YIS T 372 RN WISIAR & ATIUTd BT 39 ¢ |

Gaining ratio is a part of ratio of sacrificing partner.

deres ForgE RIS FOTH HEAT 2 |

Mortgaged debenture are called secured debenture.

94 el fddbeu gfu—

[320]

Choose the correct answer-

(i

Uol BT aReN HHI UTd BlaT 8-
(31 < eI W @) &P oI W
@) @ g W) (@) SUR faa )

Del-credere commission is received by consignee-

(A)  On cost price (B) On invoice price
(C) On total sales (D) On credit sales
Page 3 of 12
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[320]

(i)

(i)

ATEIGR el & g H Yol W =Tot fear ST 8-

@) 10% PA @) 9% PA

@) 6% PA @) & f R ¥ =&

In the absence of partnership deed, the interest on capital is given at -
(A) 10% PA (B) 9% PA

(C) 6% PA (D) Pay no rate

smﬁ?aawa%agmﬁﬁfwgﬁaﬁﬁ%aﬂaﬁ%wmzﬁﬁmw
H U <d © | S o™ AT BT SrguTa BT—

@) 10:2:4 @) 9:3:4

(9) 8:3:5 () 8:5:3

A and B share profit in the ratio of 3 : 1. They admit C in partnership for % share.

Their profit sharing ratio will be-

(A) 10:2:4 (B) 9:3:4

(C) 8:8:5 (D) 8:5:3

BH P fdged WR, JfAdRT oW 7 Tl BT SAART fbAT ST B—
@) b W H @ d @ H

@) 9EER & Yo Ed d (]) M-8+ @ H
On the dissolution of firm, undistributed profits and reserves are transferred to-

(A) Cash account (B) Bank account

(C) Capital account of partners (D) Profit & loss A/c
0T UAl R TSl & YA Dl AdfS 5—

@) d= HE @ o A

([) TH ay @) fodr 1 w9
Period of payment of interest on debentures is-

(A) 3 months (B) 6 months

(C) lyear (D) Atanytime
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[320]

HEl ST g1ST—

() URade gRI ARE

(i)  FEOT 9 BT NHIH TR A
(i) ST U I H A

(iv) H X 3[THTI AT

(v) T BT Jedih=T

Match the columns-

(i)  Redemption by conversion

(i)  Redemption of debentures on premium
(iii)  Profit on redemption of debentures

(iv) To take leave from the firm

(v)  Valuation of goodwill

T UF Bl GRYST BT |

Define debenture.
3I4dr/ OR
gRad-eliel F0T U3 R®T &7
What are convertible debentures?
FAM AHR & (JaRol I T 12T 57
What is meant by common size statement?
3I4qr/ OR
T PR & fAavoll & T S 9aTsy |

Write any two objectives of common size statements.

ST U ¥ T I 2?

What is meant by Accounting Ratio?
31U4q1 /OR

g g = 87

What are quick assets?

Page 5of 12
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Capital reserve A/C
Retirement

Average profit
Conversion on shares

Loss of company
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99 WdTed o™ @1 87 2)
What is operating profit?
31U4d1 /OR
gfar 3fer AT =7 27
What is dividend per share?

10 FIAT H DY Yt & T FAl & A1 9arsq | 2)

Name two sources from which funds are obtained by business.
31e0d1/OR
RNpe oI FT MM 52

What is meant by “cash Equivalent”?

U411 X 3R Y ¥EER 8, 31 faFR 2016 T S99 g1 F=gaR &— 3)

X and Y are partner, their position as on 31* December 2016 is as under-

fRIST Balance Sheet

ST Liabilities RTRRT |Hgfeadt NN
Amount Assets Amount

THER (creditor) 2750 %S (cash) 200

UGl W (capital Alc) TCld (stock) 1750

X 1000 fafaer gwfeaar 2650

(sundry assets)
Y 850
4600 4600

Wi ¥ 1500 IUTa Y, fafdw wwfcqal & 2500 XA, oFeRl & goi yarae
foam | A =g 100 % U el WIal §91gy |

Stock realised at ¥ 1500 and ¥ 2500 realised from sundry assets. Full amount paid to

creditors, realisation expenses are 100. Prepare realisation A /c

[320] Page 6 of 12 (1200)
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U.13

U.14

[320]

31qdr/OR

I WAl 3R G W H 4 R 9arsy |

Write any three difference between realisation A/c and Revaluation account.

BH B IMHRADG FTHAYT DI SN dl forRay | (3)
Write the conditions of dissolution on contingencies of a firm.

31qdr/OR

I @l @& AW Y, S el @ ¥ R_AEIRT el fBy o §

Name the account which are not transferred to the realisation A /C.

HAAT 3 3R YalfdHR 372l # R Jasy | (PIg A1) 3)

Write the difference between equity share & professional shares. (any three)

31e0d1/OR
WA faIfcs 9 10 TaTel 12000 3 ST fdhy R4 R 3 I3daT W, 4 T 37&cH
R, TAT 3 IYYH TG AfH I W < B | 9l IRAN §HI W YT 8% | AP
T8I ufaftedt ST |

Bharat limited issued 12000 shares at the rate of ¥ 10 each. Amount payable as ¥ 3 on

application, ¥4 on allotment and ¥ 3 on first & final call. All dues received on time. Give

journal Entries.
3T B BT BT I ST AT | (3)
Mention the legal provisions regarding forfeiture of shares.

31741/ OR
U HF TG W 45000 TH A I, TS A B 10 T Tl FAHAT A SR
By | e FAed W T | Fea 981 yfaftedr oIy |

A machinery purchased from Naveen for ¥ 45000, equity share of ¥ 10 each issued at par

for the payment of machinery. Prepare journal entries.
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U.18

[320]

ATSIGRI Helkd & JWd H AN 8 dTel 1399 qa1sq | (4)
Explain the rules applicable in absence of partnership deed.
31041/ OR

e, faSg 3R AT 22211 & AU H ™ B4 died & | 3 R o FA]

DI AT QA1 © 6 IH HH I B9 T5000 A qAeY [HelT | <a1e] 9y BT g

S 20,000 T2 | I BN RN @rdT 99180 |

Anil, Vijay and Manoj are partners, sharing profit & losses in the ratio of 2:2:1, Manoj’s
share is however guaranteed by the other partners at a minimum profit of ¥ 5000. The net

profits for the current year amount to ¥ 20000. Prepare profit & loss appropriation A/c.

wfera ot ok IO g & R 9amEy | (4)
Explain the difference between Reserve capital & capital Reserve.

3I4qr/ OR
Gl & U 10 I dTel 50 3% o, FORaH | S99 2 T UM 37 a7 &y, oy
3 TURY 3fF afrded & 3R 5 IURT 379 YoM Ud 3ifcm Ire T & 81 < 9T | IHD
3N BT e B [ofAT | AT DI S B Tbel Ufdfte HIFTY |

Sunil was holding 50 shares of ¥ 10 each on which he paid X 2 on application per share but

could not pay 3 X on allotment and X5 per share on first & final call. His share forfeited.

Make journal entry for forfeiture of shares.
FOTUET BT R Be O o ot 27 (4)
When can debentures be issued?

312041/ OR

fStet fol. 9 310000, 10% ZROIIH, Ui 100 I SINT by, /g R |=yqof <Ifdr
e R < T | |1 oMUl & ol 3de UTel gY | FThdl du! Ufaftcdl ST |

Jindal Ltd issued I 10000, 10% debenture of ¥ 100 each, whole amount was payable on

application. The issue was fully subscribed. Pass necessary journal entries.
33T Ud F0TgH H R W BINTY | (B AR) (4)

Make differences between shares and debentures. (any four)
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[320]

31qdr/OR

Th BT F 10000, 12% FOUS U 100 IHT T R SINI By R
e 10% NAEH R {6 S & | A & 999 8] Tad ge1 ufaftedl S|

A Company issued ¥ 10000, 12% debenture @ T 100 each at par, redeemable at 10%

premium. Record these transactions in the journal of the company at the time of

redemption.

i fdaxor & faeryor @ WY garsy |

Describe in brief the limitations of financial analysis.
31041/ OR

=1 gE=msll | ATe] JIuTd S1d BIfg—

Calculate current ratio from the following-

9Te] Al (Current Assets) 5,00,000

dle] < I (Current liabilities) 2,50,000
JIPS JaTg fIaR g9 & Se¥g §arsy |

Explain the objectives of cash flow statement.
31741/ OR
frfaRaa & s =l fhaeil & Ads yarg &1 ToHET HIfoTg—

Calculate cash flow from operating activities from the following information-

31/3/07 31/3/06
% %
ST BT+ WA (profit & loss Alc) 46000 56000
g 993 (Bills Receivable) 20000 30000
1<l AolgNl (Outstanding wages ) 11000 18000
T (Goodwill) 30000 26000
g4ed dMT (Prepaid Insurance) 6000 3000
oIFeRR (Creditors) 15000 22000
Page 9 of 12
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[320]

e U & U@ Sd 9argy? @)
What are the main sources of cash collection?
3e0d1 / OR

JAhe yarg fAaRoT &7 JHe 9d1sv |
Write the limitation of cash flow statement.

AT BT 3R M 81 H 3faR 9disy | (5)
Write the difference between normal loss and abnormal loss.
341/ OR

SIAYR & Al 1 WS D (AR BT 50,000 I AN I AT UYUT TR WGIT | A o
XS fPRA @ 7000 ¥ W fbU| fHUR F FHE AT 80,000 I H W ;T qerl

e I | 2000 H fAU| 99 2% a0 AT ST €| Uh DI GRID H YNl

ECIGIRCEIERN
Atul of Jabalpur consigned goods worth X 50,000 to Kishore of Mumbai and paid X 7000 for
Railway freight. Kishore sold all the material for ¥ 80,000 and paid ¥ 2000 for godown rent.

2% commission is given to Kishore. Prepare consignment account in the books of

consigner.
ATSIERT &I YAia et gemafl H giam &7 (5)
Under which circumstances goodwill is valued in firm?

31e0d1/OR
3 3R g 21 & AU H AW B dfed B 1 1 T 2017 9 9 Fofg o € fH

9fgsy H o g1 S/UTd 311 BN | $9 8g &I BT Jedicd 1,80,000 I fohaT |
maegd Yoil ufafte iy |

A & B are partner sharing profit & loss in the ratio of 2:1, with effect from 1° January 2017
they decided to share profits in the ratio of 3:1. For this purpose the goodwill of the firm is

valued at ¥ 1,80,000. Give the necessary journal entries.
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[320]

THh BH ¥ b gomell § A7 AEeR & yd9 faar Sar 8 | wee i | (5)
Write the conditions of admission need of new partner.

3e0d1 / OR
IRgar R fARge wAeR &1 1 99d 2017 &1 ARId 3r@drer U8 &Rl

2 [RAdT Yoll @rar 39 i ) 99 §9eHl & 91K 35,000 IHT AT Y

gaorar g | I8 Af¥ea fear mar & g9 ¥ & AlRaa & =or @rag & siafRa &

fear Sma | 5000 ¥ QR QU G &R W IHH T WA fHedl 9 6% gfaay ar

R W S AEd gabT af o | FRael &1 2=or @i &1 99l & ol dIR BT |
Akhil & Nikhil are partners. On 1* January 2017 Nikhil retires from the firm. The balance of
Nikhil’s capital A/c shows a credit balance of ¥ 35000 after all adjustments, it is decided to
transfer this amount to his loan A/c and pay I 5000 immediately and balance amount will
be paid in two equal instalments with 6% P.A interest. Prepare loan A/c of Nikhil for two
years.

g2 W e & ffET )R R ufaes 87 (5)
What are the restrictions for issue of shares of discount?

31271 / OR

s SN |
Write the types of preference shares

ST ® g § A9y ud onfday” e H fordl ST arelt Aal @1 farRaw|  (5)

Write the items to be presented under the head of “Reserves and surplus” in balance

sheet of company.
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341/ OR
Th HO B fag | fF=faRad agt & oMy fb= b= edei & aefiexor s¥a—

(i) BT 3R

(i) gfergfar UifAH @ mar
(i) P} D forv Mo
(iv) ST THTer

(v) I

How would you classify the following items in liability sides of a Company’s Balance Sheet-
(i)  Loose Tools

(i)  Securities premium A/c

(iii)  Provision for Itax

(iv)  Unclaimed dividend

(v)  Goodwill
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331
ug : FaERIe s

Subject: BUSINESS ECONOMICS
(Hindi & English Version)

|HI : 03 TS quries : 100
Time: 03 Hours Maximum Marks: 100
fader —

1. W Fe7 Fer sfqard &/

2. FOT BHHB 01 § 05 TF TeGIT F99 &/ TegI10 J97 & FoT 5P 25 &/
3. §AF g 1—1 3 HT &/ T 1X5 = 5 3P

4. T HHG 06 & 10 TF FAF 2 3F & g97 &/ 5 7 30 I7 8/

5  FT HHE 11 F 14 TF FAF 3 3F & §e7 &/ I A 75 I=7 8/

6. T HHIF 15 F 21 TF JAF 4 3F & F97 &/ I 7 120 I &/

7. 9T HHIP 22 G 26 0P UdH 5 3P P FIT 8/ I AT 150 Tg &/

INSTRUCTIONS: -
1. All questions are compulsory.

2. Q. Nos. 01 to 05 objectives type question objectives type question are total No.
Marks 25.

3. Per Q. 1-1 marks 1x 5 = 5 marks.

4. Q. No. 06 to 10 carries 2 marks. The word limit is 30 words.

5. Q. No. 11 to 14 carries 3 marks. The word limit is 75 words.

6. Q. No. 15 to 21 carries 4 marks. The word limit is 120 words.

7. Q. No. 22 to 26 carries 5 marks. The word limit is 150 words.
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IR g — (25%1=25)

Objective Type Questions -

U1

U2

[331]

Gl R WRI — (1x5=5)

Fill in the blanks:—

Lo e AT SHISAT BT AT ¢ |
.......................................................................... studies the Individual unit.

71 1° B | K T MR RIS K11 e 21 B g
On increasing of effective demand employability level is................coooiiiiinn.

3. TAFTIT BT ARTH AT BT oo P 2 |
Medium of Exchange isthe ... function of money.

4. Fa1 a8 GO0 & D ART R 3T TR e 2 |
Money is the Pivot round which the economic science............c.cooooiiiiiiiiiiiiiinan,

B e IR <hT BT TGI PR 3 |
..................................................................... is a main cause for trade cycle.

T /3 falRad— (1x5=5)

True in False:—
1. YRd WeR ¥ g faggs dad g 9491 § U9 fohar e 2

In India money (finance) bill is present in Rajya Sabha only.

2. qolc § WRERT FUl BT Seeld BIdT 8 |

In budget government loan is mentioned.

3. WRA ¥ I YUTEN 39S o bl 2 |

In India zero budget system is accepted.

4. YRd ¥ ol goc AT gofic & Al 8idm 2 |

In India rail budget is Included in general budget.

5. WRd Aqd dle] @I H °91C BT AFAT R &7 T |
India is facing deficit in current account.
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U3 el Sl §ARii— (1X5=5)

Match the following:—

A B
1. YT Aol 1. ®dcl g Al Bl AL BHRAT
Balance of Payment Includes only visible items.
2. UR AJe ol & | 2. G Ud 3Ig¥Y Hal Pl WAl BT
Balance Trade Include visible and Non visible both items.
3. WRA BT gIraH 3. IR<dd A
Payment of India Real Price
4. 9NIR dHEd 4. Feq Ufdad
Market Price Always non- favourable
5. #oigdl BIY g 5. Hal &I Hy wfdd
Principle of wages Purchase efficiency of money
6. . Ud. fial
J. S. Mil.
Y4 U®H Bl 9rag H IR & — (1X5=5)

Answer in one word/sentence i—

1.

[331]

RIS Hd F gal?

When Public finance became popular?
AMINTG o™ & RIga &1 gfaared feaq faar?

Who gave the maximum social benefit principle?

3T 9T fhddT 32 77

Whose objective is to increase income?
Je] R BT U ISTeX0 §I7

Give one example of Direct Tax.

RT ¥ AP HYNT SATSh N9 bl <19 Id131?

Name the state having highest production of cotton in India.
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9.5

[331]

el faddon g forfau— (1X5=5)
Choose the correct alternatives:—

1. QiRg® Jreat &1 fagm g —

(A) 9Tt (B) R
(C) ItpT (D) R
Statistics may be called the science of averages -
(A) Bowley (B) Marshall
(C) Kafka (D) Smith
2. e 991 YR @1 A9 & —
(A)  =Uer (B) ATUeET
(C) < (D) TH I el
Index Number is a measure of-
(A) Absolute (B) Relative
(C) Both (D) None of these
3. @R A i AT 2?
(A) T (B) A
(C) = (D) oM™
Which is wastage Income?
(A) Rent (B) Wage
(C) Interest (D)  Profit
4. W B D A THE U Tl 27
(A) TP TH (B) omfefd e
(C) 3T 7T (D) del oI
Which rent is not applicable on land?
(A)  Contract rent (B) Economic rent
(C) Quasirent (D) Total rent

5. 3w o @1 AgRer —
(A) gd A i Jr 9 @ arTdl & e WR R BT '
(B) oTEY ¥ (C) SUSTd (D) |HsiAT 9

Economic rent is determined by -

(A) Difference between payment made to or for a factor of production and cost of
land.
(B) Agreement (C) Production (D) Partnership
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.6

uvz

9.8

9.9

v.10

[331]

qaT 1 & GRATR &7
Write any two definition of money.

34T / OR
IR® d% BT A8 foral (@l Q)

Write any two points of the importance of Commercial Bank.

JoIC BT Blg &1 ARETT foran?
Write any two definition of Budget.
3Udr / OR
JfaRad Ioic &1 M qamRl |
What is meant by surplus Budget?
qeg—fafra &1 afkvmen forar?
Define Barter.
3gdr / OR
Y a1 g9 & i aat T8 FEd 87
Why gift or charity are not considered as exchange?

faavor & Rigid & < a9 foran?

Name the theories of distribution. (any two)

3edT / OR
faavor @1 gRymar 17

Give a suitable definition of distribution.
TR FHMTOR AT A T JIYTT 27
What is meant by weighted mean?

3141 / OR

o o

e 9He fhy wed 27

What is the meant by secondary data?
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U.11

912

U.13

U.14

U.15

[331]

e B B Dls I T[0T FATAT?
Mention any three merits of direct taxes.
3141/ OR

Ucge] B b hlg diF SIY gdrei?

Mention any three demerits of direct taxes.

o fog dem adeae fog @ 39 gaHar forar?

Write any three similarities between private and public finance.

31491 / OR
oG @ Hed & forar?
Write the importance of revenue.
GG EIRCAERIE IS GIDAC RIS 6
Write any three limitations of statistics.
3141/ OR

IR AR 9y farel? (791 siids! & ford ucuer fafr 4

Find out arithmetic mean for the following data by direct method.

Marks 50 o1 52 53

No. of students | 1 2 3 4

fdenes @ faevdri foar (@18 )

Write any three characteristics of Index Number.
3141 / OR

AR Fe2d B G WL BRI?

Explain the formula of the simple Index Number.

IRe A9 &7 SUAAAT, Y, Agcd 31dT a9l Bl fora?

Write the use, Merits, profit, importance or need of Micro economics.
3141 / OR

Tafte 7o &1 A8 ford |

Write the importance of Macro Economics.
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U416 IRFERMETGT Rigrd & Araand forar? 4)
Write the assumption of classical theory.
31e0dr / OR

AIA® AT & BRI BT T B |
Explain the causes for excess demand.

917 golc 99 @I Uishar & aR fa=g forar? (4)

Write any four point of Budgetary procedure.
31e0d1 / OR

Jolc b UPRI P T B2
Explain the types of Budget.

U.18 WRd H §s UM & SN & o9 g1y | (4)
Write the advantages of large scale Industries in India.
3141 / OR

g hl Hecd WSS VT |

Write the importance of TEA.
U149 TSR A P GRFTET BT WL HRA g WL B b A1 aRATrst § I AT giRHmem

3regT 87 @)
Write the definition of National Income. Which one is the best definition out of three?
34T / OR

TSR 3T Hh e Dl W< B |
Explain the importance of national Income.
¥.20 A Federd BT 3fef T FRI°7 Yd aiReTeTg fora | (4)
Write the meaning of balance of payment and the definitions of Balance of payment.
31491 / OR

YA gl &I Ufdderdl Bl Sid B & U Iral?

Write the methods for correcting adverse balance of payment.
U421 YA Aol Bl Al Bl WL DN | (4)

Explain the items of Balance of payment.
31e0dr / OR

faeeh faffg &1 9= TR &1 FuRo ©F a7 87 ayse |

Explain the determination of Equilibrium rate of foreign exchange.
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Y22 WTEl Ud ARG Bl § 3R gare | (5)

Explain the difference between food and commercial crops.
3141/ OR

IR H 3R TUS LIl hHAT B DS ITDBI0T b BRI fordl |

Write the reason of localization of Iron and Steel industry In Bihar.

g23 9Nk dHd R A€ @] I (NDOyp) T |RM dNd WRfIgE ove 3T

(NDPgc) H 3R 9l | (5)
Explain the difference between NDPyp & NDPgc
AU /OR

ol My 3R Jyfddd My § 3R forar?

Write the difference between Private & Personal Income.

¥.24 fIaRor @7 AFRmell &Y forar iR =N | (5)

Write and explain the problems of distribution.

31741/ OR
e ST DI HH AT & BRI Bl for@r?

Write the reasons of less wages to child labourers.
U425 HAY T@ & AR WR Yol YRAIRar § Jed &1 ek &3 g &7 (5)

Under perfect competition how is price determined on the basis of elements of time.
3Aq1 /OR
9 fafera gormell & ™ 9arsd A1 9ISy |

Explain the advantages of Barter system.
U.26 AHT AT & YHRI Bl W< B | (5)

Explain the types of aggregate demand.

AT/ OR
AR fRIerd Ud &I & Rigra # 3y foran|

Write the difference between classical and Keynesian theory.
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Hl Tl DI H=AT : 20 HA TSI B =T : 08
Total No. of Questions: 20 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017

410
fowa : Bt & forg SuArh fasm vd @ & d@
Subject: ELEMENTS OF SCIENCE & MATHEMATICS USEFUL FOR

AGRICULTURE
(Hindi & English Version)

|HY : 03 TS quifes : 075

Time: 03 Hours Maximum Marks: 075

faser —

(i) T geT ST &

(i) ¥ #1405 TEGTO FHR b 597 8 A% F97 5 35 BT &/
(i) T F5 98 TF FAPB J97 2 3F & &/

(iv) ¥ #9 & 12 TF JIH 597 3 3F &7 &/

(v) F F 13T 17 TF B G597 4 35 BT &8/

(Vi) ¥ % 18 & 20 TF FoAF 97 5 3F P &/

i) T &5 & 20 ab G § sialees Reey Y 77 &/

INSTRUCTIONS: -

(i)  All questions are compulsory.

(i)  Question No.1 to 4 are objective type question. Each question carry 5 marks.
(iii) Q. No. 5 to 8 carry 2 marks each.

(iv) Q. No. 9 to 12 carry 3 marks each.

(v) Q. No. 13 to 17 carry 4 marks each.

(vi) Q. No. 18 to 20 carry 5 marks each.

(vii) There is internal choice in question No. 5 to 20 all.
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U1

[410]

el fddhed gaax fafgu—

Choose the correct option:-

() T @ T ST -
(@) 506 DIl /UMH
(c) 526 DRI /T

Latent heat of steam is:-
(a) 506 calorie/ gm

(c) 526 calorie/ gm

gvs — I

SECTION — ‘A’

(1X5=5)

(b) 516 DRI /UM
(d) 536 DA /T

(b) 516 calorie/ gm

(d) 536 calorie/ gm

(iy TE® > I Al B I B BT FEd § —

(@) DT 3T
(c) FHEBIT MR

(b) THED B YA TS
(d) grr 3ef

Distance between two poles of a magnet is called: -

(@) Magnetic axis

() Magnetic meridian
(i) DY AT 997 BT B |

(a) DS BT

(c) el I

Calorimeter is made up of:-

(@) Wood

(c) Silver

(b) Effective length of a magnet

(d) Magnetic moment

(b) <I” BT
(d) T BT

(b) Iron

(d)  Copper
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(iv) ¥TeT fegs § ®I9 |1 S ST FTE} urr S & |

(a) IMUSRII (b) YhRI

(c) sHuTH (d) A

Which reproductive organ is not found in female grass hopper: -
(@) Ovary (b) Seminal vesicle
() Spermatheca (d) Vagina

(v) Cos (18° + ) BT T&I HIF T B |
(@) -Sin® (o) -Cos6
(c) Cosb (d Sine
The correct value of Cos (18° + 0) is:-
(@) -Sine (o) -Cos6

(c) Cos® (d) Sin®

g2 Raa el a1 gfd Iy —

[410]

() Trey fauTopei § SITaifRId TR o BICT € |
(i) DFTH @ PRI R 8a= BT B |

(v) TP BT BT o HEd ¢ |

Fill in the blanks -

(i)  Plant vision contains ..................... genetic material.

(i)  In earthworm cross fertilization takes place dueto ..................

(i)  For a healthy eye the least distance of distinct vision is ............

(iv) Preparation of curd from milkisa ................. process.

(v) Miksugarscalled .............cocente
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U3 | /3 feilRay | (1x5=5)
) SURIAT ey yoed @ fafer T8 7
iy 0°C d% BT Te-TId BT © |

iii)  &TIRIT Udb araR™ Sifeid T 2 |

iv) faeRor T Ay fame ft ded B

(v) Sin135°2b‘rﬂ'l7f/5 BT |

(
(
(
(

Write the ‘True’ or ‘False’

(i)  Mutation is not a method of plant breeding.
(i) O°C is melting point of Ice.

(i)  Tuberculosis is a viral disease.

(iv)  Variance also called mean deviation.

(

v)  Value of sin 135° is /&

W4 WEI ST aIgY- (1X5=5)
31 g
()  Sin210° (a) SATeR{TZaT
(i) #ea fages (b) oT=1E X AT X HdAS
(i) BT AT ©) -yz
(iv) CO, 3R STt (d) SHTRIIa
(v) CO, 3R eredigd (e) M

Match the correct pairs:-

HAH “B”
(i)  Sin210° (@) Aerobic respiration
(i)  Mean deviation (b) Length X width X Height
-1
(i)  Volume of cube (c) /2
(iv) CO.° and Water (d)  Anaerobic respiration

Z| X-m |
(v) CO.° and Alcohol e ——
n
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U5

.6

Uz

U8

[410]

grs — F'

SECTION - ‘B’
GBI & Pig 2 0T foIfRay |
Write any 2 properties of light.
31dr/OR

AYa geaell & dIg QT #gdY0l IuANT ol |
Write any two important uses of compound microscope.

IRID b Dby 2 T feIRay |

Write any 2 properties of magnet.

3Id1/ OR

FRHII JRIR DI GRATT HIFTT |

Define magnetic meridian.

fpvad &1 B &5 # 72 e | (@18 <)

Write any two importance of fermentation in agriculture field.

3Udr/ OR

AU Teelgd & Pls &l T IUANT (TR |

Write any two main utility of Methyl alcohol.

I a1 gRymeT faTRav |

Write the definition of rectangle.

AT/ OR
a7 @ g forRav |
Write the definition of square.
Page 5 of 8
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.9

9.10

g1

912

9.13

[410]

IS AT BT AETIT FT MaWd ¢ | (@S O &) (3)
Why study of Organic Chemistry is necessary. (any three points)
312041/ OR
Ted S0 & Dls 3 Al & A ol |
Write name of any three compounds of Alkanes.
Tergur G | AT R T &7 Srexor AR | )
What do you mean by empirical formula? Give example.
312041/ OR
FASITAT 2ol ¥ 39 T FAS &7 SIER0T QoY |

What do you mean by homologous series? Give example.

Al Bt & Bls 3 Ul & FMG A Tl afad 9™ iRy | (3)

Write common name and botanical name of any 3 plants belonging to Solanaceae family.

3Idr/ OR

ATTIAT el B DIs 3 Ul & qHEI A9 1 arafae TM faRag |
Write common name and botanical name of any 3 plants belonging to Malvaceae family.
TGN Hed BT MYH A foaay | (@1 &) (3)
Write the economic importance of family Cruciferae (any three)
3141/ OR
U G a1 i W@ forlRag | (@1 )
Write the economic importance of family Gramineae. (any three)
PN & & H fagd IusRvl $ qfHe ey | (e IR [§g) (4)

Write the role of electrical appliances in the Agriculture field. (any four points)
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U.14

U.156

U.16

17

[410]

3qdr/OR
g aeT Y@l & DIy AR T flay |

Write any four properties of electric lines of force.

que & Phlg IR YgE SUANT faRay |
Write any four main uses of paint.

3141/ OR
3T AT B BIg 4 fRIvag forRRag |

Write any 4 characteristics of a good soap.

SIg WIR—IF & Bls 4 SYANT oIy |

Write any 4 uses of Bio Chemistry.
3141/ OR
I & Bls 4 AgYol drd folRay |

Write any four important functions of Protein.

qTeY U & iy IR Y Se3d foffey |

Write any four main objects of plant breeding.

3qdr/OR

HUSH B HHeAdl & bls IR T4E HRUT [aIRay |

Write any four main reasons of Mendel’s success.

FAMRR A & Bls IR T o forRkay |

Write any four main merits of Arithmetic mean.

3141/ OR
98cld d iy IR o7 fIRay |
Write any four merits of Mode.
Page 7 of 8
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918 HRAG 991 B BIS drg fagwand fafay | ()
Write any five characteristics of Indian rain fall.

3qdar/ OR
qTel ¥ B¥Iall bl 9919 & U foRay | (w18 ufa)

Write the preventive measures of crops against frost. (any five)
T.19 UiEl § IRIERO (RATHYY) &1 Hed foRae | (@1g dfa) (5)
Write importance of osmosis in plant. (any five)
312041/ OR
il ST BT FecT T Regai § faRay |
Write importance of Auxin in plants in five points.
U.20 HiRTD! & Bis 5 B fIRay | (5)
Write any 5 function of Statistics.
312041/ OR
ARV & BIE Uiy o faRag |

Write any five advantages of tabulation.
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Hl Tl DI H=AT : 20 Hl JOI BT G=AT © 08

Total No. of Questions: 20 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017

420
A9 : B UG Td SIS

Subject: CROP PRODUCTION & HORTICULTURE
(English and Hindi Version)

|AA 1 03 T quifd : 075
Time : 03 Hours Maximum Marks : 075
faser —

() & F¥7 T HYTT fard &/

(i) T HHEH 1 G 4 T TGS JBIY & F97 &/ B J97 5 3% T &/
(iii) o7 HHH 5 & 8 TF FdPH J97 2 & & &/

(iv) o7 8% 9 & 12 TP Jdb 97 3 3F BT &/

(v) T HHF 13 & 17 T JAB J97 4 b BT 8/

(vi) I HTIHE 18 W 20 TP JAb 97 5 3F BT &/
(vii) T¥T HFH 5 & 20 d& TH F FaRF ey &/

INSTRUCTIONS: -

[420]

(i)  All questions are compulsory to solve.

(ii)  Question no. 1 to 4 are objective type question. Each question carries 5 marks.
(iii)  Question no. 5 to 8 carry 2 marks each.

(iv) Question no. 9 to 12 carry 3 marks each.

(v) Question no. 13 to 17 carry 4 marks each.

(vi) Question no. 18 to 20 carry 5 marks each.

(vii) Internal choice is given in all questions from Q. no. 5 to Q. no 20
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U1

[420]

grs — I
SECTION - ‘A’

I8! fddhed &1 93+ DIfvTu—

Choose the correct option:-

(i

(i)

Pt DI AR AT AT HEedl o—

(@) Yrqy R (b) TWNUJIR IR
(c) Wi ArEh (d) ST ATEh
Chemical which kills the insects is called -

(a) Herbicide (b) Weedicide
(c) Insecticide (d) Fungicide
A BT A T |

(a) IEN (b) H SRSl

(c) Tl (d) T
The family of Mushroom is -

(@) Gramineae (b) Malvaceae
() Solanaceae (d) Agaricaceae

Hel UReTd TARIH 8-

(a) <IfSTH dulge (b) AIfSIH ESlaaES
(c) TUReRMH dAewe (d) UIcRrM TEsiadss
Fruit preservative chemical is-

(@) Sodium benzoate (b)  Sodium hydroxide
(c) Potassium sulphate (d) Potassium hydroxide

&3 gRAST BT SUIRT BIaT 2 |

(@) Y—qderor ¥ (b) o9 g9 H

(c) IvT g9 H (d) S ATO H

Field book is used in -

(@) Land survey (b) Making perpendicular
() Making angle (d)  Measuring distance
S BT ATAAG FEd BT W 82—

(@) d-r (b) IS

(c) =M (d) =

The useful part of Khus (vetiver grass) is -

(a) Stem (b) Root

(c) Leaf (d) Seed

Page 2 of 8
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g2 Raa el a1 gfid Hifg— (1X5=5)

RS A L LI Bl BT FaH T |
OIS AR L A A A G B |
G L e =
IR £ 3E N gfererd UicE 81T g |
R IESGE TS 1L 55 BT SUINT @S 99 H fHar S 2 |

Fill in the blanks:-

(i)  The family of white musliis..................

(i)  Red rot disease is related to................ crop.
(iii)  Family of Bananais...............ccene.
(V) e, Percentage of protein is present in mushroom.
(V) s preservative chemical is used in squash preparation.
g3 frHfaRad #§ 9@ /3w folRau | (1x5=5)

[420]

() FeeA H YR A1AT H WS 4T B g |

(i)  HIT IRAAH Y9 SId BT Irfd M 2 |

(i) TP IR &Fhd H & TR IIHIER B & |
(iv) fram ofee o€ St For § Suarh 2
(v) e ST ATSTHT &I YHATT a9 1999 H TE |

Write “True” or “False” :-

(i)  Sufficient minerals are present in Mushroom.

(i) The botanical name of jateropha is Mentha arvensis.
(iii)  One hectare area is equal to 10000 square meters.
(iv) Kisan credit card is useful in agriculture loan.

(

v)  Crop insurance plan has started in 1999.
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U4

9.5

.6

Uz

[420]

HEl Sl 9187 | (1X5=5)
‘ap e
(i) ST AT (a) werr faRsw
(i)  OTEET (b) TFARIBIgCH dIRfafergH
(i) e Tl (c) =
(v) S (d) TETofH
(v)  ERYagRATEN (e) TATICTN 3MATC]
Match the following pairs:-
A B’

(i)  Wilt diseases (@) Mentha viridis
(i) Mint (b)  Chlorophytum borivilianum
(i)  Safed musli (c) Gram
(iv)  Isabgol (d) Atrazine
(v)  Herbicide (e) Plantago ovata.

gre — 9

SECTION - ‘B’

ERYTIRT ¥ & gifei Ry | (2)
Write the two disadvantage of weeds.

31dr/OR
T WRYGIRT & &=l A1 defl grufcrsd 9™ ol |
Write the hindi name and botanical name of two weeds.
Sifded drearel & a1 o™ falay | )
Write any two benefits of Bioinsecticide.

Y91/ OR
HICATID] BT STANRT BRI qHI AT H fblsf 35[ AT ]%I’f@(’l
Write any two precautions during the use of insecticide.
et TRRETT BT R fTRag | (2)
Define fruit preservation.
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9.8

9.9

9.10

g1

12

[420]

3Idr/ OR
AT BT gR¥TT forfy |
Define Blanching.
FEHIRAT bl GRATYT Ty |
Write the definitions of co-operation.
312041/ OR
Trifes Y wrg afafal & <1 Sged forfay |
Write two aims of primary agriculture credit society.
B WIe B A forfag | (1 )
Write limitations of green manuring. (Any three)
312041/ OR
gl W grer ® yd falkav | (@8 )
Write effects of Potash in plants. (Any three)
et ¥ W el B aia & A e ey |
Write any three sources of nutrients supply in soil.
3Iar/ OR
gl # T3 B BHT B A e ey |

Write three deficiency symptoms of nitrogen in plants.

3l TN @ A faRwad forRag |
Write three qualities of good grass.

312041/ OR
YRA & 9 TSR ST & A4 Ry |

Write name of any three ornamental gardens of India.

gRY T @ I aRIdl Hl Fed H FHesy |
Explain in brief three methods of grass planting.

3d1/ OR

Teh & IR MY S aret 4 gell & A falay |

Write name of any three avenue trees.
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U.13

U.14

.15

.16

[420]

g Ud 4feTd ol e § 9R siay forRav | (4)
Write the four differences between the surface & underground drainage.

3141/ OR
STl 1 @& A IR DI3 IR y9TE IRy |
Write any four effects of drainage on the soil.
SIaTY] bR BT SN BRa THY BIS IR ATGEgi oy | (4)
Write any four precautions during the use of bacterial culture.

3141/ OR
Q1 SIS gadd UG & BR$IRA Y& IaRepbl & A9 UINeh dd Bl AT Al
ferfag |
Write any two nitrogenous and two phosphatic fertilizers along with nutrient percentage.
=T T UST ¥ 3] JUSl o & foly 4 Feia forRay | (@)
Write four suggestions for obtaining good yield from sugar-cane ratoon.

3141/ OR
HeR 1 Wl BT = fdgei & siavfa auig i |
(i) TR 9™
(iy hd

el

(i) A BT T

(iv) @I f

Describe the cultivation of pea under the following heads.

(i)  Botanical name

(i)  Family

(iii)  Sowing time

(iv) Two varieties

IS TR ¥ AR o™ faRay | (4)

Write down four advantages of vegetative propagation.
3141/ OR

& T FHI AR A TRy |

Write the four precautions that should be taken at the time of air layering.
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U.18

[420]

IR @ Tl &I i = figatl iR foaRkay |

(i) TR 9™

(i) < fos

(i)  IEROT

(iv) S99 gfd gaeaR

Write the cultivation of Grape under following points.
(i)  Botanical name

(i)  Two varieties

(i)  Propagation

(iv) Yield/ ha.

3d1/ OR

BT BT Al BT guiF o fdger w forfRey |

(i)  Sfeldry

(i) TP BT

(i) TH dHRI

(iv) Riemg

Write the cultivation of Banana on following points.
(i)  Climate

i)  Oneinsect

i)  One disease

iv) Irrigation

T BT AT BT 1 [l & R WR quid HIY |
(i) e R

(i) < fos

(i) 997 <R UfT BaCIR

(

(

iv) SUS Ui gacaR
v) Udh T

Describe cultivation of ‘moong’ under the following heads:-
(i)  Origin

(i)  Two varieties

(i)  Seed rate per hectare

(

(

iv)  Yield per hectare
v) One disease
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3141/ OR
ARTEE & Wl @1 e fdgel & emeR W guie FHifT |
() e <
(i) < fooH
(i) 97 &R Uy TR

(iv) SUST Ufd gacaR

(v) TS
Describe cultivation of ‘soybean’ under the following heads:-
(i)  Origin
(i)  Two varieties
(i)  Seed rate per hectare
(iv)  Yield per hectare
(v) One disease
9.19 A YSIid & UM Hell & W Ud Id ardidd 9/ [aRay | (5)

Write names and the botanical names of citrus fruits. (Any five)
31dr/OR
M H ThR e & AdARD HRUN b FHSTSY | (Plg UTa)
Explain the internal causes of alternative Bearing in Mango. (Any five)
U.20 Sell 99 # U= |raenfaar forRkau | (5)

Write the five precaution’s while jelly making.
31dr/OR
S qT el H P uig Ifax farlay |

Write five differences between Jam and Jelly.
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BRR Ahvsy R, feawR — 2017
430

v : ugpuTe, g9 a9, iUt U9 AodTerd

Subject: ANIMAL HUSBANDRY, MILK TRADE, POULTRY FARMING & FISHERIES

(Hindi & English Version)

|HY : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
fader —

(i) & FI7 8 BV Sfaard &/

(i) F¥7 FHEF 1 & 4 TF TG0 JHIX & J97 &/ B J97 5 5% BT &/
(iii) o7 HFH &5 @ 8 TH AP J97 2 3F & &/

(iv) Fo7 HFIF 9 & 12 TF JAH F97 3 3% &7 &/

(v) T HHF 13 & 17 T JAB G397 4 35 BT 8/

(vi) FIT HHIF 18 & 20 TF JAF J97 5 b BT 8/

(vii) I HFIFE 5 & 20 dF TH F s QAdeq 8/

INSTRUCTIONS: -

[430]

(i)  All questions are compulsory to solve.

(ii) Q. no. 1 to 4 are objective type question. Each question carries 5 marks.
(iii) Q. no. 5 to 8 carries 2 marks each.

(iv) Q. no. 9 to 12 carries 3 marks each.

(v) Q. no. 13 to 17 carries 4 marks each.

(vi) Q. no. 18 to 20 carries 5 marks each.

(vii) Internal choice is given in all questions form Q. no. 5 to 20.
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grs — I
SECTION - ‘A’

o O\

91 el fdbeu gaar foray — (1X5=5)

Choose and write the correct answers:-

() UTERIGd TY Bl WUSING HRAT aTeq—

(@) 4°C W
(b) 10°C W
() 15°CWR
(d) 20°CW

Pasteurised milk should be stored at:-

(@) 4°C

(b) 10°C
() 15°C
(d) 20°C

(i) AT INT BT PRD o

(@) T

Causal organism of Mastitis is:-
(@) Fungi

(b) Bacteria

(¢) Virus

(d) Nematode

[430] Page 2 of 8 (350)



(i) DT IS FHUT HeH Rerd 7

(@) WIT H
(b) SOSIATR H
(c) oIfdPdFR #
(d) STErgR

Central Sheep Research Institute is situated at:-
(@) Mathura
(b) ljatnagar
(c) Avikanagar
(d)  Jodhpur
(iv) AY. I FEhNI G Y H §Y B BAd & MR BT AR

(@) adr

(b) TARRRT 3

(c) UM%

@ T F PR T

The basic of pricing policy of milk in M.P. cooperatives Dairy Federation is:-
(a) Fat

(b) Fatless solid
(c) Protein%
(d)  None of these

(v) IS @ dTell b9 Pl A% ©

() STEATARY
(b) SRERA

() TR

(d) <I® TS

Goat breed used for transportation of thing:
(@) Jamunapari

(o) Barbari
(c) Gaddi
(d) Black Bengal
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g2 Raa e a1 gfd Iy — (1X5=5)

93

[430]

ORI IR KL LR F=1 T A I e 2 |
TR £ 1 B R 2 B K I s - SO, =
) SRS 531 | SO BN A UT BT 2 |
(iv) THMAT 3R URBPB TETIAT oo CAEARE
(v) dcX gB) H Ul Bl FRET I el BRI D T foretrar STar 7
Fill in the blanks:-

(i)  Cage-systemis related 10. ... ...vuiiiei
(i) Causal organism of ANthrax iS........ocviieiniii e
(iii)  Pashminais obtained by the........ .o, goat.
(iv)  Equity and voluntary membership are principles of ...
(V) e is added to butter worker for separating water from the butter.
A /3 FYADR DIY — (1X5=5)

() 3mgIPHH H 10—12% o<1 Bl B |

(i) UCT QY BT ARG & 1.467 BIT 2 |

(i) ARAT U A ATIH S YT BT 7|

(iv) oNTael FHahe—ITell BT B eRITd A 60 HH. HaT &A1 A1 |
(v) ST T B U B Uc TR T T8l Bl 2 |

Choose and write “True” or “False” :-

(i)  Fat percentage in Ice-Cream is 10-12%.

(i)  The relative density of toned milk is 1.467.

(iii)  Very fine wool is received from Merino sheep.

(iv)  Floor of ideal poultry house should exceed 60cm from ground level.
(

v)  There is no wool on the belly of Jalauni sheep.
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U4 I8l Sfedl g1 forfRgu —

‘ar g
(a) o™i (iy ATHIMT YIRA
() g b (i) fawTo A
(c) &I AT (i) 2% THI
(d) YA (iv) TSR Sl
(e) WIS Ui (v) OIYwE A
Match and rewrite the columns :-
‘A! ‘B1
(@) Haemorrhagic septicaemia (i)  Salmonella pullorum
(b)  Milk Powder (i)  Viral
(c) Rickets (iii) 2% moisture
(d)  Pullorum (iv) Pasteurella boviseptica
(e) Fowl Pox (v)  Nutritional deficiency
grs — ¢
SECTION - ‘B’

U5 HA T8l Bl By T U IRy faRkay |
Write down any two important characteristics of Catla fish.
3141/ OR
DIg 2 <N ABferdl &I Yol & M ey |
Write any 2 indigenous breeds of fish.
U6 GIR Ul & &I oI TRy |
Write two advantages of Piggery.
3141/ OR
GoRi B THDM AR arell &1 fhed & AW forfey |
Write down any two bacon type breeds of Pigs.

U7 e g6 @I gl fagmand forfau |

Write any two characteristics of city goat.
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9.8

9.9

9.10

g1

12

[430]

Ydar/OR
BRI B D T fagraad forfey |
Write any two qualities of Kashmiri Goat.
B B IR TR ey |
Write any four types of Cream.

312041/ OR
B YR FE B BIE 4 9T D T fARag |
Write name of any 4 parts of Cream Separator Machine.

M e B gRaTeT foTRau |

Define ideal ration.

91/ OR
Aferd mER @1 v forfay |
Define balanced diet.
sl @ dF o forRag |
Write three advantages of silage.
3Iar/ OR

ST U P AMER o7 B a4 gia faRag |

Write down three principles of giving the ration to the dairy cattle.

ITH T B Pig I Aeqo forfay |
Write any three attributes of a good cow.
3141/ OR

Tegal @ S R A A R @ A R |
Write down the name of three judging methods of Cattles.
Ug] BT il B AHI Sl H awId $lg 3 fayarg forfey |
Write any 3 qualities of a judge while judging animal.
312041/ OR
M T & BIg 3 AT TRy |

Write any 3 characteristics of a pregnant cow.
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ON ON

913 g | &M M drel 1 IS0 &1 ITANT foffay | (4)

() e (i) ST ATEHA
(i) CTPR TAT Dl (iv) AR

Write the uses of following veternity equipments:-

(i) Probe (i)  Teat syphon

(i)  Trocer and canula (iv) Catheter
3Aq1 /OR

frfaRaa siivfeal & Suanr fofeay |

(i) FTAH iy dR® TS

(iii) =TT eI (iv) oo

Write the uses of following medicines:-

(i)  Megsulph (i)  Boric acid

(iii)  Copper sulphate (iv)  Alum

U014 TR & MR B9 & IR HRYT foIlay | (4)

Write any four causes for sickness of animals.

31e0dr/ OR

R Y B PIg AR FA&T07 fafay |
Write any 4 characteristics of a healthy animal.
U.15 <8 Bl BIg 4 SYARA Ry | (4)
Write any four utilities of curd.
31dr/OR
IGE BT AT HTe foIRag |
Write average composition of “Rabari”.
916 JATSHDIH D ON DI YATIT B dlel IR HReb foIfay | (4)
Write any four factors affecting the qualities of Ice-Cream.
31dr/OR
AMgAHH A0 & AR & BIg IR S5y Ry |

Write any four objectives of Ice-Cream mixture homogenization.

[430] Page 7 of 8 (350)



17

.18

.19

.20

[430]

T ol BT Fd FITe ol |
Write the average composition of milk powder.
312041/ OR
AT Y @ Big 4 STIRT faalay |
Write any 4 uses of condensed milk.
TR R & S WY B ui e ferRay |
Write five advantages of natural method of incubation of eggs.
3Iar/ OR
it aTer @ dfer dfe Aeen |ernsii & A ey |
Write the name of any five co-operative societies of poultry farming.
Rl @1 smER M¥ed &= & ®Is urd mERYd gia oy |
Write any five basic principles of deciding poultry feed.
312041/ OR
T omER # fr=falRaa faer™ =1 &1 ta—1a o foaRay |
fdei®=a A, B,D,E, K

Write any one function of each of the following vitamins in poultry feed:-

Vitamins:- A, B, D, E, K
qifal & S B Awu & Iurg faRag | (@13 df)

Write the preventive measures of poultry disease.(any five)

3qdr/OR

@

()

(5)

(5)

qifa & Srpraxr o1 A 3 famgeit # forlRaw | =it 1 2 SEiRat & T e

ST SIhThpNoT W g97d 2rdaT & |

Write importance of vaccination in poultry birds on any 3 points. Write name of any 2

diseases which can be checked by vaccination
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BRR Ahvsy R, feawR — 2017
610
a9y : 8y, 9V U9 o o=

Subject: HOME MANAGEMENT, NUTRITION & TEXTILE
(Hindi & English Version)

|HY : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
e -

() G geT dfFart &/

(i) T HHEH 1 & 4 TF JEGIT0 Jo7 & FAF J97 ¥ 5 3P [FERT &/

(i) FIT HHHE 5 20 dF TH g F raes RAeey 7 717 &/

(iv) Fo7 4% 5 @ 8 T FAF 97 & ford 2 3% 3ygicd 8/ go= &7 v
ST 30 FIg) d orw/

(v) T BHIF 9 & 12 dF oAb 97 P ford 3 3 3yaied &1 goH &1 gV
ST 75 FIsqt § forg )

(vi) FIT HHIE 13 & 17 TP FdF J97 & ford 4 3w saiea &/ go=1 &1 v

ST 120 FIs5t § forg/
(vii) FIT HHIE 18 & 20 TF FAF J97 @ ford 5 3w saiea & go=I &1 v

ST 150 FIeqt & forg )

INSTRUCTIONS: -

(i)  All questions are compulsory.

(ii)  Question Nos. 1 to 4 are objective type. Each question has been allotted 5
marks.

(iii)  Internal option are given in each Q. Nos. 5 to 20.

(iv) Q. Nos. 5 to 8 carry 2 marks each. Word limit 30 words.

(v) Q. Nos.9 to 12 carry 3 marks each. Word limit 75 words.

(vi) Q. Nos. 13 to 17 carry 4 marks each. Word limit 120 words.

(vii) Q .Nos. 18 to 20 carry 5 marks each. Word limit 150 words.
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U1

[610]

TS e

Objective Type Questions

el [dhed BT gad ferRa—

)

IRF FollR & SUANT fHar Srar 28—
() 997 g9 H

(i) PUS &9 H

(i) €T ATH BT H

(iv) QT b= H

Sl BUS] W BT AT foreg gIar 87

(i) I
(i) faera=

(iv) U=

TR &Il A & dTell I 5—
() o

(i) <IgPIgS
(iiiy diferam

(

iv) TeTTEnd (crrReH)

Page 2 of 8
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[610]

Choose the correct option:-

(A)

Vacuum cleaner is used for:-
(i)  cleaning of utensils

(i)  Washing of clothes

(iii)  removal of dust

(iv) cooking of food

Which sign is marked on Woollen garments?

(i) LS.
(i) Wool mark
(i) F.P.O

(iv) Eco mark

The disease caused be deficiency of vitamin ‘A’:-
(i)  Scurvy

(i)  Anemia

(iii)  Night blindness

(iv) Rickets

Pulses are the major sources of:-

(i)  Carbohydrates

(i) Fat
(iii)  Vitamin
(iv) Protein

Diseased caused by Khesari dal is:-
(i)  Cholera

(i)  Typhoid

(iii)  Jaundice

(iv) Paralysis

Page 3 of 8
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U3

[610]

Raa Al @ gl HIfoRi— (5)

(@) TS ATCT BT T oot seess et ess e sees s CRCDIBNIGIES

GO LRz £ e BT A% AT ST & |

() USITE BT TRIG TBIReoeeseeeeeeeeeesseceesessceeessseeessseeeessseeees s sseee st eeees st eeee s =

RS IR KB ) A faftrr = |

3) o ¥ 9 B fod gAR Ufed @& 9o Hoo gerf @1 BT
3TIID ¢ |

Fill in the blanks:-

(i)  Safety valve is USed iN.........couiiiiiiiii e

) is used for stiffening the silk.
(1) e is the famous embroidery of Punjab.
(1) e is the method of Nutrition education.

(v)  Forthe prevention of constipation....................c.oeeeie. is essential in our daily diet.
T g H IR SIfTg— (5)
@) we™ M @ ford HaraH YA $IF A 87

@) Hgfera oMER fHd Fed 57

@) fstelidRor @ 87

@) o= uRdsor fod wed 87

(3) T &1 YANT AT fHar ST 8?

Give the answer in one sentence:-

(1) Which is the best soil for the construction of a house?
(2) What is balance diet?

(3) What is dehydration?

(4) What is finishing of clothes?

(5)  Why is blue used?
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9.5

.6

[610]

SEESISECEIFUES ()
(30) @)

() 1 9T (i <
(i) gxadr fafy (i) Seol, T
) RIEARE ST (i) 4 DARI
(v) & (v)
(v) fawera fafer (v) 9 AR

(vi) SATIAA

(vii) AeHr™ ufdreror
Match the columns:-

(A) (B)

(i) 1gm.Fat (i)  Sun
(i)  Distant method (i)  vomiting and diarrhoea
(iii)  Natural preserver (iii) 4 Calories
(iv) Cholera (iv) Rayon
(v)  Viscose method (v) 9 calories

(vi)  Nylon

(vii) Setcom training
fagmoe & Ieea forfed | 2)
Write the aims of Advertisement.

3Idr/ OR
SUATTT RIeTT | SMUBT I AT 872
What do you mean by Consumer Education?
RN BT GIvoT R FH EaIHar w®i 50 2)
Why does a house wife require nutrition education?
3Idr/OR

qryor e @) aRyreT forRax? qrvor fRreror &) due fafy o ger &1 gt 872

Write the definition of Nutrition education? How many types of contact methods of Nutrition
education are there.
Page 5 of 8 (100)



U7 W GREV Y ded 87 B GRe & el T At &

9 fRed | (2)
What is Food preservation? Write any two names of the temporary preservation method.
31dr/OR
GHR RIT 57
What is yeast?
U8 §{HH dqg fha UBR & B 87 TS | @)

Explain how many types of Artificial fibre are there?

91/ OR
e T 2?
What is Bandani? (Tie and dye)
U9 FHUANU & Py A Ao FH=IT HRUT TS | (3)
Explain any three food related causes of malnutrition.
3Iar/ OR

3R U4 WARIRSG %14 FfoId AER B [hd YHR YATId B 57

How do the age and physical work affect the Balance diet?

.10 T 3R Irqafa Hiod fhd ded 87 (3)
What is sufficient and insufficient diet?
AU /OR

37T UIYYT T INR TR T Y9TT gl &7

What are the effects of deficient diet on body?

U411 SIATOel & WHHU & fhal A degdl Bl Aqesy | (3)
Explain any three mediums of spread of bacterial Infection.
41/ OR
Qe [T & R HRT 52
What are the causes of Jaundice?
Y12 Bl I & AeToT forlRey | (3)

Write the symptoms of Cholera.
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U.14

U.15

.16

17

[610]

3141/ OR
TBIgS T W 99 & U faalRay |
Write the preventive measures of Typhoid.
AT U4 $F 99d SUAR 35 DI |9 87 fhgl &1 B Ay |
What are the time and labour saving devices? Explain any two.
3Idq1/OR
RfBSINEY BT SYANT B T T A @] AT |
What precautions should be taken while using Refrigerator?
SAIFIT & T ITEABR &7
What are the rights of Consumer?
31dr/OR
SYATEIRT B WNIGR! B G fhd 91l &7 &9 @1 aTfed?
What things should be kept in mind by the consumer while purchasing?
Qe TRV B BIg IR e A |

Explain any four Aims of food preservation?

AU /OR
U~ITSH T 9ISg TSIt IR T J9Td Jsdl 27

What is the effect of Enzyme on food?

o & Wegal & ford fd sl &1 urers &= anfed?

What rules should be followed to keep the food hygienic.
3141/ OR

Uferer T & BRI g g9 © SUN folRad |

Write the causes and prevention measures of Dysentery.
HA® b HEd 82 HaAh B o foIRay |

What is Starch? Write the advantages of Starch.
3Aq1 /OR
I & IHR FHEsY |

Explain the types of Blue.
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.19

.20

[610]

IRaR & BIS Ui I FHMSY | (5)

Explain any five functions of Family.

3d1/ OR

WY B gfte ¥ 3G FBH Bl GA1d B GHI fbed a1l BT &I AT A1fey fbel

5 91dl DT JHSIY |

Explain any five things that should be kept in mind while selecting an ideal house

according to health.

JMER AT BRI A {1 91a1 BT a9 QAT aA1fR? (5)

What things should be kept in mind while planning about Diet?

312041/ OR
THIH S & MER # B dives acal @ ffrwar B9 ARy iR aa? T HIRY |
Which nutrients should be in excess in diet of a Pregnant Woman and Why? Explain it.
W @ AR fRvan awengd | ()
Explain the physical characteristic of Rayon.

312041/ OR
BIAT BT Hgls (A U BT 82 FABI qU DHITIY |

To which province does the Kantha belong? Describe it.
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620
a9y : IRR == fhar — fag™= w9 w@rey

Subject: ANATOMY PHYSIOLOGY AND HEALTH
(Hindi & English Version)

|HY : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
fader —

() & geT sfard &/

(i) T¥T HHI® 1 & 4 TF JeGI70 F97 8/ FAF & [0 5 3% [FEied &/

(iii) Fo7 HHE 5 G 20 & TH gF 7 aRkE Rbey &7 17 &/

(iv) 597 HHE 5 & 8 aF JAF J97 & [ord 2 3% raica & 7ol & v
TTHT 30 T F Aforv/

(v) Ho7 PHIF 9 G 12 TF FAF F97 & [oid 3 3@ Jraiea &/ g & sav
TTHT 75 %) & hforv )

(vi) F¥F FHHF 13 @ 17 TF JAF 97 & [oid 4 3F raica &/ 7o & Gav
TTHT 120 I3 & Hforg/

(vii) FF7 FHHF 18 & 20 TF AP F97 & ford 5 & Jr@icd &/ ge & GV
TTHT 150 FI5T F forg/

INSTRUCTIONS: -

(i)  All questions are compulsory.

(i) Q. no. 1 to 4 are objective type questions. Each question carries 5 marks.

(iiij)  Internal options are given in Q. Nos. 5 to 20.

(iv) Q. Nos. 5 to 8 carries 2 marks each. Give the answer in approx 30 words each.

(v) Q. Nos. 9 to 12 carries 3 marks each. Give the answer in approx 75 words each.

(vi) Q. Nos. 13 to 17 carries 4 marks each. Give the answer in approx 120 words
each.

(vii) Q. Nos. 18 to 20 carries 5 marks each. Give the answer in approx e 150 words
each.
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[620]

IS I3

Objective Type Questions

X

SEl
(37)

fddheq g foriay —

clTel Yo BOThT BT B & —
() O, B uRas
(i)  TTTOLRT | R
(i) YT DT STH]
(

iv) CO, &1 URdgd

(iv) ol o
TRl Hhe & PRI & —

) Fedl §S ST

i) SR

iy TTgyoT

v) Suga @l

DN AHR & JFIRAT HEART & —
(i) e

(i) TR
(

(

(
(
(
(

iy PIHA
iv) arsfaar
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[620]

Choose the correct option:—

(a)

Function of Red Blood Corpuscles is —
(i)  Transportation of O,

(i)  Protection from germs

(i)  Blood Clotting

(iv)  Transportation of CO,

Formation of Ovum takes place in —

(i)  Oviduct

(i)  Ovary

(iii)  Vas deferens

(iv) Testis

Thyroid gland in the body is found in —

(i) Head

(i)  Chest

(i)  Abdomen
(iv)  Throat

The problem of environment is caused by —
(i)  Increasing population

(i)  Industrialization

(iii)  Pollution

(iv)  All of the above

Comma Shaped bacteria are called —

(i)  Bacillus

(i) Spirillum
(i)  Coccus
(iv)  Vibrio

Page 3 of 8
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93

[620]

(& I IR e Ao B K AP T |
(@) TATT FATTDT BT TS oo seeessesessess s sees s AW Bl B
@) foe S QT H o P TRI W @ T8 Tl B
(@) TATDHT BT TN oo I H fhar ST 2 |
SRR G I L r= ) B = Iy 2 |
Fill in the blanks:-

(@) Bloodistype Of fluid ... tissue.
(b)  Length of TraCh@a i .....vuvnieiiie i c. m.
(€) ODbJects Of ...ovieiiieii are not clearly visible in the myopia.
(d) Splintare USed iNThe ..o e .
(e) The age of marriage of @ QirliS ......ouiuiiiiiii .
T qre H IR SINAY — (1x5=5)

Answer in one word:—

(37) wicelcd & T R FT 27
What is the main function of Platelets?
@) vfaadl fhar fe @ea 87
What is Reflex action?
(¥) sl 9 Ped 87
What are sense organs?
(@) HeprHD T DI gRATT AR |
Write the definition of Infectious diseases.

(3) fHYRTGRRAT BT HHHT P 3ra=eq e garm 87

Name of Person who has told adolescence is the age of infection.
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U4 el SNSAT IAST— (1X5=5)
ar g
(a) T ST (i) 15 ST
(b) FER (i) 5 S
(c) UufaRvT feas (i) <SS AP
(d) g fHeR (v) 9 dPb
(e) ST dIoITY (v) ST pIf2rep
(vi) TP Ha®
(vii) glaa SEEZ
Match the columns :-
‘A’ iB!
(a) Axon brush (i) 15June
(b) Fever (i)  5dune
(c) Environment day (iii)  Cold fomentation
(d)  Young adolescence (iv) Hot fomentation
(e) Endosopore (v) Bacteria cell
(vi)  Nervous Tissue
(vii)  Ambiguous
g5 e 9F fHd $ed 87 R & UbR eIl | 2)
What is Nervous system? Write the types of Neurons.
3AYqT /OR
IrgARTs & Hrd fafad |
Write the functions of cerebellum.
U6 gfg MM & B T ARHAT F DI A I & O &7 2)

Which diseases are caused due to lack and excess secretion of growth hormones?

31eraT / OR

IR T I IF I 8 Hbad 27 99 ard fIlkay |

Which hormones are secreted by the Islets of Langerhans. Write their functions.

[620]

Page 5 of 8

(110)



U7 UIaRY {6 dEd 2° qAieRl UguUl & DIy IR UHR daigd?
What is Environment? Write any four types of Pollution.
3I4qr/ OR
diferar T B PIg <1 BRT fARgD?

Write any two Causes of Jaundice?

U8 et IURTY & Pig &I UIRATRS HROT foriRed |
Write any two Family causes of Juvenile delinquency?
31741/ OR
Il GEIR T[T BT T BRI 77

What is the functions of Child Welfare Centres?

U9 II99 dI IRYNT U4 Hgcd IS |

Explain the definition and Importance of Respiration.

3Idr/OR

Bhs BT oAl fTRIY |

Write the Structure of Lungs.

.10 S 94 T b bl 9 3T BT FHsISY |

Explain any three organs of Female reproductive organs.

341/ OR
TR 94 3 B fbeal 9 S &1 FHs=Y |

Explain any three organs of Male reproductive organs.

A1 HGHAT S TR 3MY T URIHeG TR d¥ifl?
What is a primary treatment of Shock?
31741/ OR
aiRer T & weqor forfRed |

Write the symptoms of Fracture.
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U.15
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[620]

T @ e IR SUAR forlkeay |
Write the symptoms and treatment of Heat Stroke.

31271 / OR

e fafecas & ddd IHsm=Yd | (P1S ©)

Explain the duties of First aid helper. (any six)

YRS & BT BT duiF BIfoTY |

Describe the functions of cerebrum?

31qdr/OR

YT TS B1 AT TS |

Explain the structure of Spinal Cord.

TS T {5 fIT0] gIRT Herdl 2?2 9 T & AeTor fofed |

Which bacteria is responsible for the spread of ‘AIDS’? Write the symptoms of ‘AIDS’.

3Idr/OR

TISHISS YT fhdd YbR &1 BT & | AT hold & BRI oIy |

Write the types and causes of spreading of Typhoid.
IR YEUT Bl A & U foIRed |

Write the preventive measures for Air pollution.

341/ OR
O I A 9949 B ST oIy |

Write the prevention of Cholera.
foreTRTgee # 8 arel fh=gl IR uRadAl & FqHsSY |
Explain any four changes of adolescence.

341/ OR
fopeTRTaweT &1 fh=dl TR AHRIR B THSS |

Explain any four problems of Adolescence?

(3)

@

(4)

(4)
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GIY0T & SR YR SHATIRI BT aHTHRoT BT |

On the basis of Nutrition classify the bacteria.
3I4qr/ OR

SIEINSICIRCIREIRECRIEeDE

Write the Economic Importance of Bacteria.

I BT AFRT ST BT o e AT |
Explain the process for Clotting of blood.

341/ OR
AT T 87 YHAT BT IMARD AT FHSSY |

What are Arteries? Explain the Internal structure of Arteries.

BT BT ATHIfbd I TTHY d1&T BYT bl YT AHSTSY |

Draw a labelled diagram of Ear and Explain the External structure of ear.

3Idr/OR

JMRG w1 ATHIGA T I9THR RGBT I181 TRAAT AT |

Draw a labelled diagram of Eye; Explain the External structure of eye.

qifetdT & Ufd AT & BRI THSY |

Explain the Causes of discrimination of girls.

312041/ OR
el JIRT b ¥ e &) YAeT awesy |

Explain the role of school to prevent Juvenile delinquency.
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Hl Tl DI H=AT : 20 HA TSI B =T : 08
Total No. of Questions: 20 Total No. of Pages: 08

BRR Ahvsy R, feawR — 2017
631
fovg : fog9 @ aw@

Subject: ELEMENTS OF SCIENCE
(Hindi & English Version)

|HY : 03 TS quifes : 075
Time : 03 Hours Maximum Marks : 075
fader —

(i) T o7 ST &

(i) T HHIE 1 & 4 T TGO F97 &/ 4T F37 G 5 3% [T &/

(i) F¥T FHHEH 5 G 20 TF FAF 7 e QHeq v 77 &/

(iv) ¥%7 HHIH &5 & 8 GF JAF g 2 3F [T &/ 17 T 30 FIs7 syaera
g/

(v) F¥T FHHIE 9 F 12 JAE Y7 3 3iF Jraicd &/ I WA 75 T 9T &/

(vi) F¥F FHIE 13 G 17 FAF GV 4 3F I4IcT 8/ I HAT 120 T 9T
g/

(vii) F¥T HHIE 18 H 20 F&AF UV 5 IF J@ICT &/ T AT 150 TT 9T
g/

INSTRUCTIONS: -
(i)  All questions are compulsory.

(ii)  Question Nos. 1 to 4 are objective type questions. Each question carries 5
marks.

(iii) Internal options are given in each question Nos. 5 to 20

(iv) Q. Nos. 5 to 8 carry 2 marks each and answer is expected in about 30 words.

(v) Q. Nos. 9to 12 carry 3 marks each and answer is expected in about 75 words.

(vi) Q. Nos. 13 to 17 carry 4 marks each and answer is expected in about 120 words.

(vii) Q. Nos. 18 to 20 carry 5 marks each and answer is expected in about 150 words.
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TS T¥

Objective Type Questions

g1 Raad = & gfd Ry — (1X5=5)
O R GBS E L L L 2 1 R BT 2 |
(i) A MRS BT SUANT SFTATT THH H oo P aRg fhar SIrar 2
(i) gEfd 7T A T H SARE B TRE STANT fhar ST 2 |
O IR ARG A IR 21 ol i =
(V) BTETSS FTBTT BHIM.ooooeeeeeeeeeeeeeee e BIAT B |

Fill in the blanks —

() Unit of pole SIrEeNGtN IS ... ..o
(i)  Methyl orange is used in the process of titration as an ...........ccccoeccveeiriiieciciieee e,
(1) e is used as a catalyst in the preparation of ghee from

vegetable oil.
(iv)  Chemical formula of @alCONOI IS ......ciiueeiiiiiiie e

(V) Colloid SYStEM IS AIWAYS ...ceeiiuiiiiie ettt enee e

92 ¥el fdeeu giw — (1X5=5)

[631]

(i) Bfvrer Rieaia gfaurfed fear—
(@) Hade

Page 2 of 8 (160)



[631]

(i)

(iv)

(ii)

(i)

fIe[d WIS 91 BT 2—

(@1 @re @

(@ dfg @1

(@) fe wd 9 &1 s a1g &1
(&) e @1
IS e a8 &

(1) g |resdr sa @

@) fSa®r arsar ST &
&) foF®r 9R Sa 8

(&) frI®T A A &

Hed AT B

(o) =™

(@ Rrfem

(@) feFer

(@) -

Choose the right option :—
Corpuscular theory is given by

(a) Maxwell
(b) Darwin

(c) Newton
(d) Morgon

Electric magnet is used in:-
(a) Electric bell

(b)  Electric bulb

(c) Train

(d)  Electric press
Electric Fuse is made up of

(@) Iron

(b) Copper

(c) Alloy of stannous and lead
(d) Glass

Page 3 of 8
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[631]

(iv) Standard solution is that

(@) Whose concentration is known

(b)  Whose concentration is unknown

(c) Whose mass is known
(d)  Whose volume is known
(v)  Which one is pruning Implement
(a) Pipe
(b) Secateur
(
(

c) Dibbler
d) Khurpi
REISISIIERIENGS
(A)
(i) SIRG fay
(i)  oifaar

(i) ATSCIRIfSAT
(iv) SRS DI HArRNAdT BH BT
(v) DI HIANOT
Match the following :—
(A)
(i)  Catalytic poison
(i)  Amla
(iii)  Mitochondria
(iv) Decrease in activeness of catalyst

(v)  Photosynthesis

Page 4 of 8

(B)
faer® = ¢

THoTTER

HUMHD SN
C02+H20

IMI®H (As)

(B)

Vitamin C

Power house
Negative catalysis
Coo+H0O

Arsenic (As)

(1X5=5)

(160)



U4 TP IR/ H FR QY — (1X5=5)
(i) arIITod B fohar @ R HR arell BIRHRN &1 9 forRkau |
(i) ¥aaq @ UpR IRy |
(i) SfraTo] fasm= &1 fUar e 8?

(iv) TSI AT 5 SEm] | therdm 27?

(v) T~ITSH SR R 87

Answer in one sentence/word —

i)  Write name of cells which controls the process of transpiration.
i)  Write types of respiration.

(
(
(i)  Who is the “Father of Bacteriology”?
(

iv) Cholera disease is transmitted by which bacteria?
(v)  Whatis “Enzyme Catalysis™?

g5 fagrd wifda fy wed 2?2 a3 oy | (2)

What is called electric power? Write its unit.

3141/ OR
e arT &1 S g9 & dEd 2°

What is called heating effect of electric current?

U6 IMIAATHS ATy & Iy 1 IYART foafRay | 2)
Write any two uses of volumetric analysis.

a1/ OR

gAY e wEd 87

What is called Titration?
7 9N Ao & BIs < A forlay | @)

Write any two importance of Buffer Solution.

31211/ OR
AIISTH BIEFE ST AR AF TG RIS g3 oy |

Write the chemical formula and common name of sodium carbonate.
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TR Ta BT IR BRY | ()
Define aerobic respiration.

312041 / OR
AT T Bl GRSt foTRau |

Write down the definition of anaerobic respiration.
il T re R Arel @ giferer o Har? forlRay | (3)
Write how silver polish is done on a spoon?

312741/ OR
faera smam @@ 2? oy |

What is electric current? Write.

Ifd 60 d1C &1 U ded 10 ©UC Ufdfes Sieran 2, df 30 fa= & @8 fobaw faga

ol T HYT? (3)

If a bulb of 60 watt glows 10 hours per day then how much unit of electricity would be

spend in 30 days.

3141/ OR
RI ¥ fIgd 9cd AARR P H Y G 8, SO0 A A T8 | 9 l?
In houses electric bulbs are connected in parallel series, not in continuous series. Why?
QAT Bl BT e Aga falag | (@15 0) (3)
Write economic important of ‘Solonaceae’ family. (any 3)

3Ud1/OR

BN B BT I A 9 I fory Fev |

Draw a Floral Diagram of family cruciferae and write floral formula of family cruciferae.
uiel & oIy mavgsd dIg 09 <" UiNe dw@l & B foRay | (3)
Write work of any three macronutrients essential for plants.

391/ OR

HESIEIRESRCRIRT

What is Hydroponics?
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U.16
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IRATST fARIY — Iehel B, J&I 36T, gd g dashal 3T | 4)
Write definitions — center of curvature, principle axis, pole and radius of curvature.

391/ OR

Y€ Ud 3gE WagH @ 2?7 forlked |

What are pure and impure spectrum? Write it.

fea g T 57 ¥ fhad UeR & B 87 (4)
What are electromagnets? They are of how many types?

312741/ OR
fagge el 1 it o g | @

Draw a labelled diagram of electric bell.

TE e T & e fafay | (@1 9R) @)

Write any four objectives of Kitchen Garden. (any 4)

312rar / OR
Bex—Ugld w7 57 oy ¥ TSy |

What is ‘Contour System’? Explain it with diagrm.

FARIBT b Pl IR B IR | (4)

Write any four functions of Chlorophyll.

a1/ OR

qrTTSiT Bl TRYTYT Td bR fIfRay |

Write types and definition of transpiration,

SaTo] IRt BT AHifdhd e a8y | (4)

Draw a labelled diagram of bacteria cell.
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3AUd1 /OR
(i) T
(i) TuUle®H
(i) <IgWhIgs
(iv) feeT
Write names of disease causing bacteria of following disease-
(i)  Pneumonia
(i)  Tuberculosis (TB)
(i)  Typhoid
(iv) Tetanus
YT BT YOI SMIRE URIEc FIT 87 ! &l aeId T [oTRkdy | (5)

What is total internal reflection of light? Write its two essential conditions.
3edr / OR

SAoH Waed T 87 J fhad UeR @ 8Id &7 foRay |
What is emission spectrum? They are of how many types? Write it.
%9 el 9 59 foRE drargs #§ @3 ulg efa fafay | (5)

Write any five difference between Lycophilic and Lycophobic colloids.

3141/ OR
TR § Drarge’ B Fa1 e 27 fafag |

c

What is the role of ‘Colloid in nature’? Write it.
TehIgd &1 NG 7, IS g3 Ud 9 ST forlay | (5)
Write any three uses, chemical formula and chemical name of alcohol.

31e0dr/ OR

THR faead w1 87 I fhdw UepR & B8ld 8¢ foIfay |

What is buffer solution? They are of how many types of it? Write.
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